Minimisation of Energy Costs Considering Electric Vehicle for a Smart Home System



Yanyi Sun

Department of Electronic and Electrical Engineering

University of Strathclyde

This dissertation is submitted for the degree of

Doctor of Philosophy

2019

Declaration

I hereby declare that this thesis is the results of the author's original research which is composed by the author himself. It has not been previously submitted for any examination led to the award of a degree.

The copyright of this thesis belongs to the author under the terms of the United Kingdom Copyright Acts as qualified by University of Strathclyde Regulation 3.50.

Yanyi Sun

2019

Abstract

Smart residential home systems have good potential for more efficient use of energy, reduced cost and less effects to environment. In order to adapt to new technologies such as electric vehicles (EVs), photovoltaic (PV) system, photovoltaic-thermal (PV-T) system, and solar water heater (SWH) system, novel demand side management (DSM) methods are required to effectively control EV and renewable technologies for residential energy systems. More importantly, customers play a key role in DSM as they have the energy usage choices according to their preferences. To understand the benefits for residential EV end users, their usage behaviours, such as driving behaviour, charging and discharging periods, willingness to participate to vehicle to grid (V2G), need to be considered in the DSM.

In this thesis work, a novel DSM model framework is developed for a residential home system, considering EV, energy storage system (ESS), renewable technologies, and human behaviours. Survey data are collected and analysed to support the model development. Based on model, minimisation of the energy costs of residential home systems is explored by controlling the charging/discharging status of EV and a separate ESS under practical constraints. Key factors such as the degradation cost of EV and ESS batteries, user's driving behaviour, and different types of electricity tariffs are included in the optimisation. Extensive case studies have been undertaken to investigate the operation strategies under various scenarios. The options and potential benefits of V2G are discussed.

To further investigate the DSM for residential homes with the use of renewable energy, two solar water heating systems, the hybrid PV-T and the PV-SWH, are considered into the energy cost evaluation. Models for both PV-T and PV-SWH are formulated and added into the modelling framework for residential home systems. Built on the work of optimal charging/discharging of EV and ESS, the optimal switch operations of the PV-SWH system have been calculated, through which further cost reduction can be achieved. For the option of PV-SWH with limited solar panel space, the split of areas between PV and SWH is determined through a pseudo-optimisation route. Numerical studies have been conducted to examine the economic benefits of solar thermal collectors, the comparisons between PV-T and PV-SWH, and the effective use of the limited solar panel area for PV-SWH.

Finally, different appraisal methods are applied to analyse the investment worth of the residential energy household systems with optimal DSM. The most beneficial investment solutions are obtained from the relevant case studies.

Through the above systematic investigation of DSM for smart home energy systems, improved understanding on how to reduce energy cost for end users are obtained, including new insights on the benefits and conditions of V2G for EV users. The established modelling framework can easily include sub energy systems, e.g. EV, ESS, and renewable energy systems. Complex variation factors such as EV driving behaviour, external environment temperature, solar radiation, electricity tariffs are considered to achieve optimal operation strategies to reduce energy cost at residential home level. Financial analysis is applied to analyse the investment worth of these residential energy household systems. The optimal system choices for the end user are discussed through case studies.

Acknowledgement

In the process of my efforts to pursue the doctoral degree and of completing this thesis, I sincerely thank the following people for their great help.

First of all, I would like to express my sincere gratitude and respect to my first supervisor, Dr Hong Yue, who gives me a lot of useful suggestions for my academic research. She is a kind, professional, patient, and helpful person, and always encourages me when I meet difficulties during the last few years. Her cautious attitude towards the academic research not only improve my research abilities, but also improve my abilities when I solve other problems.

Then, I would like to thank my second supervisor, Prof Campbell Booth, who also gives me many useful guidance for my PhD. His enthusiasm encourages and motivates me a lot when I feel depression on my research.

In addition, I would like to express my sincere gratitude and respect to my external supervisor, Dr Jiangfeng Zhang, who initiates me into the academic research. He helps me solving many technical problems, such as mathematical modelling, main direction of the research, program coding and so on. Even when he moved from our university to another university in Australia, he still contacts me often through emails and cares about my research process. His support is highly appreciated.

Also, I would like to thank my families, my father Hao Sun, my mother Haiyan Li, and my wife Qinran Qian. Without my families' supports, loves, and encouragements, I will not be able to successfully complete my doctoral studies. Finally, I want to say to my wife, Qinran Qian, "I am the luckiest man in the world to meet you and marry you during my doctoral study."

Contents

Decl	aration		2
Abst	ract		3
Ackr	nowledger	ment	5
Cont	ents		6
Figu	res		10
Table	es		12
Acro	nyms		14
Nom	nenclature	2	15
Chap	oter 1	Introduction	20
1.1		Motivation and scope	. 20
1.2		Contribution of this research	. 23
1.3		Roadmap through this dissertation	. 24
1.4		Publications	. 25
Chap	oter 2	Introduction to Demand Side Management (DSM) and Optimisation Basics	26
2.1		Traditional power grids	. 26
2.2		Smart grids	. 27
2.3		Fundamentals of demand side management	. 29
	2.3.1	Architecture and components of DSM frameworks	. 29
	2.3.2	Types of demand side management activities	. 30
2.4		Classification of DSM methods	. 35
	2.4.1	Classification by planning horizon and impact	. 35
	2.4.2	Classification by optimisation models	. 37
2.5		Demand side management challenges	. 38
2.6		Introduction of optimisation	. 40
	2.6.1	Optimisation classifications and a general procedure	. 40
	2.6.2	Formulation of optimisation problem	. 41
2.7		Optimisation methods	. 43
	2.7.1	Integer programming	. 43

	2.7.2	Genetic algorithm	45
2.8		Summary	47
Cha	pter 3	Smart Home Energy System with EV and Solar Water Heater: a Review	48
3.1		Introduction of EV and V2G	48
	3.1.1	Fundamentals of electric vehicle	48
	3.1.2	Briefs of vehicle to grid technology	50
3.2		Optimal charging management of EV	51
3.3		Optimal charging of EV involving V2G technology	53
3.4		Solar water heater (SWH) technology and applications	55
	3.4.1	Solar energy	55
	3.4.2	Solar water heater basics	56
	3.4.3	Benefits, drawbacks and effects on use of SWH	58
3.5		Load management for domestic water heating	60
3.6		Summary	62
Cha	pter 4	Minimisation of Household Energy Cost Considering ESS and EV with Dri Behaviour	ving 63
4.1		Residential home energy system	63
4.2		Residential home system power model	65
	4.2.1	Power for PV, ESS and EV with V2G	65
	4.2.2	Power model for EV considering driving behaviour	66
4.3		Calculations of vehicle driving/parking probabilities	67
4.4		Residential home cost model	69
	4.4.1	EV and ESS battery degradation cost model	69
	4.4.2	EV cost due to driving	73
	4.4.3	Purchasing costs and selling incomes from/to grid	73
	4.4.4	Overall cost function and the optimisation problem	74
4.5		Case studies: implementation, results and discussions	76
	4.5.1	System specifications	76
	4.5.2	Numerical studies under different terminal SOC constraints and initial SOC EV	of 78
	4.5.3	Impacts of different EV models	81
	4.5.4	Impacts of different $arnothing_{ ext{export}}(i)$ of FITs	83

	4.5.5	Impacts of different probabilities of EV plugging in at home	86
	4.5.6	Battery degradation cost distribution due to active V2G	87
	4.5.7	Comparison between the cases with and without considering battery degradate cost	ion 88
	4.5.8	Comparison of optimised strategy with baseline solutions	89
4.6		Summary	92
Cha	pter 5	Household Energy Cost Optimisation with Renewable Technologies: Solar Thermal and Photovoltaic Systems	94
5.1		Introduction to PV-SWH and PV-T systems	94
	5.1.1	PV-SWH system	94
	5.1.2	PV-T system	95
5.2		Solar thermal model for water heating	95
5.3		Household energy system model involving SWH	97
5.4		Case studies: implementation, results and discussion	101
	5.4.1	System specifications	. 101
	5.4.2	Analysis of factors that directly influence the hot water temperature	. 104
	5.4.3	Comparison for different areas of SWH and PV	. 106
	5.4.4	Analysis of tank volume, seasonal impacts to SWH area	109
	5.4.5	Switch on-off of SWH	. 112
	5.4.6	Comparison with PV-T hybrid system	. 113
	5.4.7	Comparing with non-optimised solution	. 114
5.5		Summary	. 115
Cha	pter 6	Financial Analysis of the Household Energy System	116
6.1		Fundamentals of appraisal method	. 116
	6.1.1	Payback period (PB) and discounted payback period (DPB)	. 116
	6.1.2	Net present value	120
6.2		Financial model of the household energy system	. 122
6.3		Financial analysis of the residential home energy system	. 123
	6.3.1	System specifications	123
	6.3.2	Energy cost of traditional household system	. 124
	6.3.3	Energy cost of smart home without/with optimisation control	125
	6.3.4	Financial analysis of the smart home system without/with optimised control.	130
	6.3.5	Financial analysis of the residential home system including SWH	. 134
6.4		Summary	139

Chapter 7	Conclusions	141
7.1	Conclusions	141
7.2	Future perspectives	144
Appendix		.146
References		160

Figures

Fig. 2 - 1 An illustration of average hourly load variation during a day [33]	
Fig. 2 - 2 DSM framework for residential home systems [36]	30
Fig. 2 - 3 Peak clipping [37]	
Fig. 2 - 4 Valley filling [37]	
Fig. 2 - 5 Load shifting [37]	33
Fig. 2 - 6 Strategic conservation [37]	
Fig. 2 - 7 Strategic load growth [37]	
Fig. 2 - 8 Flexible load shape [37]	35
Fig. 2 - 9 Categories of DSM based on planning horizon [39]	
Fig. 2 - 10 Categories of DSM classified by optimisation model [36]	
Fig. 2 - 11 Challenges of DSM [37]	39
Fig. 2 - 12 Formulation of an optimisation problem [44]	43

Fig. 4 - 1 Infrastructure of the residential home energy system	64
Fig. 4 - 2 Physical topological structure of the entire residential system	64
Fig. 4 - 3 Battery lifecycle number vs. DOD from manufacturer's data [117]	71
Fig. 4 - 4 A flow diagram of the optimisation model	75
Fig. 4 - 5 Comparison of the fixed tariff and the TOU tariff	76
Fig. 4 - 6 Other residential loads during the selected day [33]	77
Fig. 4 - 7 Solar radiation in January [109]	78
Fig. 4 - 8 Impact of different SOC constraints and initial SOC of EV under fixed tariff	79
Fig. 4 - 9 Impact of different SOC constraints and initial SOC of EV under TOU tariff	79
Fig. 4 - 10 Daily operational cost under different battery capacities	83
Fig. 4 - 11 EV charging/discharging profile under TOU tariff	84
Fig. 4 - 12 ESS charging/discharging profile under TOU tariff	85
Fig. 4 - 13 Impact of export tariff to daily minimal operational cost	85
Fig. 4 - 14 EV charging/discharging profile under plugging-in probabilities of survey	86
Fig. 4 - 15 EV charging/discharging profile if plugging-in probabilities is 80%	87
Fig. 4 - 16 EV charging/discharging profile if plugging-in probabilities is 50%	87

Fig. 5 - 1 Smart home energy system involving SWH	98
Fig. 5 - 2 A flow diagram of the optimisation model including SWH	. 101
Fig. 5 - 3 Average hourly load variation during a day [33]	. 102
Fig. 5 - 4 Average hourly solar radiation during a day in January [110]	. 103
Fig. 5 - 5 Average hourly solar radiation during a day in July [110]	. 103
Fig. 5 - 6 Average daily hot water consumption [109]	. 103
Fig. 5 - 7 Hot water temperature for winter season (48hours)	. 104
Fig. 5 - 8 Temperature results with different areas of SWH and PV (winter case)	. 105
Fig. 5 - 9 Temperature results with different areas of SWH and PV (summer case)	. 106
Fig. 5 - 10 Average hourly hot water consumption (L)	. 106
Fig. 5 - 11 Daily cost with different areas of SWH	. 107
Fig. 5 - 12 Daily cost with different areas of PV	. 107
Fig. 5 - 13 Cost comparison of diffrerent SWH's area in winter	. 108
Fig. 5 - 14 Cost comparison of diffrerent SWH's area in summer	. 108
Fig. 5 - 15 Hot Water temperature curve for TOU tariff in winter (different SWH area)	. 109
Fig. 5 - 16 Hot water temperature curve for TOU tariff in summer (different SWH area)	. 109
Fig. 5 - 17 Comparison of different volumes of storage tank	. 110
Fig. 5 - 18 Comparison of daily cost for different storage volume and different SWH area in winter	ւ . 111
Fig. 5 - 19 SWH back-up switch on/off status in July	. 113
Fig. 5 - 20 SWH back-up switch on/off status in January	. 113

Fig. 6 - 1 Decision chart of NPV 121
Fig. 6 - 2 Energy consumption cost for different months under fixed tariff without optimisation 126
Fig. 6 - 3 Annual energy consumption cost under fixed tariff without optimisation 126
Fig. 6 - 4 Energy consumption cost for different months under TOU tariff without optimisation
Fig. 6 - 5 Annual energy consumption cost under TOU tariff without optimisation 127
Fig. 6 - 6 Battery degradation cost for different EVs 128
Fig. 6 - 7 Energy consumption cost for different months under fixed tariff after optimisation 129
Fig. 6 - 8 Energy consumption cost for different months under TOU tariff after optimisation
Fig. 6 - 9 Cost reduction of different months with SWH

Tables

Table. 3 - 1 Pros and cons of different types of EV[58, 59]	. 50
Table. 3 - 2 Benefits, drawbacks and impacts of SWH's application	. 60

Table. 4 - 1 Probabilities of EV usage (normalised in percentage for each column)	. 68
Table. 4 - 2 Probability of different driving distance (normalised in percentage for each row)	. 68
Table. 4 - 3 Probability of different driving time (normalised in percentage for each row)	. 68
Table. 4 - 4 Probabilities of different outside parking time (normalised in percentage)	. 69
Table. 4 - 5 Probability of EV being outside of home (normalised in percentage)	. 69
Table. 4 – 6 Price of EV battery packs	. 77
Table. 4 - 7 Minimal operational cost under the fixed tariff and different SOC_{LB}^{EV}	. 80
Table. 4 - 8 Minimal operational cost under the TOU tariff and different SOC_{LB}^{EV}	. 80
Table. 4 - 9 Daily operational cost under different initial SOC with the fixed tariff	. 80
Table. 4 - 10 Daily operational cost under different initial SOC with the TOU tariff	. 81
Table. 4 - 11 Daily cost for different types of EV models under fixed tariff	. 82
Table. 4 - 12 Daily cost for different EV models under TOU tariff	. 82
Table. 4 - 13 Daily minimal operational cost under fixed tariff	. 85
Table. 4 - 14 Daily minimal operational cost under TOU tariff	. 86
Table. 4 - 15 Daily cost of different plugging-in probabilities	. 87
Table. 4 - 16 Battery degradation cost due to V2G if it happens	. 88
Table. 4 - 17 Comparison of daily minimal operation cost	. 89
Table. 4 - 18 Different EVs' daily charging cost without optimisation (fixed tariff)	. 90
Table. 4 - 19 Total daily cost comparison (fixed tariff)	. 90
Table. 4 - 20 Different EVs' charging costs without optimisation (TOU tariff)	. 91
Table. 4 - 21 Total daily cost comparison (TOU tariff)	. 91
Table. 4 - 22 Comparison of charging/discharging/degradation costs with and without optimisation	. 91

Table. 5 - 1 Optimum match of SWH and PV for different storage volume in winter	111
Table. 5 - 2 Optimal areas of SWH and PV for different months	112
Table. 5 - 3 Annual cost comparison between PV-T and PV-SWH	114
Table. 5 - 4 Daily cost comparison between PV-T and PV-SWH for different month (£)	114
	12

Table. 6 - 1 Annual cash flow and cumulative cash flow	. 117
Table. 6 - 2 Annual discounted cash inflow and cumulative discounted cash inflow	. 120
Table. 6 - 3 Aannual cash flows and NPV of company	. 121
Table. 6 - 4 Prices of different EV's battery	. 124
Table. 6 - 5 Monthly car fuel costs	. 125
Table. 6 - 6 Daily energy consumption cost of different month under fixed tariff without optimisation (f_{i})	. 125
Table. 6 - 7 Daily energy consumption cost of different month under TOU tariff without optimisation (f)	. 127
Table. 6 - 8 Charging costs for different types of EVs for the same distance driving	. 128
Table. 6 - 9 Daily energy consumption cost of different month under fixed tariff after optimisation (f)	. 129
Table. 6 - 10 Daily energy consumption cost of different month under TOU tariff after optimisation (f)	. 129
Table. 6 - 11 Smart Home Annual energy consumption costs with different EVs after optimisation (f)	. 130
Table. 6 - 12 Smart home annual cost savings, C_s , under fixed and TOU tariffs (f_s)	. 131
Table. 6 - 13 Annual maintenance costs, C_m , for PV system	. 131
Table. 6 - 14 Annual operating cash flow, OPF, (£)	. 132
Table. 6 - 15 Initial investment for a smart home system	. 132
Table. 6 - 16 Payback period of the residential system for different types of EV (years)	. 132
Table. 6 - 17 Payback period (DPB) for different types of EV after discounting the cash flow (years)	. 133
Table. 6 - 18 Results of NPV signal for different cases	. 134
Table. 6 - 19 Daily energy consumption cost (\underline{f}) of different months for different volumes of SWH	of . 135
Table. 6 - 20 Daily energy consumption cost $(\underline{\ell})$ for different type of EVs with 160L of SW	н . 135
Table. 6 - 21 Daily energy consumption cost (f) for different type of EVs with 160L of PV-	-т . 135
Table. 6 - 22 Annual cost comparison between PV-SWH and PV-T (£)	. 136
Table. 6 - 23 OPF for different types of EVs with PV-SWH	. 137
Table. 6 - 24 Comparison of PB and DPB for PV-SWH and PV-T (years)	. 138
Table. 6 - 25 NPV signal of the residential system including SWH	. 138
Table. 6 - 26 9 years cumulative discounted cash flow for PV-T and PV-SWH systems	. 139

Acronyms

DOD	depth of discharge
DPB	discounted payback period
DSM	demand side management
ESS	energy storage system
CFL	compact fluorescent lamp
EV	electric vehicle
FIT	feed-in tariff
HAN	home area networks
NPV	net present value
OPF	operating cash flow
РВ	payback period
PV	photovoltaic
SOC	state of charge
SWH	solar water heater
TOU	time-of-use
TVM	time value of money
WAN	wide area networks
V2G	vehicle-to-grid

Nomenclature

C_0, C_0^{EV}, C_0^{ESS}	battery purchase price, battery purchase prices for EV and ESS, \underline{f}
C _{total}	total operational cost, f_{i}
$C_{purchase}$	cost to purchase electricity from the grid, f_{c}
C _{income}	income from selling electricity to the grid, \oint
$C_{_{EV}}$	degradation cost of EV battery, $f_{\mathcal{L}}$
C_{ESS}	degradation cost of the ESS battery, $f_{\mathcal{A}}$
C _{SOC}	hourly cost of SOC related degradation, f_{i}
CF _{max}	maximum capacity fade constant (%)
C _{DOD}	DOD degradation cost, f_{i}
C_{SOC}^{EV}	SOC related degradation cost of EV, f
C_{DOD}^{EV}	DOD related degradation cost of EV, f_{i}
C_{SOC}^{ESS}	SOC related degradation cost of ESS, f_{i}
C_{DOD}^{ESS}	DOD related degradation cost of ESS, f_{i}
d(l)	the $l-th$ possible driving distance, km
d_{total}	maximum distance the EV can run with a fully charged battery, km
$d_{\rm exp}$	expected driving distance over the next driving period, km
α,β	model parameters for calculation of C _{soc}
n ₁	battery discharging cycles

ΔL_{DOD}	DOD of a particular discharging cycle
N _{total}	total number of discharging cycles corresponding to ΔL_{DOD}
N_d	total number of drives
P_1	output power of the PV system, kW
P_2	EV charging or discharging power, kW
<i>P</i> ₃	input/output power of ESS, kW
P_4	load of the residential home, kW
P_5	input or output power from the grid, kW
<i>p</i> _{FIT}	feed-in tariff price, £/kWh
p_{k1}	probability of EV to park and plug in at home
p_{k2}	probability of EV driving on road
p_{k3}	probability of EV parking outside
P_l	probability of driving over the distance of $d(l)$
Q, Q_{EV}, Q_{ESS}	Battery, EV and ESS battery capacities, kWh
SOC _{IN}	initial value of state of charge
SOC_{EV}	EV state of charge
SOC_{LB}^{EV}	lower bound of the terminal SOC
$SOC_{EV-display}$	displayed SOC in the vehicle's panel
SOC _{ESS-display}	displayed SOC in ESS
τ	the average discharging efficiency of EV and ESS when power flows back to the grid
μ	electricity price, £/kWh

υ	feed-in tariff price, f/kWh
М	mass of storage capacity, kg
C_p	specific heat of water, 4187J/kg°C
P _u	collected solar power delivered to the storage tank, kW
P_l	power removed from storage tank to load, kW
P_e	auxiliary electricity heat power, kW
A _c	solar collect area, m ²
S	absorbed radiation, W
F_R	heat removal factor
U_L	product of the overall heat loss coefficient
T_s	storage tank hot water's temperature , °C
T_a	temperature of the environment , $^{\circ}$ C
Ι	solar irradiance, W
τα	transmittance absorbance product
m	mass flow rate, kg/s
T _{mu}	make-up water temperature, ℃
UA	storage tank loss coefficient
К	storage tank back-up heat power
Ζ	permissible error range of the temperature, $^{\circ}$ C
T _{expected}	expected hot water's temperature , $^\circ \!$
С	ratio of the heat added to (or removed from) an object to reach the
	expected temperature change
Ε	energy change, J

ΔT	temperature change , °C
C _I	initial investment, f_{i}
FV	future value of money, f_{i}
PV	present value of money, £
r	interest rate
n	number of compounding periods per year
t	number of years
DCI	discounted cash inflow, f_{c}
dr	discounted rate
X	period to which the cash inflow relates
ω	cash inflow value factor
OPF_t	operating cash flow during the time period t
C _s	annual cost savings, £
C_m	annual maintenance fees of the smart home system, \oint
$C_{non-opt}$	annual cost without optimisation, \pounds
C_{opt}	annual cost obtained by the optimised solution, $f_{\mathcal{A}}$
C _e	annual electricity cost without optimisation, f_{i}
C _{driving}	traditional annual fuel consumption cost, f_{i}
<i>ic</i> _{pv}	installation costs of PV, $f_{\mathcal{L}}$
<i>ic</i> _{ess}	installation costs of ESS, f_{c}
$ic_{charging}$	installation cost of EV home charging system, $f_{\mathcal{A}}$
<i>ic</i> _{control}	installation cost of smart home control system, $f_{\mathcal{A}}$

P_{load}	hourly electricity consumption, kW
------------	------------------------------------

Chapter 1 Introduction

1.1 Background

Electric vehicles (EVs) can contribute to deeply reduce greenhouse gas emission if the charging load of EV supplied from renewable energy resources [1]. In recent research development, minimisation of EV charging cost including vehicle-to-grid (V2G) has been widely investigated while considering battery degradation [2-4]. It can help to alleviate the peak demands of power and minimise the energy cost of users. With V2G, an EV can be used as an energy storage device that is able to inject the stored electric power back to the grid. This can be applied as a new type of energy source and utilised together with energy storage system (ESS) to achieve optimal operation of power systems [5]. In addition, the EV customers' driving usage such as driving time, parking time, and daily driving distance, which would certainly influence the charging and discharging of EVs and the cost [6]. In order to understand the benefits for residential EV end users, novel demand side management (DSM) method is required to effectively control EV and renewable technologies for residential energy systems; therefore, the mathematical optimisation method can be applied to find out the 'best' values of operating variables. The objective of the method aims to minimise the energy cost for residential energy system by controlling EV charging and renewable generation on/off status considering V2G and customer driving behaviours, such as driving behaviour, charging and discharging periods, willingness to participate to V2G.

1.2 Motivation and scope

In order to significantly reduce greenhouse gas emission and tackle the increasing carbon emission problem, electric vehicles (EVs) have become popular in the past decade, and the charging load of EVs supplied from renewable energy resources can help to alleviate transport emission [7, 8]. A reduction of 47%~78% greenhouse gas emissions can be achieved through the photovoltaic (PV)-powered EV technology, and the feed-in tariff (FIT) of PV power and the investment interest rate can be used in policy making tools to develop low carbon transportation systems [9]. In comparison to traditional

combustion vehicles, PV-powered EVs have nearly 100% pollutant reduction potential for CO_2 , SO_2 and NO [10].

In order to adapt to renewable generation technology, the traditional grids need to be evolved to smart grid. Smart grid is an electricity network that can intelligently interact with all of the users connected to it [11, 12] . It can help to manage the variability of renewable resources, enable consumers actively get involved, and allow more actions of consumption be responded back to the grid operator through smart metering systems. In the future, more and more end users will contribute to energy management in smart grid systems. This requires demand side management (DSM) activities that would improve utilisation of renewable resources to supply power to the end users. More importantly, customers play a major role in DSM as they have the choice from a range of products according to their preferences [13, 14]; therefore, analysis of DSM for smart residential homes becomes crucial in saving energy cost. To support systematic DSM under various scenarios, a mathematical modelling framework needs to be established for residential home energy systems, based on which DSM optimisation strategies can be explored.

As EVs become popular for energy management at the demand side, minimising the charging cost of EV is prerequisite to attract more end users to participate in the DSM schemes or other policies, therefore, optimal charging control of EVs, which aims to reduce cost of users, should be investigated. In addition, with the development of vehicle to grid (V2G) technology, an EV can be used as an energy storage device that is capable of injecting the stored electric power back to the grid. EVs can be applied as a new type of energy source and utilised together with the energy storage system (ESS) to achieve more cost reductions [15]. It is therefore important to include EV and ESS into the smart home energy system model.

Though V2G techniques provide wider options for control and optimisation of EV systems, V2G operation increases the cost of battery degradation, which needs to be considered in its applications [16]. Another issue is whether the EV owners would be willing to participate in a V2G program. The economic viability of V2G, primarily affected by the high cost of discharging to the grid, is a big issue for EV owners. This is often related to factors such as battery degradation, expensive battery pack and low FIT. It is discussed in [17] that a V2G service can lead to a reduced life-cycle of an EV. The

power aggregators should operate either on pay-as-you-go basis or provide consumers with advanced cash payment in order to attract more EV owners participating in V2G. The promised rate of return for V2G may not be sufficient to attract widespread V2G participation due to the cost in grid connection, purchase of electricity and battery degradation [18]. The EV's battery pack will need to be replaced more frequently with V2G operation [19]. The battery aging cost induced by V2G may exceed the benefit brought from V2G, and substantial subsidies are required to trigger V2G service [20]. Therefore, it is important for residential home owners to consider whether V2G is economically beneficial in reducing their overall energy cost.

EV driving behaviours affect implementation of DSM programmes [21]. When EV is considered into the cost minimisation model of end users, the information of vehicle usage, such as driving time, parking time, and daily driving distance, will be important factors that influence the charging and discharging of EVs and the cost accordingly [21]. The EV usage factor has been ignored in most research. In this thesis, the EV usage probabilities will be included in the mathematical model. Quantities such as probabilities of EV parking and plugging in at home, probability of EV parking outside, probability that the EV is under driving and the probability of each driving, etc. will be obtained through survey data.

The use of renewable energy is a recent trend for smart residential homes. For a residential household energy management system, PV is not the only way to utilize the solar energy for the cost and energy reduction. Another technology that can help end users to reduce daily energy consumption is solar water heater (SWH). Comparing to PV which supplies power directly to the home, the electric back-up element of SWH can be controlled to supply sufficient amount of hot water as required. In this thesis, combination of PV and SWH will be considered in the residential home energy use optimisation system.

To support DSM at residential homes, initial investments are required for purchasing equipment for PV, SWH and ESS, which are usually not cheap for family users. Whether the cost savings calculated from the optimal operation can compensate the initial investments could be an issue. In this thesis, financial analysis will be performed using appropriate appraisal methods to assess and analyse the overall cost savings under the optimisation scheme when initial investment is considered.

1.3 Overview and contribution of this research

The main contribution of the thesis are summarised as follows:

- 1. A mathematical model framework has been established for a typical residential home energy system, which includes an EV, an ESS, and other residential loads, with grid connection. The EV usage patterns are also considered in this model with driving and parking probabilities calculated from survey data. The practical survey is designed to include driving usage at different time periods. Information such as the driving distance, starting time and duration when the vehicle is away from home, time duration for parking outside and at home, has been collected and processes. This modelling scheme can be conveniently expanded to include components such as PV and SWH systems.
- 2. Based on the established model, the optimal charging and discharging strategies for EV and ESS are determined for various scenarios under the fixed and the time-ofuse (TOU) tariffs. In the case study, the threshold level of the export tariff is calculated, below which the V2G benefit cannot be achieved.
- 3. One renewable energy option, the solar thermal system, has been included in the optimisation of the residential home energy system, keeping the EV/ESS charging design in the same framework. The benefits of using a solar thermal collector for the end users have been investigated from the economic point of view. Two hybrid options are considered and compared, the combined PV-SWH system and the photovoltaic thermal (PV-T) system. For PV-SWH system, the split of the limited solar panel area between SWH and PV is determined when other DSM factors are optimised under the same design framework.
- 4. To assess the payback of the above energy optimisation systems, annual cost savings are calculated for three different residential systems. Different appraisal methods are applied and compared to analyse the investment worth of these residential energy household systems. The optimal system choices for the end users are discussed

through case studies, such as EV selection, solar hybrid system selection, SWH panel size selection, indications of the installing costs and so on.

1.4 Roadmap through this dissertation

Chapter 2 reviews fundamentals of DSM, classifications of relevant methods and some current challenges. Optimisation methods for DSM are also briefed in this chapter including problem formulation, optimisation model building process and algorithms of integer programming.

Chapter 3 gives an overview of the fundamentals of EV and V2G technology. The optimal charging management of EVs has been reviewed. Literature review also includes the charging management under V2G and some doubts on V2G technology are raised. In addition, the basics of solar energy and its use in residential household are introduced. The fundamentals of solar thermal model are presented, and studies related to load management for domestic water heating are reviewed.

Chapter 4 builds a mathematical model for a residential household energy system, considering EV, ESS, renewable supply, grid connection and other loads. The design objective with the model is to minimise the end user's energy costs by managing the charging/discharging status of EV and ESS. The design problem can be taken as the individual DSM optimisation problem from the user's interaction with the grid. The battery degradation cost model and the model of uncertain driving probabilities are also developed. Comprehensive case studies are investigated on impacts of different FITs, impacts of different initial SOC and terminal SOC, whether V2G is beneficial to the users. Comparisons are made with typical settings without DSM optimisation.

Chapter 5 expands the study to include controlling of the renewable energy. A household energy system model is developed that also involves solar thermal systems. By controlling the on/off status of electricity back-up system of the solar thermal part, in addition to the EV and ESS charging/discharging status, the end user's cost can be further reduced. Relevant case studies have been investigated to examine the impacts of solar energy on cost reductions such as the hot water temperature, the interaction between residential SWH system and PV system, hybrid PV-SWH system, hybrid PV-T system.

Chapter 6 explores return-of-investment of the household energy system built on the work of the previous two chapters. Several appraisal methods are reviewed, such as payback period (PB), discounted payback period (DPB) and net present value (NPV). They are applied to assess and analyse the investment return period of the energy system with optimised DSM. The annual costs of different types of household energy systems are calculated and compared from financial point of view.

Chapter 7 summarises the contributions and outcomes of this thesis. Future works that can be built upon the findings of this work are also discussed.

1.5 Publications

Journal article:

Yanyi Sun, Hong Yue, Jiangfeng Zhang and Campbell Booth, "Minimisation of residential energy cost considering energy storage system and EV with driving usage probabilities," *IEEE Transactions on Sustainable Energy*, Early Access, September 2018. (DOI: 10.1109/TSTE.2018.2870561)

Conference paper:

Yanyi Sun, Hong Yue, Jiangfeng Zhang and Campbell Booth, "Minimisation of residential energy costs for PV-SWH and PV-T systems," in 12th IFAC Symposium on Dynamics and Control of Process Systems, including Biosystems (DYCOPS2019), Florianópolis, Brazil, April 2019: 1-6. (oral presentation)

Chapter 2 Introduction to Demand Side Management (DSM) and Optimisation Basics

In this chapter, the concept of traditional power grid is firstly introduced in Section 2.1. In order to address the issues faced by the traditional power grid, such as environmental side effects and growing energy demand, the traditional power grid should be evolved and the notion of smart grid is discussed in Section 2.2. In smart grid, the end users play an important role in that the actions of energy consumption can be fed back to the grid operator through the smart metering system enabling local energy demand management; therefore, the fundamentals of DSM, which can help to reduce the end user's cost of energy and air pollution through reducing energy use, is introduced in Section2.3. Furthermore, DSM methods can be classified based on the planning horizon, impact of the applied measures on the customer process and the optimisation model used, which are introduced in Section 2.4. The obstacles and challenges when implementing DSM program are discussed in Section 2.5. Optimisation is a key technique to achieve DSM. The basics of an optimisation model is introduced in 2.6. The general procedure for optimisation is summarised in Section 2.6.1. Then, the details of how to formulate an optimisation model is given in Section 2.6.2. In this thesis, the controlling variables are on-off status of the household devices, so the relevant problem can be formulated as an integer programing problem. One method of integer programing optimisation is introduced in Section 2.7.

2.1 Traditional power grids

Traditional power grids are designed to deliver electricity from producers, which are central power plants, to consumers through high voltage transmission lines. Central power plants usually burn fossil fuel, such as coal, natural gas, and oil, to produce the electricity, for large scale and continuous operation of power grid. However, the environmental adverse effects are serious for fossil-fuel plants, e.g. greenhouse gas emission produced by burning coal, destruction of large areas of land for mining of coal, unpleasant odours of natural gas, and leaks of crude oil under the sea [22]. Therefore, renewable energy sources, such as solar energy and wind energy are widely encouraged to substitute the traditional power sources. In UK, the government targets to deliver 15% of the energy consumption from renewable sources by 2020 [23]. An overall policy for production and promotion of energy from renewable sources in EU has been established, and 20% of the total energy needs with renewables are required to be fulfilled by 2020. In China, the wind power capacity has increased from 0.567GW in 2003 to 91GW in 2013, and the government plans to grow it to 200GW by 2020 [24]. Multiple benefits can be obtained by implementing a variety of renewable energy, such as reduce the demand for traditional energy, reduce air pollution, mitigate climate change, and promote economic development [25]. However, some challenges and barriers exist when synchronising large scale of renewable generation. For example, higher penetration of renewable energy sources with traditional power grids will affect the stability of grids due to the fact that renewable generations are intermittent and uncertain [26]. Therefore, the optimal dispatching of larger scale intermittent resources becomes more critical and the traditional power grids need to be improved to cope with the change of generation. In addition to the change of generation results from environmental stress, traditional grids also need to face other changes on technology, values of society, and economy. Thus, system security, operation safety, power quality, cost of supply and energy transmission efficiency need to be re-examined in order to meet the new requirements of these changes by taking renewables [27]. The traditional grids need to be evolved to smart grid.

2.2 Smart grids

According to [27], "smart grid is an electricity network that can intelligently integrate the actions of all users connected to it – generator, consumers and those that assume both roles – in order to efficiently deliver sustainable, economic and secure electricity supplies. It employs innovative products and services together with intelligent monitoring, control, communication and self – healing technologies".

The goals of the smart grids have been summarised in [28] as follows: provide power quality for the range of needs in a digital economy; accommodate all generation and

storage options; enable new products, services, and markets; enable consumers actively get involved; operate resiliently against physical and cyber-attack and natural disasters; anticipate and respond to system disturbances in a self-healing manner; optimise asset utilisation and operating efficiency.

Like the traditional grids, smart grids also consist of four main parts, which are generation, transmission, distribution, and utilisation. The main differences between smart grids and traditional grids are the smart communication and networking, which can help to manage the variability of renewable resources, facilitate access to distributed generation on a high share, balance supply and demand in a manner that is best for the power grid, enable distributed control of both power generation and power, improve the energy system at the side of consumption, optimally schedule the use of loads for both individual and industrial end users and so on [28, 29]. It is noticed that the end users play an important role in the operation of smart grid since actions of consumption can be fed back to the grid operator through smart metering systems thus enabling local energy demand management.

The residential sector is currently a major consumption of electricity in many countries. According to [30], residential sector is the biggest sector of the total U.S. retail sales of electricity, which occupies 38% of total electricity consumption. In EU, the electricity used by households is around 25% of the total consumption [31]. In UK, the residential electricity demand is occupied 30% of total electricity consumption [32]. The house consumption of electricity from one hour to another varies a lot during a day, which can be illustrated in Fig. 2 - 1 using literature data [33]. The electricity consumption reaches a peak point over a certain time period that can induce heavy stress on the grid. Therefore, how to manage and control the energy demand becomes a crucial issue to relieve the grid stress and improve the efficiency of energy use. To address this issue, DSM has been put forward to influence the load with less cost compared to building a new power plant or installing extra electricity storage device. DSM also helps to promote the locally generated energy consumed by local loads.



Fig. 2 - 1 An illustration of average hourly load variation during a day [33]

2.3 Fundamentals of demand side management

DSM is traditionally seen as changing the load shape in power system in order to help the energy providers reduce the peak load demand. It is also one of the important functions in smart grid that allow customers to choose from a range of products following their preferences [14] [28]. Key motives of DSM are to reduce the total cost to meet energy demand, and reduce air pollution. In [34], the potential of DSM efficiency improvement has been estimated. The average annual energy savings from the selected DSM technologies are approximately 2,160GWh over a period of 10 years, and considerably reducing CO2 emissions through the selected technologies. Other motives of DSM are to maintain power system reliability or help to reduce the need for network expansion. In [35], a method for assessment of system reliability has been proposed and developed. It suggests that DSM schemes can help to reduce network congestion and improve reliability and quality of network supply.

2.3.1 Architecture and components of DSM frameworks

The fundamental components of DSM can be categorized into end user's domain and smart grid domain. In the end user domain and particularly for residential users, necessary components include local generator, smart devices, sensors, ESS, and energy management unit. Through these components, residential users can manage electricity power for their own usage, provide data for remote control and monitoring, store energy that allow DSM to be flexible, and exchange information with other parts of the system. These components are able to interact with each other, and manage the electric resources based on intelligent DSM schedules [36]. All of these components are connected through one or more home area networks (HANs) within the user's domain. It can be either wired networks or wireless. Then the user's domain is connected to the smart grid domain through wide area networks (WANs), such as cellular networks that can guarantee reliability and quality of service in data transmission. A typical DSM framework for residential home is shown in Fig. 2 - 2.



Fig. 2 - 2 DSM framework for residential home systems [36]

2.3.2 Types of demand side management activities

In this section, two categories of DSM activities are introduced, which are energy reduction programmes and load management programmes.

2.3.2.1 Energy reduction programmes

Some of the energy reduction programmes reduce consumer's demand through more efficient processes, buildings or equipment [37]. They include a large number of measures called housekeeping items. Some of these "energy saving tips" can be implemented without extra cost, while others may require significant capital investment. For example, hot water heating is a major activity in industrial and commercial sectors. Poor boiler operation may result in a significant energy loss, thus improvement of boiler performance is a practical and low cost option for enterprises. Other activities such as improving performance of steam systems, managing the lighting system, and controlling the compressed air system will also contribute to energy savings while keeping the low cost.

The no-cost or low-cost measures can be summarised as below:

a) Sealing and insulation: look for hot air escapes, and failed insulation in floors, walls, doors, windows, fans, vans, heating, electric outlets and so on;

b) Hot water storage tank: limit the temperature of water to a fixed value, use insulating blankets and pipes.

c) Washing machines: only run with full load;

d) Replace incandescent lighting with compact fluorescent lamps (CFLs);

e) Use curtains to insulate sunlight if hot, or let sun in if cold.

However, if some of the measures need to replace the existing equipment or install a new one, significant investment will be necessary and the relevant payback period needs to be considered and investigated, for example, replace old appliances with new and efficient ones; install solar water heater instead of traditional electric water heater (EWH); install double glazing windows.

Another group of commonly used measures of energy reduction programmes are energy management activities, which typically cover the following measures [37]: energy purchasing; metering and billing; performance measurement; energy policy development; energy surveying and auditing; awareness-raising, training and education; capital investment management.

The specific projects of energy management depend on the nature of the organisation, budget, and staff skills. They are continuous process, in which the energy performance is continuously monitored and the efficient use of energy is constantly improved and maintained. Once the top management has been approved in the organisation, an important part of the energy manager's job is to collect and analyse data, and be aware of load profiles or time-of-use for all forms of energy consumption. The

load management programmes are needed when the energy manager obtains reliable quantitative information of load profiles through automated measurement and recording equipment.

2.3.2.2 Load management programmes

Load management programmes have been more stable over time than most other customer programmes [38]. From strong load growth, load management can provide significant opportunities for effective DSM that can reduce or postpone use of new generating facilities, therefore the operating cost of energy system can be reduced through changing the load shape [14]. Load management programmes focus on reducing customer use strategically at the time of high utility-system load. The goal is to avoid construction of generation, production, and delivery facilities that only operate for a few hours per year and/or the costly wholesale purchases when customer loads can be shifted or displaced at less cost. There are six generic load shape objectives considered in load management programmes, which are shown as follows [14, 28, 38]:

 Peak clipping is a form of load management that focuses on reducing the peak demand to mitigate the burden of grid at peak times. It is a direct load control technique to make reduction of the peak loads, and can help to increase the security of smart grid [14, 28, 38]. The diagram of peak clipping load shape is shown in Fig. 2 - 3.



Fig. 2 - 3 Peak clipping [37]

(2) Valley filling is form of load management where the demand valleys are filled by building off-peak capacities. The difference between the peak and valley load levels can be reduced through this technique, and it constructs the off-peak demand by applying direct load control. The technique can be achieved by thermal energy storage that displaces fossil fuel loads[37]. Fig. 2 - 4 shows the diagram of valley filling.



Fig. 2 - 4 Valley filling [37]

(3) Load shifting can shift loads from peak time to off-peak time, and takes advantage of time independence of loads. Load shifting is different from peak clipping because the peak load is present in the overall demand whereas it is removed in the clipping method. Popular applications of load shifting include using storage water heating, storage space heating, coolness storage, and customer loads shifting [37]. Fig. 2 - 5 shows the load shape of the load shifting technique.



Fig. 2 - 5 Load shifting [37]

(4) Strategic conservation aims to stimulate demand reduction programmes directed at customer consumption in order to achieve load shape optimisation. Examples of strategic conservation usually include weatherization and appliance efficiency improvement [14, 37]. Fig. 2 - 6 schematically represents strategic conservation.



Fig. 2 - 6 Strategic conservation [37]

(5) Strategic load growth is based on increasing the market share of loads supported by energy conversion, storage system or distributed energy resources. It intends to improve customer productivity and environmental compliance while increasing the sale of power for the utilities. The valleys and peaks can be filled and increased, and unsustainable energy practices can be diverted to more efficient practices. This is represented schematically in Fig. 2 - 7[37].



Fig. 2 - 7 Strategic load growth [37]

(6) Flexible load shaping: the load shape can be flexible if customers are willing to change power usage over time for various incentives. The future load shape needs to be anticipated, which includes demand side activities forecasted over the planning horizon [13]. It is mainly based on reliable smart grid, and the idea is shown in Fig. 2 - 8.



Fig. 2 - 8 Flexible load shape [37]

Among these load management programmes, load shifting is a classic form of load management and is widely applied. The key factor in load shifting is energy storage. In this thesis, three types of loads are directly controlled, which are EV, ESS and SWH. All of these loads have energy storage function. By considering the renewable generation, e.g. PV, and TOU electricity tariff, the load shifting can be achieved. Details of these loads shifting results are shown in Chapter 4 and Chapter 5

2.4 Classification of DSM methods

There are many DSM methods to apply, which can be classified based on the planning horizon, impact of the applied measures on the customer process and the corresponding optimisation model used.

2.4.1 Classification by planning horizon and impact

DSM methods can be classified based on the planning horizon and the impact of the applied measures on the customer process, which include energy efficiency, TOU tariff, and demand response (DR), as shown in Fig. 2 - 9. According to reference [39], the quicker the changes are processed and done, the more unwanted impacts imposed on the customers' processes.



Fig. 2 - 9 Categories of DSM based on planning horizon [39]

It can be seen from Fig. 2 - 9, energy efficiency measures result in immediate and permanent energy and emissions savings, which include permanent changes on equipment or improvements on the physical properties of the system.

TOU tariff increases the electricity price on certain periods of time when the demand is high, so energy consumers pay the actual lower rates for off-peak usage and higher rates for on-peak usage. In addition, users' operating plan is usually defined over the next day period, which is also called day-ahead planning; therefore, some predictions of data, such as energy generation of local sources and devices usage preference for the next day, are required [39].

DR is a form of dynamic DSM. It can be categorised as market DR and physical DR. Market DR includes real-time pricing, price signals and incentives. It relies on certain market places where prices are formed and products are traded. Most of the transactions are done day-ahead. Real-time pricing will not be delayed because the users' plan is redefined based on real time events and data. Another form of DR is physical DR which can achieve real load shedding for grid relief that cannot be done via prices alone. It will send out binding requests for demand management if grid needs maintenance or line fault happens in parts of the infrastructure [39].
2.4.2 Classification by optimisation models

Mathematical optimisation methods are developed to find out the 'best' values of system design and operating policy variables that will lead to the highest levels of system performance [40]. If DSM systems are classified by the corresponding optimisation model, it can be classified based on user's interaction and optimisation approach [36].

From the perspective of user's interaction, the end users can be either individually managed or jointly managed [36]. If customers are individually and separately managed, the maximised benefit of single end user will be guaranteed. On the other hand, users collaborate in defining their operating plans usually aim to increase the performance of grid or benefit the company. In further classification, the techniques can be selected as either deterministic or stochastic when designing a new DSM optimization model [36]. In deterministic DSM problems, the parameters of DMS systems such as energy prices, renewable generation profile, load curve and devices usage preferences are defined as deterministic variables. In stochastic techniques, they are represented as random variables in order to consider stochastic nature in the decision making process. More details of the optimisation are discussed in Section 2.6.

To sum up, the target objectives need to be determined in the first place before building an optimisation model, e.g., whether customers are individually managed or jointly managed, whether the model benefits grid or customers. Then, an appropriate technique will be selected depending on the types of DSM systems' data. Finally, the time scale of the model needs to be considered. Different planning horizon will lead to different results to the DSM. A classification tree of DSM is presented in Fig. 2 - 10.



Fig. 2 - 10 Categories of DSM classified by optimisation model [36]

2.5 Demand side management challenges

Obstacles and challenges exist when implementing DSM programme [41]. Firstly, the lack of appropriate market mechanisms in current market structures is a barrier for implementation of DSM. For example, it is argued in [42] that DSM is not comparable to current combustion turbine generating plants though the former is capable of providing more flexible power supply. Another problem when implementing DSM programs is to establish effective communication between the supply-side and the demand-side. This problem has been solved, to some extent, with the advent of smart grid [43].

Furthermore, end-user behaviour is another issue, which compounds the problem of market design for DSM. This is because reactions of the end users are uncertain and complex - they may have many different priorities [41, 42]. The corresponding demand curve is difficult to extract from user behaviours, which depend on many time varying external factors, ranging from the consumers' showering time to cooking time, winter to summer, etc. If EV is plugged-in on residential sector, the vehicle usage needs to be considered in the design of energy management mechanism. Therefore, a proper analysis of the cost benefits of energy use needs to be carried out. A new DSM model for residential home systems should include factors that reflect the benefits and attitudes from the consumer's perspective, such as the cost to the consumer, the ease-of-use, etc.

In addition, how to persuade the consumers to participate in DSM is a problem. Most of the end users are lack of sufficient understanding of the benefits from DSM, especially in developing countries. They are more likely care about whether the DSM strategies can directly bring economic benefits for them; therefore, the DSM strategies should be considered from the end user's perspective in order to attract more end users to participate in DSM. The methodologies for quantification of costs and benefits are imperative to improve the awareness of energy efficiency and DSM programs.

Finally, DSM-based solutions tend to increase the complexity of the system operation when compared with traditional solutions [41]. Other challenges for implementation of DSM are also identified by [37], such as potential losses in power production when implementing DSM programmes, variations in the prices of electricity and other fuels, insufficient data available and so on. Fig. 2 - 11 shows the critical challenges of DSM programs.



Fig. 2 - 11 Challenges of DSM [37]

2.6 Introduction of optimisation

2.6.1 Optimisation classifications and a general procedure

Optimisation is to obtain the best option among all possible solutions. A basic optimised function can be expressed as follows. Suppose $x_1, x_2, x_3, ..., x_n$ are the *n* decision variables considered, the decision vector can be represented as $\mathbf{X} = [x_1, x_2, x_3, ..., x_n]^T$. If the function is written as $f(\mathbf{X})$ then the optimization problem can be expressed as:

$$\max f(\mathbf{X}), \tag{2.1}$$

to find the point \mathbf{X}^* , where $f(\mathbf{X}^*)$ gives the largest value of $f(\mathbf{X})$, and

$$\min f(\mathbf{X}), \tag{2.2}$$

to find the point \mathbf{X}^* , where $f(\mathbf{X}^*)$ gives the smallest value of $f(\mathbf{X})$.

An optimisation problem can be classified into different groups following different specifications. It can be classified as deterministic and stochastic (probabilistic). The former has its decision variables and their functional relationships being deterministic. The latter has random variables [44]. An optimisation problem can also be classified into static and dynamic optimisation. In static optimisation, decision variables are independent of time. In dynamic optimisation, the decision variables are time-dependent, therefore, the optimal results are impacted by time-varying factors, for example, the TOU price in cost minimisation of energy system [44].

An optimisation problem can be solved using analytical methods or numerical methods. In analytical methods, calculus is used to get the solution, the optimisation function is often continuous and differentiable. Several techniques can be utilized, such as maxima-minima, partial differentiation, complete differentiation, integration and definite integration. In numerical methods, problems are solved by searching the optimal values at discrete points. They are often used for complex problems [44].

According to [44], the first step in an optimisation procedure is to define the problem. Key aspects include the optimisation objectives or goals, the decision variables, the feasible range of decision variables, and the system restrictions or constraints. The next step is to describe the system using a suitable model. The model can be static or dynamic, deterministic or stochastic, linear or nonlinear by nature. Then, the optimisation problem needs to be solved by a computation method. When the problem is complex, numerical methods are often used to find the optimal solution. Next, the optimal solution and results need to be validated against data or understanding of the real system. The final step is decision-making and implementation, where the optimal strategy is implemented and put to work in practice. In addition, the feedback of the implementation may help to extend the problem for further investigation.

2.6.2 Formulation of optimisation problem

For an optimisation problem, the decision variables need to be identified first. Suppose $x_1, x_2, x_3, ..., x_n$ are the *n* decision variables considered, the decision vector can be represented as: $\mathbf{X} = [x_1, x_2, x_3, ..., x_n]^T$. The optimisation performance index is a scalar function of \mathbf{X} , $f(\mathbf{X})$. The optimisation problem is then formulated as

$$\mathbf{X}^* = \arg\min f(\mathbf{X}) \tag{2.3}$$

A minimisation function can be expressed as equivalent to a maximisation function and vice versa, by multiplying (-1), which is $\max -f(\mathbf{X})$.

An optimisation problem may or may not have constraints. If the problem requires some limitations in achieving the objective, the constraints need to be designed after building the objective function. There are two types of constraints, which are equality constraints and inequality constraints. The limitations on the behaviour, performance or functionality of the system are commonly represented by inequality constraints. These inequality constraints are classified into two types which are maximum and minimum. Mathematically, the maximum constraints are expressed as less than or equal to (\leq) a certain boundary that limits the system behaviour. The minimum constraints limits the system with a lower boundary (\geq) where a quantity less than the limiting point is not allowed.

After setting up the constraints, the next step is to specify the feasible domains of the variables, which can be called boundary conditions [44]. Three types of the conditions are introduced in the following context, unrestricted condition, non-negative condition, and integer condition. The unrestricted conditions represent that the variables can be selected as any values. The non-negative conditions represent that any values of the variables cannot be negative, and the optimal solutions will be ignored if they are of negative values. These can be mathematically expressed as $x_i \ge 0$. If the variables are not allowed to be fractional, the integer condition is taken, which is expressed as $x \in Z$. In this thesis, the controllable variables are the on-off states of the household devices, such as EV, ESS and SWH, so the boundary conditions of the variables are the integer conditions. More details on how to solve the integer programming problems, either linear or nonlinear, are introduced in Section 2.7. The procedure of formulation of an optimisation problem include the following 4 steps, which are shown in Fig. 2 - 12 [44].

Step1: selecting the decision variables

Step2: formulate the objective function

Step3: setting the constraints

Step4: identifying the conditions of variables



Fig. 2 - 12 Formulation of an optimisation problem [44]

2.7 **Optimisation methods**

In this thesis, the controlling variables are on-off status of the household devices, such as EV, ESS and SWH; therefore, the relevant optimisation problem can be classified as integer programing problem. In this section, the form of the integer programing problem is introduced.

2.7.1 Integer programming

In many optimisation problems, the decision variables are allowed to be fractional, which is often a realistic assumption [45]. However, for some problems, the fractional solutions are not realistic, for instance, it would be meaningless to have a solution calling for the manufacture of half a table or for the chartering of 1.2 airplanes; the decision variables must be assumed only integer values for these problems, which can be also called inter programming problems [46]. According to [47], integer programming deals with problems of maximising or minimising a performance function of decision variables subject to inequality and equality constraints, applying integer restrictions on some or all of the variables. A linear integer optimisation problem can be expressed as:

$$\min f(\mathbf{X}) = \sum_{j=1}^{n} c_j x_j,$$

$$\mathbf{X} = \begin{bmatrix} x_1, x_2, x_3, \dots, x_j \end{bmatrix}^T$$

subject to

$$\sum_{j=1}^{n} a_{ij} x_j \le b_i \quad (i=1,2,\dots,m),$$

$$x_i \text{ is an integer} \quad (\text{for some or all } j=1,2,\dots,n).$$
(2.4)

where c_i , a_{ij} and b_i are different constant values.

If all of the variables are restricted to be integer, then the problem is called *pure integer problem*. If some, but not all, decision variables are limited to be integer values, the problem is said to be a *mixed integer program* [47]. A special case that by limiting the value of x_j to 0 or 1, then the model is expressed as:

$$\min f(\mathbf{X}) = \sum_{j=1}^{n} c_j x_j,$$

$$\mathbf{X} = \begin{bmatrix} x_1, x_2, x_3, \dots, x_j \end{bmatrix}^T$$

subject to

$$\sum_{j=1}^{n} a_{ij} x_j \le b_i \quad (i=1,2,\dots,m),$$

$$x_j = 0 \text{ or } 1, \quad (\text{for some or all } j=1,2,\dots,n).$$
(2.5)

where c_i , a_{ij} and b_i are different constant values.

This type of an integer programming problem is called *binary programming problem*. If all of the variables are restricted to be 0 or 1, then the problem is called *pure binary programming problem* [47]. If some, but not all, decision variables are limited to be 0 or 1, the problem is said to be a *mixed binary programming problem* [47]. For some integer programming problems, the objective function or constraints are nonlinear so they are called nonlinear integer programming. An example of non-linear integer optimisation problem can be expressed as:

$$\min f(\mathbf{X}) = \sum_{j=1}^{n} c_j x_j^2,$$

$$\mathbf{X} = \begin{bmatrix} x_1, x_2, x_3, \dots, x_j \end{bmatrix}^T$$

subject to

$$\sum_{j=1}^{n} a_{ij} x_j \le b_i$$

$$\sum_{j=1}^{n} (x_j^2 + x_j + 1) \le d_i \quad (i=1,2,\dots,m),$$

$$x_j \text{ is an integer} \quad (\text{for some or all } j = 1,2,\dots,n).$$
(2.6)

where c_i, a_{ii}, b_i and d_i are different constant values.

In this thesis, the objective is to minimise the end user's household energy cost, where the decision variables are charging and discharging of batteries, and on/off status of electrical appliance; therefore, the problem can be expressed as integer programming problem. An intelligent method, GA, is employed to solve the optimisation problem.

2.7.2 Genetic algorithm

Genetic Algorithm is a type of evolutionary algorithms that are inspired by the process of evolution in human and animal life. It is developed by John Holland and his collaborators in 1960s and 1970s [48]. The basis of the GA corresponds to the process of Charles Darwin's theory of natural selection [49, 50]. All livings carry the gene information to build cells and pass the genetic traits to offspring. If the inherited genes make offspring fit and strong, they are more likely to be passed to the next generation. On the contrast, offspring with poor inherited genes is more likely to die and not reproduce. Therefore, the species who carry the good genes become more successful and stronger to suit the environment. The main contribution of Holland's work demonstrates that rapid improvements of bit strings could occur under certain transformation with an appropriate control structure, and GA would tend to global convergence even in large and complicated search spaces [51]. GA has been developed and applied to a wide range of optimisation problems, such as graph colouring, pattern recognition, financial markets, multi objective engineering optimisation [52]. The GA for an optimisation problem is based on binary coded genetics, which means an optimisation function will be encoded as arrays of bit strings to represent chromosomes. Selection of their fitness, and other operations of strings are determined by genetic operators. The procedure of GA can be summarised by the following steps [49, 52, 53]:

a) encode the objective function;

b) define a fitness function;

c) create a population of the individuals;

d) execute the evolution cycle or iterations by evaluating the fitness of all the individuals;

e) create a new population by performing crossover and mutation;

f) reproduce fitness-proportionate;

g) replace the old population and iterate the process using the new population;

h) repeat step d) to step g) until finding the optimal solution;

i) decoding the optimal solution to the required range of decision variables.

In this work, the optimisation problem is to minimise the end user's energy cost, where the decision variables are the charging/discharging status of EV and ESS. So, the problem can be expressed as a binary integer programming problem. Unlike linear programming problems, the integer programming problems are difficult to solve. Several traditional algorithms could be applied such as cutting-planes and branch and bound programming; however, they are not both fast and reliable at the same time when dealing with the complex problems. Compared to the traditional optimisation algorithms, there are many advantages of GA. For example, it is conceptually simple, and no gradient information are required in the algorithm. It can be used to adapt solutions to changing circumstances, therefore it is robust to variations in the environment. Furthermore, GA has the ability to deal with complex problems, and it can deal with various types of optimisation problems whether the objective functions are stationary or non-stationary, linear or non-linear, continuous or discontinuous, integer or real. In GA, all points of a population act like independent agents, they can be carried out in several processors, and the population can explore the searching space in many directions simultaneously. Different variables can be manipulated at the same time and a GA algorithm is inherently parallel in searching [52, 54, 55]. Also, the convergence of GA in the sense of probabilities has been widely used in practice. Matlab has a built-in function for GA, which is applicable to mixed integer nonlinear programming problems. Thereofore, GA has been selected to get the solution.

2.8 Summary

In this chapter, the smart gird is introduced, in which the end users play an important role. DSM can help the grid operator manage the end user's demand, through which the end user's energy cost and air pollution through can be reduced. Classifications of DSM methods have been presented based on the planning horizon, impact of the applied measures on the customer process and the optimisation problems. The obstacles and challenges when implementing DSM program are discussed.

The formulation of the optimisation problem is crucial for DSM. The basics on how to build an optimisation problem and get the solution are introduced. The optimisation problems in this thesis work are categorised as integer programing problem. The integer programming optimisation and the GA algorithm are briefed.

Chapter 3 Smart Home Energy System with EV and Solar Water Heater: a Review

EVs have become popular in the past decade in order to reduce greenhouse gas emission in transportation systems. Many countries have established schemes targeting to replace the combustion vehicles with EVs in order to achieve zero emissions after a few decades. It can be predicted that EVs will eventually become the most common vehicle for households in the future. In residential home energy systems, SWH can be utilized to replace EWH and satisfy the daily hot water demand, which can help the end user to reduce the electricity consumption. Since the switching status of EV and SWH can be controlled, the impacts of their operation on energy saving should be investigated from the DSM perspective. In this chapter, the basic scheme and controlling strategies of EV and SWH systems have been reviewed. A new technology on EV discharging, V2G, is introduced. Section 3.1 presents fundamentals of EV and V2G technology. Some studies related to the optimal charging management of EVs are reviewed in Section 3.2. In Section 3.3, the studies of EV charging and discharging strategies involving V2G are reviewed. The fundamentals of SWH is presented in Section 3.4, and relevant existing studies of load management for domestic water heating is reviewed in Section 3.5.

3.1 Introduction of EV and V2G

3.1.1 Fundamentals of electric vehicle

An EV uses one or more electric motors for propulsion instead of a traditional petrol/diesel engine. A rechargeable battery that can be charged by common household electricity is used to store the energy to power the electric motors. When the accelerator pedal is pressed, the power is converted from the DC battery to AC for the electric motor; then the accelerator pedal sends a signal to the controller which adjusts the vehicle's speed by changing the frequency of the AC power from the inverter to the motor. The motor

connects and turns the wheels through a cog. When the brakes are pressed, the motor becomes an alternator and produces power, which is sent back to the battery. The key components of an EV and a schematic are shown in Fig. 3 - 1.



Fig. 3 - 1 A schematic of EV [56]

The early type of electric motor was invented by Anoys Jedlik who created a small electric model car by his new motor in 1828 [57]. In fact, the transportation power is dominated by petroleum-derived fuels for a long time because of the high cost, heavy weight, and short driving range of battery EVs. However, batteries are becoming cheaper and lighter in weight, and the traditional liquid fuel will be eventually replaced because EVs can help to reduce adverse dissemination when they are combined with a broad use of renewable and carbon free energy sources in the transportation sector. EVs can be categorised into several types: hybrid EVs (HEVs), plug-in hybrid EVs (PHEVs) and battery EVs (BEVs) [58].

HEVs are powered by two drive systems, which are gasoline engine with a fuel tank and electric motor with a battery. They start off using the electric motor, then the control system will switch to gasoline engine if vehicle speed rises. Both systems can turn the transmission at the same time, and are controlled by an internal controller which ensures the best running for the driving conditions. HEVs cannot be charged from the electricity grid. All of the electric energy is generated from the gasoline and from the vehicle's own braking system which is called regenerative braking. This is a process that the heat generated from brakes is converted to electricity form to drive the electric motor [58, 59]. PHEVs are also powered by both of the electric motor and the internal combustion engine. However, the battery, which drives the electric motor, can be plugged into the power gird and recharged. The owners can achieve more fuel cost savings from PHEVs than traditional HEVs because of the use of electricity from grid [58, 59].

BEVs are not supported by traditional combustion engine and only powered by electric motor and battery, so they must be plugged into the grid or other external source of electricity to charge the battery. Like other types of EVs, regenerative braking can also help BES to recharge its battery. The pros and cons of different types of EVs are shown in Table. 3 - 1[58, 59].

Table. 3 - 1 Pros and cons of different types of EV[58, 59]

EV types	Pros	Cons
HEVs	 Longer driving distance than BEVs Less fuel consumption and emissions than traditional combustion vehicles 	 Complex mechanical design of both gasoline engine and electric motor Still produces emissions No ability to charge at home The costs of operation are more expensive than BEVs but less than traditional gasoline vehicles
PHEVs	 Longer driving distance than BEVs Less fuel consumption and emissions than traditional combustion vehicle Can be partially charged Very simple mechanics 	 Still produces emissions The costs of operation are more expensive than BEVs but less than HEVs.
BEVs	 No emissions Ability to charge at home Fast and smooth acceleration without noise Much lower cost of operation 	 Shorter driving distance than other vehicles The price of the vehicle is slightly more expensive than other similar level vehicles

3.1.2 Briefs of vehicle to grid technology

The core part of an EV is its battery pack, which could be used as energy storage device. When the electricity in this energy storage is allowed to flow from vehicles to the power grid, it is called "vehicle to grid (V2G)" technology. V2G technology refers to the capability of controllable and bi-directional electrical energy flow between a vehicle and the electrical grid [60]. It also includes vehicle to home or vehicle to building that EV's battery can be used to service household or local building's electrical load without transferring to the power grid.

Some benefits could be achieved through V2G technology. From the perspective of grid or company, V2G can help to provide power to the grid when the demand is high,

and charge the battery of EV when the demand is low. Therefore, both of peak shaving and valley filling can be achieved if charging and discharging of EV are properly controlled. Through the V2G technology, EVs can also be considered as an ESS to suppress the oscillation and peak deviation in grid frequency [61]. In addition, the charging station of EVs can be utilised as renewable energy storage, which can smooth the intermittency of renewable power generation and support the increased use of renewable energy. Therefore, there is no need to build the new energy storage facility and the financial cost of the grid's company can be reduced. On the other hand, EV owners may obtain rewards if the grid company provides an attractive incentive scheme to encourage the participation of V2G. Also, V2G could play a vital role during power outages. It can help the owners support the critical electrical appliances during the outage period.

There are still some doubts when applying the V2G technology, such as whether the battery degradation could be compensated by the power selling price or market incentives, and whether the EV owners are willing to discharge their EVs at a certain time.

3.2 Optimal charging management of EV

In some recent studies, the potential impact of EV charging on distribution network has been investigated, and optimised charging strategies have been developed in order to relieve the pressure on the network. A mathematical model is proposed in [62], which aims to determine the optimal size and site of PHEV charging stations in distribution networks. The objective is to maximise benefits of the distributed system. Several constraints on power qualities have been involved such as the power flow balance, the voltage limits, the thermal limits of substations. The test results show that not only the cost of the distributed system can be reduced through the optimisation, but also the voltage and the load profile can be improved. Though load and price uncertainties are considered in their work, the uncertainty behaviours of the customer, such as departure and arrival time of EV, are lacking. Another study [63] proposes a linear programming method, which controls the charging rate of individual vehicles in order to maximise the total power that can be delivered to the vehicles. In order to ensure that the operation is within network limits, voltage and thermal loading constraints are also involved. Results show that high penetrations of EV can be accommodated on existing residential networks with little or no need for upgrading network infrastructure. This study assumes that all EV batteries have the same capacity of 20kWh, and the objective was to return an average state of charge (SOC) of 99.9% for all EVs. The battery capacities of EVs are, however, different from each other in practice. The higher-capacity EVs could not be guaranteed with charging to the same SOC level as the lower - capacity EV. A decentralised online algorithm is proposed in [64], in which each EV charging rate is calculated and guided through the updating valley level of the utility. Simulation results show that power loss can be reduced, and the value of the online solution is larger with higher penetration compared with the offline solution. Another charging control method is proposed in [65] for the situations where frequent communication with EVs is not possible, and the ideal valley filling can be achieved. In this work, modelling of EV arrivals and departures as random events are also lacking, and the battery state of health is not considered. In [66], EVs are controlled as the DR in order to mitigate the intermittent effects of wind generation. It shows that the grid frequency regulation can be improved, and the cost reduction of the generation can be achieved with 99.5% charging of EVs. The battery capacity of all EVs is assumed to be the same as 16kWh. Also, this study assumes that the charging of EVs are free to control to support reserves and no rewards are given to EV owners. This can be an issue when controlling the EVs as the DR, since the willingness of customers' participation must be considered in practice.

There are studies aiming to minimise the EV charging cost either for the charging station or for the EV owners. For example, a mixed-objective formulation from both system and customer perspectives is proposed in [67], which shows that the valley filling can be successfully achieved for the system and the customer's charging cost can be minimised under TOU rate structure. The paper indicates that the results are validated using actual driving behaviour data from the National Household Travel Survey. In [68], a dynamic programming framework is proposed to determine an optimal charging strategy at parking-lots. The driving behaviours including the arrival time, the departure time and the arrival SOC are modelled as Poisson process. The method has been verified that it can significantly decrease the energy cost for a commercial parking-lot. A charging scheme in the parking station is presented in [69], which satisfies EV charging and coordinates DR programs. In this study, uncertainty arrival behaviours of vehicles are represented as a Gaussian model, and four types of battery capacities are considered. The

results show that the proposed approach can help to maximise the EV numbers for charging and minimise the monetary expense. However, EV may not always be charged at parking-lots, and the EV parking time at home is much longer than parking outside for vehicle owners during 24 hours period. The Poisson distribution or the Gaussian distribution can be inadequate to describe the probabilities that EVs are parked at home.

With integration of renewable energy and ESS, designs of EV charging stations are proposed considering EV car park and renewable resources [70-75]. It's been shown that the utilisation of renewable energies, ESS and DSM would reduce the impact on the grid and increase the profits of the parking lots. A scheme for a PV-powered EV charging station is proposed in [76], in which EVs are classified into three types, premium, conservative and green. The premium EVs are ensured that they are charged to the maximum possible states whenever the EVs leave the charging station. Conservative EVs are charged to the state as set up by the owners. Green EVs are similar to the conservative EVs except that they are allowed to discharge the power. The objective is to reduce the effect of intermittency of the generation and the cost of energy trading for charging station. Simulation results show that increasing penetration of green vehicles can reduce the total energy trading cost by 85% in summer and 82% in winter. Green vehicle owners' charging cost can also be reduced between 42.7% and 49.4%. However, each discharging of the green vehicle will result in additional battery degradation cost, which needs to be considered in the calculation of the owners' charging cost. Another optimisation strategy for EV charging could achieve 51.52% cost reduction for a single EV [77], but the cost of battery degradation and the EV driving behaviours are not considered.

3.3 Optimal charging of EV involving V2G technology

V2G has been considered in many EV charging scenarios. Recent studies on V2G control and optimal charging strategies have focused to reduce the power load fluctuation, frequency fluctuation, voltage variation and uncertain generation of renewable energy. A decentralised V2G control method to suppress frequency fluctuation is proposed in [78], where a battery SOC holder control strategy is presented to maintain battery residual energy, and a frequency regulation charging method is applied to schedule EV charging and provide frequency regulation. In another study [79], a new supplementary load

frequency control (LFC) method is proposed using EV and heat pump water heater (HPWH) as controllable loads. This new LFC method can effectively suppress frequency fluctuation, and reduce the required battery energy storage system (BESS) capacity. To shave peak load and compensate uncertainties of renewable generation, scheduling schemes for V2G operation have been proposed [80-82], with the aim to smooth the fluctuation in load profiles and improve the operation efficiency and grid security. It concludes that V2G can support the grid to shave the peak demand and reduce grid operational costs under suitable energy policy strategies.

Other studies of optimal charging/discharging control of EV concentrate on the cost/benefits of Grid Company or end user. For example, an optimal scheduling of EV charging and V2G at household level is given in [83], which takes into account the cost of battery degradation and price uncertainty. Results of the case studies show that V2G will not happen if the battery degradation cost is larger than the benefits from the grid company. If the battery cost is low and the degradation cost is close to zero, V2G could be attractive to the end users. Therefore, the degradation characteristics play an important role in evaluation of the degradation cost, V2G application, and the pattern of EV charging. Though the relevance of the battery degradation has been revealed, quantitative analysis of the charging-related cost and vehicle usage are missing.

An optimisation charging model proposed in [84] is used to minimise the total energy cost, comprising of V2G integration and DR strategies. The results show that 58% cost reduction can be achieved through the proposed strategy, and meanwhile the consumption load is restricted by peak power limiting DR. However, the battery degradation costs are not considered in their model. In [16], smart charging of EV and V2G is performed to increase the self-consumption of PV from 49% to 87%, and the demand peaks are decrease by 27%-67%. This study also reveals that battery usages will be dramatically increased if V2G is applied; therefore, the benefits of V2G needs to be weighed against this issue. An optimal charge scheduling is proposed in [85] considering V2G technology and relevant battery wear cost. The main objective is to minimise the total charging when the battery degradation costs due to V2G are included. Their results show that the reward value under the assumed FIT can cover the degradation cost, and could encourage the EV owners to participate in V2G program. However, the minimum assumed FIT value, \$0.2/kWh, is too high compared with the realistic value. According

to the government's report of UK, the FIT is ± 0.0485 /kWh, and the electricity price is around ± 0.16 /kWh.

There are doubts on the economic viability of V2G, primarily due to the high cost of discharge to the grid; this is often related to factors such as battery degradation, expensive battery pack and low FIT. V2G service can also lead to reduced life-cycle of an EV. Power aggregators should operate either on pay-as-you-go basis or provide consumer with advanced cash payment in order to attract more EV owners participating in V2G [17]. The rate of return for V2G is not always sufficient to induce widespread V2G participation due to connection capital costs, electricity purchase costs, and battery discharging degradation costs [18]. The EV's battery pack is likely to be replaced more often when V2G service is applied.[19]. Another optimisation investigation in [20] suggests that the battery aging cost induced by V2G exceeds the revenue brought from V2G, and the substantial subsidies are needed to trigger V2G service.

3.4 Solar water heater (SWH) technology and applications

In this section, the basics of solar energy and typical applied technologies including photovoltaic (PV) and solar water heater (SWH) are introduced. The fundamentals of SWH are presented. The benefits, drawbacks and effects on use of SWH are discussed.

3.4.1 Solar energy

Currently, the global electricity consumption is increasing [86]. Large scale power plants usually burn fossil fuel, such as coal, natural gas and oil, to generate electrical power, which induce huge environmental side effects. These drive development for the renewable energy sources, such as wind, solar, wave and tidal, hydropower and biogas. Among these sources, solar energy is more attractive than others due to its abundance and free of cost all across the globe. It is radiant light and heat received from the sun harnessed on earth that has been recognised as the most important renewable energy source [87]. It is considered as the source of all the energy for life in the world. Technologies to utilise the solar energy have been invented, such as solar heating, solar thermal energy, and photovoltaics. In 1890s, the first commercial SWH was made and sold in USA, and SWH is the most worldwide installed solar thermal systems for heating water by the end of 2013 [88-90]. In 1912, the first solar thermal power station was constructed by Shuman in Maadi. In the 1950s, the first commercial PV cells, which can be utilised to convert sunlight into electrical energy, were invented at Bell Labs [91]. As the technology advances, the conversion efficiency of solar PV and SWH become higher, and the instalment prices are reduced. They have been widely used for household applications. Both PV and SWH can help to reduce the electricity consumption of the end user. For example, the end user can install the PV panel to directly generate the electricity power for their own usage. SWH can be utilised to replace EWH and satisfy the daily hot water demand, which can also reduce the electricity consumption. Compared with PV, SWH is much easier to be controlled due to its switching on-off characteristics. In this thesis, the PV generation is considered as a given fixed parameter and SWH is set as the decision variable.

3.4.2 Solar water heater basics

SWHs collect the solar radiation and transfer the energy for water heating. It combines five basic components which are solar thermal collectors, heat transfer system, storage system, control system, and auxiliary hot water system. Solar thermal collector is a device to collect the heat by absorbing solar radiation. Then, the heat energy is absorbed by the heat transfer fluid, such as water, non-freeze liquid, or air, and transferred to heat in the domestic hot water through the heat transfer system. The storage system is used to store the thermal energy in a water type and supply daily hot water consumption. The control system is used to manage the collection, storage, and distribution of the thermal energy. Since hot water peak demand is usually in the morning or late evening and does not coincide with times of maximum solar radiation, the auxiliary hot water system is typically a conventional electric resistance to heat the water [92, 93]. There are two types of SWHs depending on the way the heat transfer is transported: passive systems, and active systems.

The passive systems can also be called natural circulation systems that occur by natural convection and no pumps are employed. They can be further classified into direct and indirect types. In a direct system, the potable water is heated directly in the collector. In an indirect system, the potable water is heated by the heat transfer fluid. Fig. 3 - 2 shows a classical passive system [93].

An active system can also be called forced circulation system that use pumps or fans to circulate the heat transfer fluid through the collector. Similar to passive systems, active systems can also be direct or indirect. The direct active systems use a pump to circulate water directly through collector and into the storage tank, which are usually applied in areas that the temperature of climates do not freeze the water. For the areas where freezing temperatures occur, the indirect active systems will be applied that use pumps to circulate heat transfer fluid through the collectors; then, the heat energy will be transferred from the fluid to the domestic water supply trough heat exchangers. The active systems are usually more expensive than passive systems, and more difficult to retrofit in houses. Fig. 3 - 3 shows a schematic diagram of a direct active system [93].

In this thesis, the passive system is applied because it is less expensive than active system. In addition, it is more reliable and easier to maintain due to there are no electrical components involved and do not rely on pumps and controllers.



Fig. 3 - 2 Diagram of a passive SWH [93]



Fig. 3 - 3 Diagram of an active SWH [93]

3.4.3 Benefits, drawbacks and effects on use of SWH

Since SWH was invented, the potential impacts of its application have been investigated from many studies in different countries, such as the reduction of greenhouse gas, cost savings, payback period, and some drawbacks. In this subsection, the use of SWH and its applications have been reviewed.

The potential application of SWH is investigated in Turkey [94]. It is found that SWH market is still strong without incentives by government. The major factors, which influence the popularisation of SWH, are government financial incentive program, payback period, availability of local dealers, and climatic conditions. The market potential and development of SWH in Algeria is discussed in [95]. It shows that SWH systems have not been sufficiently developed in Algeria due to the availability of natural gas at low price, and the SWH devices which are imported from EU are too expensive. SWHs can be used to reduce peak electricity demand, save on carbon emission, and improve householder's standard in South African [96]. However, householders may abandon using SWH if there are no clear benefits within a few months, or if technical problems occurred. The water used will be increased for users who use heater frequently although the electricity bills can be reduced. This may not be an issue for areas with abundant water resources, but it could be a big issue for the water-scarce area [96]. In Iran, one direct effect on the use of SWH is environmental issue, and the financial support from the government has the most influence on SWH market [97]. The potential benefits from using SWH in Zimbabwe is

discussed in [98]. It is demonstrated that the electricity peak demand in winter and the final energy demand can be reduced by 13% and 27% respectively, assuming a 50%penetration rate of SWH potential demand, and SWH can help to save up to \$250 million in energy cost, and the CO2 emissions can be reduced by 29% over the 25-year period. In Brazil, the reduction of carbon dioxide while using SWH is assessed, and compared with electric showers [99]. It shows that SWH is not useful in hot climactic regions because these areas require much more cooling demand than hot water demand. In another study on SWH use in Brazil [89], the influence of human behaviour is considered. The benefits of SWH in low-income families vary depending on the users and the use of SWH technology. Lack of technological understanding and unable to mix the hot and cold water efficiently become the major factors affecting the use of SWHs. The policy measures are evaluated in Japan on the spread of PV and SWH to reduce carbon dioxide emission from residential sector [100]. The factors that can influence consumer's preferences such as installation cost and energy prices are considered. The public perception must be improved on the fact that the carbon dioxide emission can be reduced considerably by using SWH, and reducing the initial cost is more effective than reducing operating expenditure for carbon dioxide reduction in case of PV.

Two pathways to low carbon energy, SWH and PV, are compared in China [101]. Although SWH technology has received less financial and political support from the central government compared with PV, it can also contribute a lot to low carbon energy since it is applied everywhere across the country, especially in rural areas. The analysis of the comparison between PV and SWH in China is illustrated in [102], with a focus on the cost and benefit for users. The optimal SWH setting area is recommended to be $3-4m^2$ for each residential home. The study shows that only when the solar panel's area is larger than $6m^2$, PV can utilise more solar energy than SWH.

The payback period of SWH in Malaysia and Taiwan are investigated [103] and [104]. Factors of cost and benefit from financial perspective are taken into account. The reduction of harmful gas with SWH application is reported in [103], where it presents that promoting the use of SWH can save large electricity consumption for Malaysia. By comparing SWH and the traditional EWH, it is found that the payback period is shorter if the EWH is substituted by SWH [104].

Benefits		Drav	Drawbacks		tors influencing its application
\succ	Reduce peak electricity demand	≻	The purchase cost is expensive	≻	Government financial incentive
\succ	Reduce carbon emission		if it is exported from EU		programme
≻	Improve householder's life	≻	Users may abandon it for lack	≻	Payback period
	standard		of clear benefits or technical	\triangleright	Availability of local dealers
\succ	Reduce final energy demand		problems	\triangleright	Climatic condition
\succ	Payback period is shorter	\triangleright	Not very useful in hot	≻	Initial installation cost
≻	The market is still strong without		climactic areas	≻	Energy prices
	government incentives	\succ	May result in higher water	≻	Environmental and technological
			consumption		understanding from customer
		\succ	Not competitive if the natural		perspectives
			gas price is low		

Table. 3 - 2 Benefits, drawbacks and impacts of SWH's application

3.5 Load management for domestic water heating

Water heating is one of the major energy consumption all around the world [105]. It occupies 11% of the total residential energy consumption in USA, 14% in EU, 22% in Canada, 25% in Australia and Russia, 30% in Japan, 29% in Mexico, and 27% in China. One traditional way to heat the water is to use EWH. As its operation can be interrupted and the switching status of EWH can be shifted in time, control of EWH may have a large DSM potential. An optimal operation scheduling of EWHs under dynamic pricing is proposed in [106]. Simulation results indicate that total energy cost is reduced around 30% for guaranteed water temperature of 60°C. The energy cost decreases with higher upper temperature set point because the higher temperature set point leads to higher thermal energy stored in hot water in tank. The optimal scheduling enables EWH to warm the water during the lower energy prices period. In [107], an optimised control of the domestic hot water heaters for DSM is implemented and tested, and it shows an averaged reduction of cost approximately of 12%.

According to the daily hot water usage data from UK government report [108](Fig. 3 - 4), the peak period of hot water usage is between 7:00am to 9:00 am in the morning. The daily solar radiation data are selected from the area of Glasgow in UK, which are sourced from [109], as shown in Fig. 3 - 5. It can be seen in conjunction with the daily solar radiation curve in Fig. 3 - 5 that the hot water can be heated by solar radiation

during the peak period if EWH is substituted by solar thermal type of heater such as SWH; therefore, less electricity energy will be consumed and the total energy cost will be reduced further.



Fig. 3 - 4 Average daily hot water consumption [108]



Fig. 3 - 5 Average hourly solar radiation in each month [109]

The effects of disconnections of residential water heaters are examined in [110], which indicates an additional averaged consumption increase after the disconnections due to the payback effect. Thus, an optimal scheduling with the constraint of a smooth load curve is needed. The influence of electricity consumption on the performance of SWH is considered to be huge [111]. How to optimally control the SWH and other residential loads for DSM are required. In [112], a method of diminishing marginal utility for optimal design of SWH is proposed, where the optimal size of the solar collector area and the storage tank volume are determined to be $194m^2$ and $89m^3$ for the case study system.

The study is based on a building site rather than a single house situation. For residential home systems, the benefits could be further improved if economic hybrid PV-thermal systems and additional ESS are considered.

3.6 Summary

In this chapter, the EV and V2G technologies relevant to the thesis work are introduced including optimal charging management of EV with and without V2G. Some doubts on use of V2G technology are presented. Furthermore, the fundamentals of solar thermal system are introduced. Some existing studies of load management for domestic water heating are reviewed.

Chapter 4MinimisationofHouseholdEnergyCostConsideringESSandEVDrivingBehaviour

EVs can be applied to reduce the (peak time) pressure on grid via the V2G technology. There is a constant debate on whether V2G is an economically viable option due to its high battery degradation cost. This question will be addressed, in this chapter, by considering whether customers could benefit from V2G programme under different FITs. Section 4.1 introduces the infrastructure of the residential home energy system. The power model is established in Section 4.2, where the EV driving behaviour is considered. The cost model including the key factors is described in Section 4.3. Case studies and results are discussed in Section 4.4. A summary is given in Section 4.5.

4.1 Residential home energy system

The residential loads in a typical home energy system are usually cannot be controlled, and the renewable generation is not included. In a smart home energy system, a PV generation is assumed to be installed. In order to adapt the variability and intermittency of PV generation, energy storage system (ESS) is very important to the smart home energy system, which can help the end user to storage the extra electricity power generated from PV and output power in an emergency situation or during the peak load period. Therefore, the infrastructure of the residential home energy system is illustrated in Fig. 4 - 1, where the components include a PV power system, an EV, an ESS, the lumped other residential loads, and the power grid. In Fig. 4 - 1, $P_1 > 0$ is the output power from the PV system, P_2 is the EV charging or discharging power, and P_3 is the input/output power of the ESS. Both P_2 and P_3 are variables to be controlled in the system. The remaining load of the residential home is represented by P_4 ($P_4 < 0$). The smart home system is connected to the grid; the power to and from the grid is represented by P_5 . The physical topological structure of the entire residential system is shown in Fig. 4 - 2.



Fig. 4 - 1 Infrastructure of the residential home energy system



Fig. 4 - 2 Physical topological structure of the entire residential system

In Fig. 4 - 1, the arrows towards the optimisation (controller) block are defined as the positive direction indicating that the power P_j flows into the block. In this study, the total operational cost of the energy system is considered over a 24 hours' time period with the sampling period of 1 hour. In this case, there are 24 time periods or slots, each being denoted by index *i* (*i* = 1,2,...,24). The initial time period is assumed to start from 8:00 am where the time slot is set to be *i*=1. The units for all power flows are in kW. The basic relationship of the power flows can be described by the following power balance equation.

$$\sum_{j=1}^{5} P_j(i) = 0 \quad (i = 1, 2, \cdots, 24)$$
(4.1)

It should be noted that $P_2(i)$ and $P_3(i)$ are the two variables that can be adjusted through optimisation, while $P_1(i)$ and $P_4(i)$ are fixed given information, and $P_5(i)$ can be calculated from (4.1) when the other four power factors are available.

4.2 Residential home system power model

4.2.1 Power for PV, ESS and EV with V2G

The PV power can be described by

$$P_{1}(i) = \lambda \cdot I(i) \cdot A \tag{4.2}$$

Here I(i) is the solar irradiance (kW/m²); λ (0 < λ < 1) is the solar irradiance to electricity conversion efficiency which is selected as 15% in this work; A is the solar panel area (m²).

The charging/discharging power of EV and the power corresponding to on-off status of ESS can be described by the following expression.

$$\tilde{P}_{2}(i) = \begin{cases} +a \cdot \tau, & \text{if EV is discharing} \\ -a, & \text{if EV is charging} \\ 0, & \text{otherwise} \end{cases}$$
(4.3)

$$P_{3}(i) = \begin{cases} +a \cdot \tau, & \text{if ESS is discharing} \\ -a, & \text{if ESS is charging} \\ 0, & \text{otherwise} \end{cases}$$
(4.4)

a (kW) is a positive real number used for both EV and ESS; τ is the discharging efficiency accounting for the energy conversion loss, which is selected as 90% according to [113]. An intermediate term \tilde{P}_2 is used in (4.3) to refer to EV charging and discharging power without consideration of driving behaviours. In this work, the charging/ discharging powers for EV and ESS are assumed to be constant within each time slot. The levels of battery charging/discharging are considered to be the same for ESS and EV.

To simplify the model, when the vehicle is under the driving status, the discharging power is assumed to be constant and equal to the discharging power for V2G; therefore, variations of the power due to the change of driving behaviours such as acceleration or deceleration are ignored. That being said, the corresponding energy charged/discharged can be determined by the averaged charging/discharging effects.

4.2.2 Power model for EV considering driving behaviour

In order to characterise the uncertain nature of a car usage, a practical survey of vehicle daily usage is designed. The different driving purposes and usage in time are included in the survey. Information such as the driving distance for each drive, starting time and duration when the vehicle is away from home, time duration for parking outside, has been collected. Details of the survey and results are presented in Appendix. Then the raw data is processed and used to calculate the following probabilities:

 $p_{k1}(i)$: the probability of EV parking and plugging in at home within time slot i;

- $p_{k2}(i)$: the probability that the EV is under driving within time slot i; and
- $p_{k3}(i)$: the probability that the EV is parking outside within time slot *i*.

The sum of $p_{k1}(i)$ and $p_{k2}(i)$ is equal to 1, i.e.

$$p_{k1}(i) + p_{k2}(i) + p_{k3}(i) = 1 \tag{4.5}$$

In this study, these variations have been analysed from a real questionnaire (see Appendix A), in which the data has been transformed to the corresponding probabilities (see 4.3). Then, the mathematical expectation of the driving power consumption within each time slot is calculated.

The power flow from EV to the controller depends on whether the battery is under charging or discharging operation. Considering the driving probabilities, the EV power can be described as follows:

$$P_{2}(i) = \tilde{P}_{2}(i) \cdot p_{k1}(i) - Q_{EV} \cdot p_{k2}(i) \cdot \sum_{l=1}^{N_{d}} \frac{d(l) p_{l}}{d_{total}}$$
(4.6)

where d_{total} is the maximum distance (km) the EV can drive with a fully charged battery, Q_{EV} is the EV battery capacity (kWh). The total number of drives is represented by N_d , d(l) is the *l*-th driving distance and p_l is the probability corresponding to d(l) $(l=1,...,N_d)$. When an EV is parking outside, it is assumed to be disconnected from the grid; therefore, no charging or discharging activities take place, and the term $p_{k3}(i)$ can be ignored for this situation. More details on EV driving behaviour can be seen in the survey results in Appendix.

As can be seen from (4.6), the second term is the mathematical expectation of driving power consumption. The daily use of a vehicle has many uncertainties for various reasons. When the EV's owner plugs out the vehicle from the charging slot leaving home, the remaining SOC of the EV will be different from when it is plugged back to the slot after the driving. The application of V2G technology will be influenced when considering these variations.

4.3 Calculations of vehicle driving/parking probabilities

The results of survey are shown in Appendix. A. According to the data in Table A. 1 and Table A. 3, the probability of EV being used outside of home for different purposes under certain time can be calculated. Therefore, the probability of EV being used outside,

 $p_{k2}(i) + p_{k3}(i)$, for each sampling time can be obtained, and, $p_{k1}(i)$ can be calculated through (4.5), as shown in Table. 4 - 1.

Time period	7:00- 10:00	10:00-14:00	14:00-17:00	17:00-20:00	20:00-23:00	After 23:00
$p_{k2}(i) + p_{k3}(i)$	28.24	15.21	15.19	27.88	10.19	2.77
$p_{_{k1}}(i)$	71.76	84.79	84.81	72.12	89.81	97.23

Table. 4 - 1 Probabilities of EV usage (normalised in percentage for each column)

According to the Table A. 1 and Table A. 2, the driving distance d(l) and the probability of different driving distance, p_l , can be obtained, which are shown in Table. 4 - 2.

Table. 4 - 2 Probability of different driving distance (normalised in percentage for each row)

d(l),	< 1	1-3	3-5	5-10	10-20	20-40	40-80	80- 120	120- 160	160- 200	200+
miles								120	100	200	
p_l	10.47	22.52	18.9	15.55	9.86	6.58	5.62	4.52	1.04	1.21	3.73

According to the data in Table A. 1, Table A. 4 and Table A. 5, the probability of driving time and outside parking time can be calculated, as shown in Table. 4 - 3and Table. 4 - 4, respectively. Assume that the inbound return driving time is the same as the outbound driving time for each trip, then it is calculated that the mean of the time that an EV is driving on road in a 24 hour period is around 140 minutes. The mean of the outside parking time can also be obtained, which is around 158 minutes. Therefore, when the EV is not plugged in at home, the probability of driving and parking outside can be approximately calculated, which are 46.94% and 53.06% respectively.

Table. 4 - 3 Probability of different driving time (normalised in percentage for each row)

Driving time	< 10 mins	10 -20 mins	20 -30 mins	30 mins-1	1 -2 hrs	2 -3 hrs	4 hrs
duration (one way)				hr			
Probability	12	25	19	18	9	5	12

Table. 4 - 4 Probabilities of different outside parking time (normalised in percentage)

Parking time	< 10 mins	10 -20	20 - 30	30 mins -1	1 -2 hrs	2 -3 hrs	3 -5 hrs	6 hrs
duration		mins	mins	hr				
Probability	10	10	9	11	16	14	9	21

According to Table. 4 - 1, and the probability that the EV is driving on the road at time point i, both $p_{k2}(i)$, and $p_{k3}(i)$, can be obtained, which are shown in Table. 4 - 5. Table. 4 - 5 Probability of EV being outside of home (normalised in percentage)

Time period	7:00-10:00	10:00-14:00	14:00-17:00	17:00-20:00	20:00-23:00	After 23:00
$p_{k2}(i)$	13.26	7.14	7.13	13.08	4.78	1.30
$p_{k3}(i)$	14.99	8.07	8.06	14.79	5.41	1.47

4.4 Residential home cost model

The purpose of design is to minimise the total operational cost of the energy system, over a 24 hours' time period, via charging and discharging scheduling, so that the user's profit is maximised. The cost function, C_{total} , consists of the following parts: the degradation costs of the EV battery (C_{EV}) and the ESS battery (C_{ESS}) due to charging and discharging, the EV battery cost caused by driving ($C_{EV-outside}$), the cost to purchase electricity from the grid ($C_{purchase}$), and also the income from selling electricity to the grid (C_{income}) that is deducted from the total cost.

$$C_{total} = C_{EV} + C_{ESS} + C_{EV-outside} + C_{purchase} - C_{income}$$
(4.7)

4.4.1 EV and ESS battery degradation cost model

According to [114], a battery degradation consists of three parts: temperature related degradation, SOC related degradation, and the DOD related degradation. The temperature related degradation is caused by the fluctuations in charging power or

discharging power. It is negligible for the EV parking at home and for the ESS since their charging/discharging current and voltage are usually stable. Therefore, only the SOC and DOD related degradation are considered in the following.

SOC-related degradation cost

For both EV and ESS, the hourly cost of SOC - related degradation can be represented as follows [114]:

$$C_{SOC}(i) = C_0 \cdot \frac{\alpha \cdot SOC(i) - \beta}{CF_{max} \cdot y \cdot 365 \cdot 24}, \tag{4.8}$$

where C_0 is the battery purchase price, SOC(i) is the value of SOC within time slot *i*. The two parameters, α and β , are determined by linear regression from the measured data, which are calculated to be $1.59 \cdot 10^{-5}$ and $6.41 \cdot 10^{-6}$, respectively [115]; CF_{max} is the maximum capacity fade constant which is assumed to be 20% after *y* years of battery use [115].

The relationship between charging /discharging power *P* and the SOC can be determined as $SOC = SOC_{IN} - P/Q$ [116], where SOC_{IN} is the initial value for the SOC, *Q* is the battery capacity. Since the driving probabilities will be considered, the EV's SOC can be derived from [116] as:

$$SOC_{EV}(i) = SOC_{IN}^{EV} - \frac{1}{Q_{EV}} \sum_{\rho=1}^{i} P_2(\rho)$$
 (4.9)

From (4.8) and (4.9), the SOC - related degradation daily cost of the EV parking at home within the i-th time period is represented as follows:

$$C_{SOC}^{EV}(i) = \frac{C_0^{EV}}{CF_{max} \cdot y \cdot 365 \cdot 24} \left(\alpha \cdot \left(SOC_{IN}^{EV} - \frac{1}{Q_{EV}} \sum_{\rho=1}^{i} P_2(\rho) \right) - \beta \right)$$
(4.10)

DOD-related degradation cost

The DOD - related degradation cost per discharging cycle (£/cycle) can be expressed by $C_0 \cdot \left(\frac{\Delta L_{DOD}}{N_{total}}\right)$ where N_{total} is the total number of discharging cycles corresponding to ΔL_{DOD} [114]. ΔL_{DOD} is the DOD of a particular discharging cycle, which can be obtained as $P_{\text{EV-Discharge}}/Q_{EV}$, where $P_{\text{EV-Discharge}}$ is the total discharging power for V2G during the day. It can be expressed as:

$$P_{\text{EV-Discharge}} = \sum_{i=1}^{24} P_2(i) \cdot \text{sgn}(P_2(i)) \cdot$$
(4.11)

and the sign function $sgn(\cdot)$ is defined as:

$$\operatorname{sgn}(x) = \begin{cases} 1, & \text{if } x \ge 0; \\ 0, & \text{otherwise.} \end{cases}$$
(4.12)

The value of N_{total} is related to the DOD [117], as depicted in Fig. 4 - 3. In this study, the polynomial function between N_{total} and ΔL_{DOD} is obtained through curve fitting, as represented by (4.13).

$$N_{total} = f(\Delta L_{DOD}) = (1.06 \cdot (\Delta L_{DOD})^4 - 2.80 \cdot (\Delta L_{DOD})^3 + 2.66 \cdot (\Delta L_{DOD})^2 - 1.07 \cdot (\Delta L_{DOD}) + 0.17) \cdot 10^5$$
(4.13)



Fig. 4 - 3 Battery lifecycle number vs. DOD from manufacturer's data [117]

Hence, the DOD degradation cost per discharging cycle can be written as $C_0 \frac{\Delta L_{DOD}}{f(\Delta L_{DOD})}$. Assume that there are n_1 discharging cycles during 24 hours, with each of them corresponding to a DOD degradation cost, then the DOD related degradation daily cost is represented as follows:

$$C_{DOD} = \sum_{m=1}^{n_1} \frac{\Delta L_{DOD,m}}{f\left(\Delta L_{DOD,m}\right)} C_0 \tag{4.14}$$

Following (4.14), the DOD related degradation cost of EV parking at home within time period i, denoted by $C_{DOD}^{EV}(i)$, can be written as:

$$C_{DOD}^{EV}(i) = \sum_{m=1}^{n_1} \frac{\Delta L_{DOD,m}(i)}{f(\Delta L_{DOD,m}(i))} C_0^{EV} \cdot p_{k1}(i)$$
(4.15)

Similarly for the ESS, the SOC related degradation cost and the DOD related degradation cost within the *i*-th time period, denoted by $C_{SOC}^{ESS}(i)$ and $C_{DOD}^{ESS}(i)$, respectively, are written as follows:

$$C_{SOC}^{ESS}(i) = \frac{C_0^{ESS}}{CF_{max} \cdot y \cdot 365 \cdot 24} \left(\alpha \cdot \left(SOC_{IN}^{ESS} - \frac{1}{Q_{ESS}} \sum_{\rho=1}^{i} P_3(\rho) \right) - \beta \right)$$
(4.16)

$$C_{DOD}^{ESS}(i) = \sum_{m=1}^{n_1} \frac{\Delta L_{DOD,m}(i)}{f(\Delta L_{DOD,m})} C_0^{ESS}$$
(4.17)

where $Q_{\rm ESS}$ is the ESS battery capacity.

The overall battery degradation cost of EV and ESS over 24 hours is the sum of degradation cost from SOC and DOD for both EV and ESS at each hour, thus

$$C_{EV} + C_{ESS} = \sum_{i=1}^{24} \left(C_{SOC}^{EV}(i) + C_{DOD}^{EV}(i) + C_{SOC}^{ESS}(i) + C_{DOD}^{ESS}(i) \right)$$
(4.18)
4.4.2 EV cost due to driving

In this thesis, it has been assumed that EV has a 20% maximum capacity fade constant value which is represented by CF_{max} . The whole EV's battery lifetime is represented by y years; therefore, in order to calculate the degradation costs due to EV driving outside of home, we assume that the average daily battery degradation cost, $C_{EV-average}$, is the total daily degradation cost, which can be calculated by the following equation (4.19)

$$C_{EV-average} = C_0 \cdot \frac{CF_{max}}{y \cdot 365} \tag{4.19}$$

Considering the driving probabilities, $C_{\rm EV-outside}$ can be calculated as follows

$$C_{EV-outside} = C_{EV-average} \cdot \left(1 - \prod_{i=1}^{24} \left(1 - p_{k2}(i) \right) \right)$$
(4.20)

where $1 - \left(\prod_{i=1}^{24} (1 - p_{k2}(i))\right)$ is the probability of using vehicle outside home during the day.

4.4.3 Purchasing costs and selling incomes from/to grid

The total electricity purchasing cost, $C_{purchase}$, is determined by $P_5(i)$ only where $P_5 = -\sum_{j=1}^{4} P_j$, therefore

$$C_{purchase} = \sum_{i=1}^{24} P_5(i) \cdot \operatorname{sgn}(P_5(i)) \cdot \mu(i)$$
(4.21)

where $\mu(i)$ is the unit electricity price.

Here only the positive values of $P_5(i)$ are considered in the purchasing cost.

According to [118], the FIT value, consists of two parts: the generation tariff, $v_{generation}(i)$, and the export tariff, $v_{export}(i)$. The generation tariff is a fixed payment from the electricity supplier for every kWh of electricity the renewable system generates, such as PV in this work. The export tariff is the unit payment for every kWh of electricity the system exports back to the electricity supplier. Therefore, the income C_{income} from selling electricity to the grid is determined by the negative values of $P_5(i)$ and the total electricity generation from the PV system, and the daily income can be written as follows:

$$C_{income} = \sum_{i=1}^{24} P_5(i) \cdot \left(\text{sgn}(P_5(i)) - 1 \right) \cdot \upsilon_{\text{export}}(i) + \sum_{i=1}^{24} P_1(i) \cdot \upsilon_{\text{generation}}(i)$$
(4.22)

4.4.4 Overall cost function and the optimisation problem

Taking (4.18), (4.21) and (4.22) into (4.7) will give the total cost over a daily period. The cost within each time period is a function of P_2 and P_3 . The displayed SOC in an EV's panel is from 0% to 100%, which corresponds to the allowed driving distance ranging from 0 to the maximum, respectively. In this study, the following two constraints are considered for the displayed SOC.

$$SOC_{\min}^{EV} \leq SOC_{EV-display}(i) \leq SOC_{\max}^{EV}$$
 (4.23)

$$SOC_{\min}^{ESS} \leq SOC_{ESS-display}(i) \leq SOC_{\max}^{ESS}$$
 (4.24)

In addition, when the EV is plugged in to the slot at home, the SOC value at the end of the control period, i.e., at i = 24, needs to be larger than the SOC required for the next driving. This constraint is termed as the *minimal terminal SOC constraint* and is given as follows:

$$SOC_{EV-dispaly}(24) \ge \frac{d_{exp}}{d_{total}} \cdot 100 = SOC_{LB}^{EV}$$
 (4.25)

where d_{exp} is the expected driving distance over the next driving period. It can be taken as the expected driving distance over the next day if the period is 24 hours. The ratio of d_{exp}/d_{total} represents the required SOC for the next driving period, which is defined as the *lower bound of the terminal SOC*, denoted as SOC_{LB}^{EV} .

Taking all the above constraints into account, the following optimisation problem is formulated to minimise the total operating cost of the energy system.

$$\min \mathcal{C}_{total} \left(P_2, P_3 \right)$$

subject to: $SOC_{\min}^{EV} \leq SOC_{EV} \left(i \right) \leq SOC_{\max}^{EV}$
 $SOC_{\min}^{ESS} \leq SOC_{ESS} \left(i \right) \leq SOC_{\max}^{ESS}$
 $SOC_{EV} \left(24 \right) \geq SOC_{LB}^{EV}$
 $\sum_{j=1}^{5} P_j (i) = 0$ (4.26)

In this work, the optimisation problem is to minimise the end user's energy cost, where the decision variables are the charging/discharging status of EV and ESS. Therefore, the optimisation problem is an integer programming problem. The GA algorithm has been applied to solve this problem. A flow diagram of the optimisation model has been shown in Fig. 4 - 4.



Fig. 4 - 4 A flow diagram of the optimisation model

4.5 Case studies: implementation, results and discussions

In this section, the optimal charging/discharging operations of EV and ESS for the residential home energy system are studied under different scenarios.

4.5.1 System specifications

Two types of tariff are considered and compared in the case study; namely, the fixed tariff and the time-of-use (TOU) tariff. The fixed tariff is $\pounds 0.152$ per kWh, sourced from the Energy Shell Company. The 2014 TOU tariff is taken from the Scottish and Southern Energy Public Limited Company [119]. The peak time period is from 17:00 to 20:00, and the corresponding tariff is $\pounds 0.234$ /kWh. The night time period is from 01:00 to 07:00, and the corresponding tariff is $\pounds 0.061$ /kWh. The rest of the day is regarded as the off-peak time period and the tariff is $\pounds 0.117$ /kWh. The two tariffs are illustrated in Fig. 4 - 5.



Fig. 4 - 5 Comparison of the fixed tariff and the TOU tariff

The solar PV rating is less than 10kW, and the solar panel area for PV generation is selected to be $16m^2$. Usually, the export tariff is regulated by the government, which is 5.03 pence/kWh in UK. In addition, if the PV system is less than 10 kW, the generation tariff is 3.93 pence/kWh up to now [118]. Each EV's battery price, shown in Table. 4 – 6, is estimated from the data in [120], which equals approximately 30% of the total projected price. The TESLA Powerwall is selected for the ESS battery storage. It has the capacity of 6.4kWh and the cost of \$3,000 (approximately £2,300) per pack. Also, the ESS capacity can be expanded through the connection to multiple TESLA Powerwalls.

The grid voltage supply to the residential house is assumed to be 230V, and the charging/discharging current for EV and ESS are all 10A. In this chapter, the whole battery life of EV is assumed to be 15 years, so the average daily degradation costs, $C_{EV-average}$, due to driving can be obtained as shown in Table. 4-6.

Table. 4 – 6 Price of EV battery packs

Brand	TESLA	TESLA	BMW I3	SMART	LEAF
Capacity (kWh)	75	100	33	17.6	40
Projected EV Price (£)	64700	86200	34070	21465	21990
Evaluation Price of Battery(£)	19410	25860	10221	6440	6597
Unit Capacity Cost (£/kWh)	258.8	258.6	309.7	365.8	164.9
$C_{EV-average}$ (£)	0.70	0.94	0.37	0.23	0.24

The data for other residential loads such as lighting, cooking ,heating, washing/drying and heating, excluding EV and ESS, are sourced from [33], which is shown in Fig. 4 - 6. The solar raidation is selected from [109], which is the average hourly solar radition in January and it is shown in Fig. 4 - 7.



Fig. 4 - 6 Other residential loads during the selected day [33]



Fig. 4 - 7 Solar radiation in January [109]

4.5.2 Numerical studies under different terminal SOC constraints and initial SOC of EV

In this case study, the initial values of the displayed SOC in the ESS is fixed as 0%. The selected EV model is BMW I3, for which the battery pack's price is approximately \pounds 10,221. The operational cost minimisation problem in (4.26) is solved under different values of SOC_{LB}^{EV} .

Both fixed tariff and TOU tariff are applied, and the minimal operation costs under different levels of SOC_{LB}^{EV} are shown in Fig. 4 - 8 for fixed tariff and Fig. 4 - 9 for TOU tariff, respectively. It can be seen that user's cost increases with the increase of SOC_{LB}^{EV} provided that $SOC_{LB}^{EV} > SOC_{IN}^{EV}$. This is because the EV needs to be charged in order to ensure a higher remaining SOC at the end of the control period. If $SOC_{LB}^{EV} < SOC_{IN}^{EV}$, then the user's minimal operational cost stays at the same minimum value as shown in Table. 4 - 7 and Table. 4 - 8, which means no charging or discharging takes place. The optimised results on $P_2(i)$ and $P_3(i)$ show that there is no discharging either from EV or from ESS when $SOC_{LB}^{EV} < SOC_{IN}^{EV}$, which means that there is no power sold back to the grid under this circumstances. This is because the value of the export tariff is too low, and the degradation cost of battery discharging cannot be compensated under such a low tariff. In addition, it can be observed that the operational cost under the given TOU tariff is lower than that of the fixed tariff.



Fig. 4 - 8 Impact of different SOC constraints and initial SOC of EV under fixed tariff



Fig. 4 - 9 Impact of different SOC constraints and initial SOC of EV under TOU tariff

The impact of the initial SOC of EV, SOC_{IN}^{EV} , to the minimal operational cost is studied next. Here SOC_{LB}^{EV} is fixed at 50%. SOC_{IN}^{EV} is assumed to take a set of values between 0 to 100%, and all other system parameters are kept the same as in Section 4.5.2. The results are also shown in Fig. 4 - 8 and Fig. 4 - 9.

It can be observed that the operational cost to charge the same amount of energy to the battery will increase when the initial SOC increases. For example, according to the results of the fixed tariff in two scenarios shown in Table. 4 - 7 and Table. 4 - 9, the optimal operational cost is £4.68 to charge the EV from $SOC_{IN}^{EV} = 0$ to $SOC_{EV} = 50\%$; however, it can be seen from Table. 4 – 9 that a slightly higher cost of £4.73 is needed to

charge the EV from $SOC_{IN}^{EV} = 50\%$ to $SOC_{EV} = 100\%$, although in both cases, charging of the battery requires the same amount of energy. The underlying reason can be understood from (4.8), where it shows that a lower initial SOC will lead to a lower battery degradation cost. For the TOU tariff, the results give a similar conclusion that the operational cost decreases with the increase of the initial SOC.

SOC_{LB}^{EV} (%)	Cost (£)	SOC_{LB}^{EV} (%)	Cost (£)
0	2.23	60	2.76
10	2.23	70	3.34
20	2.23	80	3.74
30	2.23	90	4.37
40	2.23	100	4.73
50	2.23		

Table. 4 - 7 Minimal operational cost under the fixed tariff and different SOC_{LB}^{EV}

Table. 4 - 8 Minimal operational cost under the TOU tariff and different SOC_{LB}^{EV}

SOC_{LB}^{EV} (%)	Cost (£)	SOC_{LB}^{EV} (%)	Cost (£)
0	1.65	60	1.91
10	1.65	70	2.24
20	1.65	80	2.6
30	1.65	90	2.96
40	1.65	100	3.33
50	1.65		

Table. 4 - 9 Daily operational cost under different initial SOC with the fixed tariff

Initial SOC (%)	Cost (£)	Initial SOC (%)	Cost (£)
0	4.68	60	2.23
10	4.25	70	2.23
20	3.66	80	2.23
30	3.32	90	2.23
40	2.69	100	2.23
50	2.23		

Initial SOC (%)	Cost (£)	Initial SOC (%)	Cost (£)
0	3.24	60	1.65
10	2.86	70	1.65
20	2.47	80	1.65
30	2.17	90	1.65
40	1.9	100	1.65
50	1.65		

Table. 4 - 10 Daily operational cost under different initial SOC with the TOU tariff

4.5.3 Impacts of different EV models

In this section, the influence of EV models is examined. The tariffs and the specifications for the PV and the ESS are the same as in the previous discussions. The initial value of SOC is set to be 50% for all EV models, and 0% for the ESS. In order to keep the minimum cost and the maximum residual SOC for EV, the lower bound of the terminal SOC for EVs is selected to be the same as the initial SOC, i.e., $SOC_{LB}^{EV} = SOC_{IN}^{EV} = 50\%$.

With the fixed tariff of $\pounds 0.152/kWh$, Table. 4 - 11 shows the daily minimal operational cost under different choices of EV models. From the customer's cost perspective, the most economic EV model is the 17.6kWh SMART, which has the minimal daily operational cost of $\pounds 2.23$ and its purchase cost of the battery pack is $\pounds 6,440$. There are two reasons that can explain why SMART can achieves the lowest daily cost. Firstly, according to (4.8), if the battery purchase cost is higher, the degradation cost will be higher. However, this does not imply that the minimal operational cost of an EV with higher battery capacity will always be larger than that with lower battery capacity. Another important factor is the driving efficiency of EV. In Table. 4 - 11, the driving efficiency is shown in the third column, and it is evaluated by the driving distance per kWh denoted by u_m . It can be observed that a higher value of u_m provides a lower daily operational cost. Therefore, the daily cost depends on both of the EV battery price and the driving efficiency.

EV models	Operational cost (£)	Unit driving distance u_m (miles/kWh)
BMW I3	2.23	4.28
SMART	2.17	5.63
LEAF	2.21	4.20
TESLA (75)	2.64	4.05
TESLA (100)	2.71	3.93

Table. 4 - 11 Daily cost for different types of EV models under fixed tariff

Next, the TOU tariff is employed to check the impacts of EV models, and Table. 4 - 12 shows the resulting daily minimal operational cost under different battery capacities. It can be observed again that the 17.6kWh SMART is again the most economic one.

Table. 4 - 12 Daily cost for different EV models under TOU tariff

EV models	Operational cost (£)
BMW I3	1.65
SMART	1.58
LEAF	1.61
TESLA (75)	2.02
TESLA (100)	2.10

Fig. 4 - 10 illustrates the operational cost comparison between the fixed and the TOU tariffs. It can be seen that the 17.6kWh SMART has the lowest operational cost under both tariffs, and the given TOU tariff is much more economical compared to the given fixed tariff.



Fig. 4 - 10 Daily operational cost under different battery capacities

4.5.4 Impacts of different $v_{export}(i)$ of FITs

The v_{export} value of FIT will affect end users whether to participate in V2G market or not. In the following simulation, the initial SOC values are set to be 100% for both EV and ESS (fully charged). The lower bound of terminal SOC is selected as 0% so as to check the maximum possible amount of energy discharged and obtain the minimum value V2G profitable. After comparing which allows different EV of v_{export} charging/discharging results from the optimisation, it is found that EV will start to discharge power only if the export tariff is larger than the threshold value of £0.25/kWh for the fixed tariff, and £0.15/kWh for the TOU tariff. The simulation result shows that the export tariff has to be at least £0.96/kWh in order to achieve a positive net income under a fixed tariff, and $\frac{1}{2}0.60$ /kWh under a TOU tariff. These results are shown in Table. 4 - 13 and Table. 4 - 14 for the fixed and the TOU tariffs, where a negative value of operational cost implies there is a positive net income. Fig. 4 - 11 and Fig. 4 - 12 show the results of EV and ESS charging/discharging status for the TOU tariff, where '+1' means discharging, '-1' means charging, and '0' means no charging or discharging taking place.

It can be found from Fig. 4 - 11 that the EV discharging time is within the electricity consumption peak time period. This can help to shave the peak load for the end user, so it can be concluded that the charging/discharging profiles of EV and ESS are influenced by the electricity tariff. In addition, the charging/discharging profiles of EV is also

influenced by the probability of EV parking at home. According to the survey data, the probability of EV parking at home during night time is much higher than during the day time; therefore, the EV charging/discharging can be operated more often during the night time.

Compared with EV, such a parking-at-home probability factor is not applicable to ESS, so the electricity tariff is the only factor that influences the scheduling of ESS charging/discharging. When the electricity tariff is fixed, there are in general many random solutions for ESS satisfying all the constraints, including the SOC constraints. Therefore it is of less interest to discuss the fixed tariff situation. As can be seen from Fig. 4 - 12, ESS is charged during the off-peak time when the tariff is the lowest, and discharged during the peak-time when the tariff is the highest. This verifies that the results calculated through the model are reasonable for practical applications, and the optimisation solution is more efficient under the TOU tariff than that under the fixed tariff. The results of minimal with respect to v_{export} is compared for fixed and TOU tariffs in Fig. 4 - 13. It shows that the TOU tariff provides more benefit for the user.



Fig. 4 - 11 EV charging/discharging profile under TOU tariff



Fig. 4 - 12 ESS charging/discharging profile under TOU tariff



Fig. 4 - 13 Impact of export tariff to daily minimal operational cost

Table. 4 - 13 Daily minimal operational cost under fixed tariff

FIT (£)	Cost (£)	FIT (£)	Cost (£)
0.05	2.23	0.3	2.12
0.06	2.23	0.4	1.98
0.08	2.23	0.5	1.76
0.1	2.23	0.6	1.41
0.15	2.23	0.8	0.72
0.2	2.23	0.9	0.13
0.25	2.19	0.93	-0.01

FIT (£)	Cost (£)	FIT (£)	Cost (£)
0.05	1.65	0.2	1.55
0.06	1.65	0.3	1.4
0.08	1.65	0.4	1.19
0.1	1.65	0.5	0.54
0.15	1.62	0.6	-0.01

Table. 4 - 14 Daily minimal operational cost under TOU tariff

4.5.5 Impacts of different probabilities of EV plugging in at home

In this case, the initial SOC value is set at 50% and the lower bound of the terminal SOC is 60%. Therefore, no matter how the other factors are varied, such as load change characteristics, PV generation characteristics and so on, the EV must be charged at least 10% (60%-50%) in order to satisfy the constraint. To investigate the impacts of different probabilities of EV parking at home, three sets of values are applied, 50%, 80%, and the probability value calculated from the survey. The electricity tariff is selected as TOU, which is shown in Fig. 4 - 5.

Results of EV charging status and daily cost for different probabilities are shown in Fig. 4 - 14, Fig. 4 - 15, Fig. 4 - 16 and Table. 4 - 15. It can be seen from these results that EV is only charged during night time period with the TOU tariff regardless of the parking probabilities. This is because the night time tariff is the lowest during the 24 hours period (1:00am to 7am). In addition, the results show that with the lower parking probabilities at home, it requires more times for charging the same amount of power, and this will lead to higher cost for the end user.





Table. 4 - 15 Daily cost of different plugging-in probabilities

Probability of plugging-in	EV charging times	Total cost (£)
50%	4	1.92
80%	3	1.84
Survey result	2	1.78



For the EV driving on the road, the expected value of the driving distance can be calculated from mathematical expectation formula, which is 28.7 miles according to the survey data in Table A. 1and Table A. 2. In addition, the probabilities of EV driving on the road within each time slot, $p_{k_2}(i)$, are shown in Table. 4 - 5. Taking the BMW i3 as an example, if the EV is fully charged, the total driving distance is 188 miles according to the manufacture's report, so the expectation value of EV driving discharge, $E\{DOD_{driving}\}$ can be obtained through $p_{k_2}(i)$ *28.7/188, as shown in Table. 4 - 16. In this study, the output power for V2G service is assumed to be fixed at 2.3kW, so the DOD due to V2G for BMW i3 will be 7.0% for each sampling time, i.e., 2.3/33. The probability of EV parking and plug in at home at time point i, $p_{k_1}(i)$, are shown in

Table. 4 - 1, from which the expectation value of EV discharged at home (V2G), $E\{DOD_{V2G}\}$ at time point *i* can be obtained and listed in the following table.

Table. 4 - 16 Battery degradation cost due to V2G if it happens

Time Period	7:00 - 10:00	10:00 - 14:00	14:00 - 17:00	17:00 - 20:00	20:00 - 23:00	After 23:00
$\mathrm{E}\left\{ DOD_{driving} \right\}$	2.02%	1.08%	1.08%	1.99%	0.72%	0.20%
$\mathrm{E}\left\{ \textit{DOD}_{V2G} \right\}$	5.02%	5.94%	5.94%	5.05%	6.29%	6.81%
Degradation cost percent due to V2G	71.31%	84.62%	84.62%	71.73%	89.73%	97.15%

4.5.7 Comparison between the cases with and without considering battery degradation cost

Here we consider the scenario when the battery degradation cost is ignored in the operational cost minimisation, and compare it with the previous cases where the battery degradation cost is included. This comparison is made with a focus on the impact of different EV capacities under the TOU tariff. All the initial values are the same as those in subsection 4.5.1. The results are shown in Table. 4 - 17 and Fig. 4 - 17.



Fig. 4 - 17 Impact of battery degradation to daily minimal operational cost

EV Models	Operational cost with battery degradation (£)	Operational cost without battery degradation (£)
BMW I3	1.65	1.23
SMART	1.58	1.22
LEAF	1.61	1.25
TESLA (75)	2.02	1.27
TESLA (100)	2.10	1.28

Table. 4 - 17 Comparison of daily minimal operation cost

From Fig. 4 - 17, it can be observed that the daily cost of users is much lower when the battery degradation cost is ignored. However, this is not realistic because battery degradation always exists during charging and discharging processes. According to the results in Section 4.5.4, the given export tariff value cannot compensate the battery degradation cost for V2G service. It can be seen from results in Table. 4 - 16 that the V2G degradation costs occupy a large portion of the total battery degradation costs in all time periods; therefore, the optimisation without considering battery degradation cost is not feasible for the benefit of the end users.

4.5.8 Comparison of optimised strategy with baseline solutions

In this section, the user's daily cost under existing non-optimised operational schedule is compared with the optimised cost. ESS is not considered here as it is not popular in most of the non-optimised residential uses. The EV charging cost for driving, $C_{EV-driving}$, depends on how much the electricity power is charged to the battery, while the charging amount can be represented by the change of SOC. In addition, the expected charging amount of SOCs for different EVs in order to fulfil the tentative daily driving distance can be represented as $\sum_{l=1}^{N_d} d(l) p_l / d_{total}$; therefore, the daily driving costs can be expressed as:

$$C_{EV-driving} = \mu \cdot \sum_{l=1}^{N_d} \frac{d(l) p_l}{d_{total}}$$
(4.27)

where μ is the electricity price.

The battery degradation cost also needs to be added into the total cost. The average daily battery degradation costs for driving usage, $C_{EV-average}$, are calculated through (4.19). The overall non-optimised daily cost is calculated to through(4.28), which is also the baseline for cost reduction analysis.

$$C_{total}^{non-opt} = \sum_{i=1}^{24} P_5(i) \cdot \left[\operatorname{sgn}(P_5(i)) \cdot \mu(i) - \left(\operatorname{sgn}(P_5(i)) - 1 \right) \cdot \upsilon_{\exp ort}(i) \right] - \sum_{i=1}^{24} P_1(i) \cdot \upsilon_{generation}(i) + C_{EV-driving} + C_{EV-average}$$

$$(4.28)$$

Under the fixed tariff, the costs of selected EVs without optimisation are listed in Table. 4 - 18. The costs comparison with and without optimization are shown in Table. 4 - 19, from which it can be seen that the total daily cost without optimisation is much higher than the optimised cost. The highest cost saving is found to be 18% for TESLA (100) in under the fixed tariff.

Table. 4 - 18 Different EVs' daily charging cost without optimisation (fixed tariff)

EV	BMW I3	SMART	LEAF	TESLA(75)	TESLA(100)
Capacity(kWh)	33	17.6	40	75	100
$C_{\rm EV-driving}$ (£)	0.77	0.85	0.98	0.98	1.03

EV Models	Total cost without optimisation (f)	Total cost after optimisation (f)	Cost reduction (%)
BMW I3	2.49	2.23	10%
SMART	2.43	2.17	11%
LEAF	2.56	2.21	14%
TESLA (75)	3.04	2.64	13%
TESLA (100)	3.32	2.71	18%

Table. 4 - 19 Total daily cost comparison (fixed tariff)

For TOU tariff, the daily charging costs for EVs without optimization are listed in Table. 4 - 20. The total daily cost saving is calculated to be $42\% \sim 48\%$ if the non-optimised charging time includes peak hours, and it is $18\% \sim 19\%$ if the non-optimised charging happens during night only, as shown in Table. 4 - 21. The obtained cost reduction in this work is higher than the case studies in [121], where the cost savings is up to 15.5%.

EV models Off-peak time (£) Night time (£) Peak time (£) BMW I3 1.18 0.59 0.32 SMART 1.31 0.65 0.36 LEAF 1.52 0.760.41 TESLA (75) 1.51 0.75 0.41 **TESLA** (100) 1.59 0.79 0.43

Table. 4 - 20 Different EVs' charging costs without optimisation (TOU tariff)

Table. 4 - 21 Total daily cost comparison (TOU tariff)

EV models	After optim. (£)	Non-optim. Peak time charging (£)	Cost reduct.	Non-optim. Off-peak time charging (£)	Cost reduct.	Non-optim. night time charging (£)	Cost reduct.
BMW I3	1.58	2.88	45%	2.23	29%	1.93	18%
SMART	1.65	2.87	42%	2.28	27%	2.01	18%
LEAF	1.61	3.10	48%	2.34	31%	1.99	19%
TESLA (75)	2.02	3.60	44%	2.84	29%	2.50	19%
TESLA (100)	2.10	3.75	44%	2.95	29%	2.59	19%

In addition, the total energy cost under the fixed tariff is higher than that under TOU tariff. It can be concluded that the EV owner is likely to have more benefit under the TOU tariff than that under the fixed tariff. The comparison on charging/discharging degradation cost impacts before and after optimisation are summarised in Table. 4 - 22.

Table. 4 - 22	Comparison of	charging/	'discharging/	degradation	costs with a	nd without	optimisation
---------------	---------------	-----------	---------------	-------------	--------------	------------	--------------

Cost impacts	With optimisation	Without optimisation				
EV	• For fixed tariff, EV is charged when the parking	• EV charging happens				
charging/discharging	probability is high, which will lead to lower cost.	randomly throughout 24 hours no				
eninging, alleringing	• For a TOU tariff, EV is charged when the tariff is	matter which tariffs are applied.				
	the lowest; and EV has higher probabilities of charging when	• NO V2G function even				
	the probabilities of parking at home is higher.	when FIT is high enough to				
	• V2G could happen with high FIT	compensate the degradation cost.				
EV degradation	 Depends on the optimisation solution. For 	 Mainly results from the 				
11 + degradation	example, if more discharging happens with higher FIT, the	amount of SOC charged/discharged				
	degradation cost will be higher. However, the total cost will be	and the daily driving distance.				
	reduced. If FIT is unchanged, the degradation cost will be					
	similar to the value without optimisation.					
ESS	• For fixed tariff, ESS will be charged/discharged	 EV charging happens 				
	randomly.	randomly throughout 24 hours no				
8,8,88	• For TOU tariff, ESS will be charged when the	matter which tariffs are applied.				
	tariff is the lowest, and discharged when the tariff is high.	• NO V2G				



4.6 Summary

In this chapter, an operational cost minimisation modelling framework is established for a residential energy system comprising of an EV, an ESS, a PV system, other residential loads, and the grid connection. To address the uncertain customer driving behaviours, the probabilities of different driving time periods are obtained through a set of survey data. The survey was developed to cover various factors including driving purposes, driving time periods and distance, and also EV parking time, etc.

The design objective is to minimise the overall cost of the residential energy system during a day through optimal scheduling of charging and discharging of EV and ESS.

Extensive simulation studies have been conducted. The impacts of the initial and the terminal SOC values are tested, where the results show that the total operational cost remains at the same minimum value if the initial SOC value is larger than or equal to the lower bound of the terminal SOC. This is because the existing v_{export} is not large enough to compensate for the battery degradation cost, and thus, there is no power return either from ESS to home supply or from EV through V2G. Also, the overall cost measure will increase when the initial SOC is smaller than the lower bound of the terminal SOC. The overall cost for the end user will be slightly smaller if charging the same amount of energy to EV from a lower initial SOC.

Several EV models are considered, and the economical choice has been explored. Different impacts of v_{export} of FIT are discussed. The results show that the EV will only start to discharge to grid when the v_{export} is larger than or equal to ± 0.25 /kWh for fixed tariff, and ± 0.15 /kWh for TOU tariff in the case study. It can be concluded that V2G can only be profitable to end users when v_{export} is larger than a certain threshold. This threshold could be decreased if the battery degradation cost can be reduced in the future. Furthermore, a comparison is made with the non-optimised operation. It shows that the proposed optimisation can achieve cost savings from 9% to 15% under the selected fixed tariff, and from 18% to 48% under the given TOU tariff.

Chapter 5 Household Energy Cost Optimisation with Renewable Technologies: Solar Thermal and Photovoltaic Systems

In this chapter, the household energy optimisation has been extended to include solar energy supply. Solar energy has been regarded as one of the most abundant renewable sources. Photovoltaic (PV) systems transfer solar energy into electric form. PV-T is a hybrid system that converts solar radiation into electrical and thermal energy. For residential users with limited solar panel area, there are two options to achieve economic use of solar energy. One is to install both PV and solar water heater (SWH) systems, called PV-SWH, another one is to apply the PV-T system. Both options of PV-SWH and PV-T systems need to be discussed.

The modelling framework established in Chapter 4 has been expanded to include SWH systems. In addition to scheduling of EV and ESS charging/discharging, the switching on/off status of SWH is also controlled in DSM. The remaining part of this chapter is organised as follows. Section 5.1 introduces the two options of applying solar energy for water heating at residential homes. Section 5.2 presents the solar thermal model for water heating. The household energy system model that involves SWH is described in Section 5.3. Results and analysis from case studies are discussed in Section 5.4. Conclusions are given in Section 5.5.

5.1 Introduction to PV-SWH and PV-T systems

5.1.1 PV-SWH system

SWHs collect the solar radiation and transfer the energy for water heating. Details of SWH basics have been introduced in subsection 3.4. Because of the temperature of hot water should be within certain specified range for the ease of usage, too large area of SWH collectors is unnecessary at some high solar radiation area or during summer season. If the installation area for solar collector panels is limited for household users, combination of PV and SWH system can utilize the limited solar energy more efficiently to achieve economic energy savings for end user; so, this hybrid PV-SWH system is applied in this study.

5.1.2 PV-T system

PV-T is the system that convert solar radiation into electrical and thermal energy [122]. It combines both of solar cell and solar thermal collector, and converts solar radiation into electricity and captures the remaining energy for water heating usage. Therefore, PV-T collectors provide an efficient way to use solar energy and is more efficient than PV or solar thermal alone. The efficiency of PV cells will drop with the increase of the operating temperature of PV panels; however, water circulation in PV-T system can help to carry heat away from the PV cells, thereby cooling the cells and thus improving the electrical efficiency. Although PV-T system is an effective way to utilise the solar energy, the thermal component of this system will be under-performed compared to the solar thermal collector. Several studies have investigated the performance of PV-T system, and compared it to PV system or solar thermal system. In [123], a mathematical model of PV-T system is developed to calculate the system performance. The results show that the average thermal and electrical efficiency of the hybrid PV-T are 65% and 13.7%, respectively. In [124], it is concluded that there is a 2% increase in electrical efficiency of PV cells in PV-T system, and a 5% decrease in the thermal component of PV-T system compared to traditional SWH system. In [122], the electrical conversion efficiency of the PV-T system is improved about 10% compared to the PV system, and the maximum thermal efficiency of the system was found to be 51%.

Comparisons of PV-T with SWH or PV alone are seen in a few literature above, but the comparison of PV-T with combined SWH and PV is missing. In this work, the cost reductions between PV-T and PV-SWH will be investigated for residential users.

5.2 Solar thermal model for water heating

The collector, storage tank, loads and heat losses have been considered in this model [93]. To simplify the model, hot water in the storage tank is assumed fully mixed or non-stratified, and the storage tank is kept at a uniform temperature. Besides, the hot water

outlet flow rate is assumed to be constant, the make-up water temperature is also constant, and the energy losses at the heat exchanger and pipes are ignored. The energy balance of the storage tank can be given as (5.1):

$$MC_{p} \frac{\mathrm{d}T_{s}}{\mathrm{d}t} = P_{u}\left(t\right) + P_{e}\left(t\right) - P_{l}\left(t\right) - P_{tl}\left(t\right)$$

$$(5.1)$$

where T_s is the temperature inside the tank; M is the mass of storage capacity (kg); C_p is the specific heat of water, which is $4,187J/(kg \cdot °C)$. The collected solar power delivered to the storage tank is represented by P_u and the power removed from the storage tank to load is P_l . P_{tl} is the power loss from storage tank, and P_e is the auxiliary electricity heat power. According to the energy system model in (4.26), there are 24 time periods or slots and each being denoted by index i ($i = 1, 2, \dots, 24$), and the sampling time is 1 hour; therefore, (5.1) can be rewritten in discrete form as :

$$MC_{p}(T_{s}(i+1)-T_{s}(i)) = P_{u}(i) + P_{e}(i) - P_{l}(i) - P_{l}(i)$$
(5.2)

The collected solar power delivered to the storage tank can be given by [125]:

$$P_u(i) = A_C F_R \left(S(i) - U_L \left(T_s(i) - T_a(i) \right) \right)$$
(5.3)

where A_c is solar collect area (m²), S(i) is absorbed radiation at time point i, F_R is the heat removal factor, which is 0.88 in this study and sourced from [126], and U_L is the product of the overall heat loss coefficient which is selected as 6.6W/ (m² · °C) [125]. The storage tank hot water's temperature at time i is represented by $T_s(i)$, and $T_a(i)$ is the ambient temperature where the storage tank is located.

The absorbed radiation can be expressed as [125],:

$$S(i) = (\tau \alpha) I(i) \tag{5.4}$$

where I(i) is solar irradiance, and $\tau \alpha$ is transmittance absorbance product which is selected as 0.86 [127].

The power removed from the storage tank to load can be written as:

$$P_{l}(i) = \left(\dot{m}C_{p}\right) \cdot \Delta t \cdot \left(T_{s}(i) - T_{mu}(i)\right)$$
(5.5)

where \dot{m} is the mass flow rate (kg/hour), $T_{mu}(i)$ is the make-up water temperature, Δt is equal to the sampling time 1 hour. The storage tank power loss is given by [125]

$$P_{tl}(i) = (UA)(T_s(i) - T_a(i))$$
(5.6)

where U is the storage tank loss coefficient and A is the tank area, their product (UA) is 2.8 W/°C on operation status and 1.9 W/°C on stand-by status [128].

From (5.3) to (5.6), the temperature inside the tank, in (5.2), can be rewritten as

$$T_{s}(i+1) = T_{s}(i) + \frac{1}{MC_{p}} \Big[A_{C}F_{R}((\tau\alpha)I(i) - U_{L}(T_{s}(i) - T_{a}(i))) + P_{e}(i) - (\dot{m}C_{p}) \cdot \Delta t \cdot (T_{s}(i) - T_{mu}(i)) - (UA)(T_{s}(i) - T_{a}(i)) \Big]$$

$$(5.7)$$

5.3 Household energy system model involving SWH

The expanded smart home system is similar to the residential home system in Chapter 4. Again, the arrows towards the controller are defined as the positive direction which is the same as the home energy system in Chapter 4. The smart home energy system involving SWH is shown in Fig. 5 - 1.



Fig. 5 - 1 Smart home energy system involving SWH

In Fig. 5 - 1, $P_1 > 0$ is the output power of the PV system, P_2 is the EV charging or discharging power, and P_3 is the input/output power of the ESS. P_e is the power of the back-up electric element in the SWH. P_2 , P_3 and P_e are decision variables to be controlled in the optimisation design. The remaining load of the residential home is represented by P_4 ($P_4 < 0$). The smart home system is connected to the grid and the input and output power to and from the grid is represented by P_5 . The operation time period of the home system is considered as 24 hours with the sampling period of 1 hour; therefore, there are 24 time periods or slots, each being denoted by index i ($i = 1, 2, \dots, 24$). The initial time period is assumed to start from 8:00 am which corresponds to i = 1. The power balance equation of the smart home system can be described as in (5.8).

$$\sum_{j=1}^{5} P_j(i) + P_e(i) = 0 \quad (i = 1, 2, \dots, 24)$$
(5.8)

It should be noted that P_2 , P_3 and P_e are the three variables that can be controlled through the model. The expressions of P_2 and P_3 have been formulated in Chapter 5, which are shown in (4.3), (4.4) and (4.6). The back-up electric element's power, P_e , is expressed as follows.

$$P_{e}(i) = \begin{cases} -\kappa, & \text{if water heated by SWH} \\ 0, & \text{otherwise} \end{cases}$$
(5.9)

The purpose of design is also to minimise the total operational cost of the energy system over a 24 hours' time period; therefore, the end user's profits can be maximised. The cost function, C_{total} , consists of the following parts, which is the same as (4.7): the cost to purchase electricity from the grid ($C_{purchase}$), the degradation cost of the EV battery (C_{EV}), the degradation cost of the ESS battery (C_{ESS}), the EV battery cost caused by driving ($C_{EV-outside}$), and also the income from selling electricity to the grid (C_{income}). In this chapter, the battery degradation cost models of EV and ESS are the same as Chapter 4. The electricity purchasing cost and the income from selling electricity to the grid are also the same as in Chapter 4, which are shown in (4.21) and (4.22). The values of $P_5(i)$ is calculated by $P_5 = -(\sum_{j=1}^{4} P_j + P_e)$. The total cost over the control period, C_{total} , while considering the variable P_e , can be expressed as:

$$C_{total} = C_{EV} + C_{ESS} + C_{EV-outside} + \sum_{i=1}^{24} \left[P_5(i) \cdot \operatorname{sgn}(P_5(i)) \cdot \mu(i) - \tau \cdot P_5(i) \cdot \left(\operatorname{sgn}(P_5(i)) - 1 \right) \cdot \upsilon_{FIT}(i) \right]$$
(5.10)

The cost within each time period is a function of P_2 , P_3 and P_e . The displayed SOC in an EV's panel is from 0% to 100%, which corresponds to the allowed driving distance ranging from 0 to the maximum, respectively. The two constraints for the displayed SOC of EV and ESS are considered as shown in (4.23) and (4.24). To ensure that the EV has enough power for next driving period, the minimal terminal SOC constraint should be given as well, which is the same as in (4.25). Furthermore, the comfort hot water temperature for human is around 40°C. The hot water outlet temperature of the cylinder is usually set to be 50 ~ 65°C, then use cold water to mix to around 40°C during shower. The hot water temperature in the storage tank should be confined in a certain range in order to satisfy the hot water demand throughout the day [116]. The following constraint is applied.

$$\left|T_{s}\left(i\right) - T_{expected}\left(i\right)\right| \le Z \tag{5.11}$$

where Z is the permissible error range of the temperature; $T_{expected}(i)$ is the expected hot water's temperature at time period i. Taking all the above factors into account, the following optimisation problem is formulated to minimise the the total operating cost of for the smart home energy system.

$$\min C_{total}(P_2, P_3, P_e)$$
subject to: $SOC_{\min}^{EV} \leq SOC_{EV}(i) \leq SOC_{\max}^{EV}$

$$SOC_{\min}^{ESS} \leq SOC_{ESS}(i) \leq SOC_{\max}^{ESS}$$

$$SOC_{EV}(24) \geq SOC_{LB}^{EV}$$

$$\sum_{j=1}^{5} P_j(i) + P_e(i) = 0$$

$$\left| T_s(i) - T_{expected}(i) \right| \leq Z$$
(5.12)

As can be seen from (4.3), (4.4) and (5.9), the decision variables can be considered as the 0/1 or (0,1,-1), which makes an integer programming problem and the same with Chapter 4. However, the model built in Chapter 5 is non-linear optimisation problem. According to the literature review in Chapter 2, GA has the ability to deal with complex problems, and it can deal with various types of optimisation problems whether the objective functions are linear or non-linear, integer or real. Matlab has a built-in function for GA, which is applicable to mixed integer nonlinear programming problems. Thereofore, the GA algorithm has been applied again to solve the optimisation problem through MATLAB tool box. A flow diagram of the optimisation model included SWH has been shown in Fig. 5 -2.



Fig. 5 - 2 A flow diagram of the optimisation model including SWH

5.4 Case studies: implementation, results and discussion

In this section, the smart home system, which is depicted in Fig. 5 - 1, will be studied in the optimisation framework for different scenarios. The relevant input data, such as daily load curve, hot water demand, and solar radiation and so on are collected from 5.4.1.

5.4.1 System specifications

Same as in Chapter 4, two types of tariffs are considered in the following case studies, the fixed tariff and time-of-use (TOU) tariff. Both of these tariffs are sourced from the same references in subsection 4.5.1, as shown in Fig. 4 - 5.

The solar PV's generation tariff and FIT are taken from [46, 82], and the solar PV rating is selected as less than 10kW. The brand and type of the EV is Tesla Model S P100, the battery capacity is 100kWh. According to Table. 4 - 6, the battery price of this EV is approximately equal to £25,860. Furthermore, another product of Tesla, which is Powerwall, is selected as the ESS. Each Powerwall has the capacity of 6.4kWh and cost \$3,000 (approximately £2,400). The grid voltage supplied to this home is the standard household AC voltage of UK which is 240V, and the charging / discharging current of EV and ESS are all assumed equal to 10A. The power of the back-up electric heater is

1.1kW for which the rated voltage is equal to the standard home voltage and the current is 5A. According to [129], the smallest area of solar panel is around 16 m^2 , so the maximum radiation absorbed area for both of SWH and PV systems are set as 16 m^2 . The storage tank's volume for SWH is 80L.

The average hourly residential load curve is shown in Fig. 5 - 3, which is sourced from UK official government's report [33]. The average hourly solar irradiance is sourced from [109], where the area is near Glasgow, UK. The selected months are January for winter case and July for summer case, as shown in Fig. 5 - 4 and Fig. 5 - 5. The average hourly hot water consumption is sourced from[108], as shown in Fig. 5 - 6. The make-up water for the SWH are usually 8°C in winter and 15°C in summer. According to report [130], the average daily indoor ambient temperature are 18.3°C in winter and 21°C in summer, which are used for the case studies.



Fig. 5 - 3 Average hourly load variation during a day [33]



Fig. 5 - 4 Average hourly solar radiation during a day in January [109]



Fig. 5 - 5 Average hourly solar radiation during a day in July [109]



Fig. 5 - 6 Average daily hot water consumption [108]

In the following case studies, the initial SOC of EV and ESS are set as 80% and 0%, respectively. The terminal SOC value of EV is set as 80%. The expected temperature for each sampling time period is set as 50° C.

5.4.2 Analysis of factors that directly influence the hot water temperature

In this subsection, the factors that directly influence the hot water temperature are analysed. The selected solar collected area is $0m^2$ for SWH and 16 m^2 for PV system. In this simulation, the selected season is winter, the initial water temperature of the storage tank is set as 8°C. The simulation length is 48 hours, the results are shown in Fig. 5 - 7



Fig. 5 - 7 Hot water temperature for winter season (48hours)

It shows in Fig. 5 - 7 that since the initial temperature is low, the hot water's temperature keeps on increasing, in the first 4 hours, in order to reach the zone in (5.11). Once the water temperature is close to the expected 50°C, it fluctuates around this value. In the constraint in (5.11), the constant Z is set as 2°C, so the hot water's temperature value is only allowed to fluctuate 2°C above and below the expected value. In the simulation, the temperature variation exceeds this range. The main reason is that the selected sampling time Δt (1 hour) is too long for an effective adjustment. There are two ways to solve this problem. One is to shorten the sampling time Δt . This is not practical in the simulation since many other data collected are sampled hourly, such as solar

radiation, water consumption, and load curve, etc. Besides, it is arguable if the hourly data is simply averaged to half form or quarter form. Another way is to increase the constraint band. In the next simulations, the temperature of the hot water for local usage is allowed to fluctuate $5^{\circ}C$, i.e., Z = 5.

According to subsection 5.4.1, the total solar collect area is limited to 16 m^2 , so if the collect area for SWH needs to be increased, PV area will be decreased the same amount that is increased in the SWH. Fig. 5 - 8 show the running results with different areas of SWH and PV in winter. It can be seen from Fig. 5 - 8, during the peak solar radiation time, the water temperature increases extremely high with larger area of SWH, and largely exceeds the constraint value. The maximum temperature of water is 100° C, the maximum area for SWH can observed as 9.6 m².



Fig. 5 - 8 Temperature results with different areas of SWH and PV (winter case)

The results for summer period are shown in Fig. 5 - 9, where the maximum SWH area is dropped to $3.2m^2$. From both results in winter and in summer, it can be concluded that the absorbed solar radiation is a key factor that directly influences the hot water temperature when SWH is applied. Also, the results prove that large applicable area for SWH system is not necessary in high solar radiation area or in summer season.



Fig. 5 - 9 Temperature results with different areas of SWH and PV (summer case)

Another factor which directly influences the water temperature is the hot water consumption at each time period. To investigate this influence, a winter case is selected. The SWH area is $4.8m^2$ and the PV area is $11.2m^2$. The hot water consumption is assumed to the same at all time during one day in order to see the temperature change for different daily consumptions. As can be seen from the results shown in Fig. 5 - 10, the average water temperature in a day decreases when the hot water consumption increases.



Fig. 5 - 10 Average hourly hot water consumption (L)

5.4.3 Comparison for different areas of SWH and PV

In this subsection, impacts of SWH and PV are analysed. The selected season is winter and the tariff is fixed. To test the impact of PV and SWH separately, PV's area is set as $0m^2$ at first, which means only SWH is used. Fig. 5 - 11 shows that the daily cost is decreased with the increase of the area of SWH.



Fig. 5 - 11 Daily cost with different areas of SWH

Then, the SWH's area is set as constant, which is $9.6m^2$. Without considering the total area constraint, the PV's area is varied from 1.6 m^2 to 9.6 m^2 . The daily costs results are shown in Fig. 5 - 12, from which it can be seen that the cost also decreases with the increase of the PV area.



Fig. 5 - 12 Daily cost with different areas of PV

Next consider the situation that the total area for collecting solar radiation is limited by $16m^2$. If user wants to apply SWH and PV together, the PV's area will be decreased by the same amount increased in SWH area. The optimal selection, under which the user's cost is minimum, between SWH area and PV area needs to be determined. Comparing Fig. 5 - 11 with Fig. 5 - 12, it can be observed that larger area of SWH seems to result in higher cost reduction than PV. It can be expected that SWH is more efficient than PV when used for water heating. However, this does not mean that a larger area of SWH is the more cost saving option for the user. This is because the daily hot water consumption is not unlimited, excessive area of SWH will be wasted. Fig. 5 - 13 shows the daily cost comparison in a winter day, under two tariffs, when different areas of SWH and PV are applied. It can be seen from Fig. 5 - 13, if the selected tariff is the fixed tariff, the minimum cost is $\pounds 2.22$ when the optimally selected areas for SWH and PV are $4.8m^2$ and $11.2m^2$, respectively. If the tariff is TOU, the minimum cost is $\pounds 1.82$ and the areas of SWH and PV are $6.4m^2$ and $9.6m^2$, respectively. Fig. 5 - 14 shows the optimised cost results when the selected season is summer. As can be seen from Fig. 5 - 14, no matter which tariff is applied, the best option is $1.6m^2$ for SWH and $14.4m^2$ for PV. Comparing the cost between two different tariffs in both Fig. 5 - 13 and Fig. 5 - 14, the user will obtain more profits if the TOU tariff is applied.



Fig. 5 - 13 Cost comparison of diffrerent SWH's area in winter



Fig. 5 - 14 Cost comparison of diffrerent SWH's area in summer

Fig. 5 - 15 and Fig. 5 - 16 show the hot water's temperature against time when the tariff is TOU. In summer time, the hourly water temperature fluctuates around the expected temperature, and the variations are mostly within the acceptable range, when 108
the SWH area is set to be 0 m^2 and 1.6 m^2 . In winter time, the suitable SWH area is up to 4.8 m^2 .



Fig. 5 - 15 Hot Water temperature curve for TOU tariff in winter (different SWH area)



Fig. 5 - 16 Hot water temperature curve for TOU tariff in summer (different SWH area)

5.4.4 Analysis of tank volume, seasonal impacts to SWH area

In this section, the fixed tariff is applied in the simulation. The specific heat capacity c can be described by the ratio of the heat added to (or removed from) an object to the resulting temperature change as follows:

$$c = \frac{E}{M * \Delta T} \tag{5.13}$$

where E is the energy change (J), M is mass of object (kg), and ΔT is the temperature change (°C). The object for SWH is water, the specific heat capacity c is a constant. Assume the temperature change ΔT is constant, then it can be found that the larger mass of water needs more energy added or removed from water. When the energy change Eis fixed, larger mass of water will result in less change of temperature. Therefore, the volume of the storage tank in SWH system is another factor that influences the hot water temperature, the user's cost, and the optimal selection of SWH collecting area. Fig. 5 - 17 shows the maximum SWH's area under different volumes of storage tanks, ranging from 80L to 240L.



Fig. 5 - 17 Comparison of different volumes of storage tank

From the results in Fig. 5 - 17, it can be seen that larger tank volume can absorb more energy from the solar radiation so the applicable SWH area can be larger. Results on daily costs in winter are shown in Fig. 5 - 18, when different storage volumes and different SWH areas are applied. The best match of SWH and PV, which can achieve the minimum daily cost, can be observed from these figures and Table. 5 - 1.



Fig. 5 - 18 Comparison of daily cost for different storage volume and different SWH area in winter

Table. 5 - 1 Optimum match of SWH and PV for different storage volume in winter

Storage Volume (L)	80	120	160	200	240
PV area (m^2)	11.2	11.2	9.6	9.6	8
SWH area (m^2)	4.8	4.8	6.4	6.4	8
Cost (£)	2.22	2.07	1.98	1.88	1.83

As can be seen from Table. 5 - 1, the minimum cost for the end user decreases with the increase of the storage volume. In addition, larger storage volume needs more SWH area to achieve the optimal cost. The best trade-off between SWH and PV's area are shown in the above table. As can be seen from Fig. 5 - 18, the cost is decreased with the increasing area of the SWH. After reaching the minimum cost, the cost will increase if the SWH's area is further increased. The reason is that the SWH's area is already big enough for the water heating usage at the minimum cost point. If the area is increased further, it will waste the available solar panel's area which can be utilised for PV. This result is consistent to the conclusions in subsection 5.4.2 that unnecessary large SWH's area is not suitable for the high solar radiation's area or summer season.

The solar radiations are different at different time of the year; therefore, the optimal areas of SWH and PV for different months are calculated to be different, as shown in Table. 5 - 2. It can be seen that larger area of SWH is required in the low solar radiation months which is autumn/winter period from October to February. The area of SWH is relative low during the spring/summer period from March to September. In order to

satisfy the hot water demand throughout the whole year, the average value of SWH's area during the whole year has been selected as the recommended SWH area, which is 30% of total area of the solar panel.

However, in practice, once SWH and PV are installed, their areas cannot be arbitrarily changed; otherwise, the labour costs would be much higher than the savings of energy costs.

Table. 5 - 2 Optimal areas of SWH and PV for different months

Month	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
PV Area	70%	70%	80%	80%	90%	90%	90%	90%	80%	80%	70%	70%
SWH Area	30%	30%	20%	20%	10%	10%	10%	10%	20%	20%	30%	30%
Cost (£)	2.22	1.15	0.16	-0.56	-0.83	-0.72	-0.61	-0.38	0.09	1.51	2.18	2.28

5.4.5 Switch on-off of SWH

According to the above analysis, the area of SWH is selected as 30% of the total available area for solar panel. Using this area setting, the solutions of SWH back-up electricity switch on/off status are shown in Fig. 5 - 19 for summer, and in Fig. 5 - 20 for winter. As can be seen from the results, in order to guarantee the daily hot water demand, the back-up electricity will be switched on more often in winter than in summer. This is mainly because the solar radiation is much less in winter. In addition, no matter during summer or winter, the SWH back-up electricity is switched on more often during night time, when the hot water demand still exists but there is no solar radiation. In this case study, the solutions are obtained based on the average daily hot water consumption from multiple end users, which is shown in Fig. 5 - 6. However, the habits of hot water consumption are different from case to case, the optimal solutions for each single end users will also be different.



Fig. 5 - 19 SWH back-up switch on/off status in July



Fig. 5 - 20 SWH back-up switch on/off status in January

5.4.6 Comparison with PV-T hybrid system

In this subsection, the options of PV-T and PV - SWH in cost reduction has been discussed. The storage tank's volume is 80L, the selected EV is TESLA MODEL S 100. The thermal part of PV-T system model is assumed similar to SWH model in (5.7). The electrical conversion efficiency of the PV-T system is selected to be 10% higher than the PV system as suggested in [122]. The thermal efficiency of the PV-T system is 5% lower than the SWH system sourced from [124]. Therefore, for the PV-T mathematical model, the PV power equation (4.2) and the absorbed radiation equation (5.4) should be rewritten as:

$$P_1(i) = \lambda \cdot I(i) \cdot A \cdot 110\% \tag{5.14}$$

$$S(i) = (\tau \alpha) \cdot I(i) \cdot 95\% \tag{5.15}$$

The minimum daily cost of the end user is calculated by the optimisation route in (5.12). Table. 5 - 3 shows the annual cost for two different hybrid systems. Table. 5 - 4 113

show the daily cost results in each month. It can be seen that the cost of PV-T is lower than the PV-SWH system. The end user can make profit with the PV-T system is installed. However, the initial investment cost of PV-T is much higher than the traditional PV or SWH system. Whether the PV-T system can benefit the end user from long-term perspective should be analysed. In this thesis, details of relevant financial analysis are presented in next chapter.

Table. 5 - 3 Annual cost comparison between PV-T and PV-SWH

PV-T Annual cost (£)	-140.5
PV-SWH Annual cost (£)	197.4

Table. 5 - 4 Daily cost comparison between PV-T and PV-SWH for different month (£)

Month	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
PV-T Cost	1.92	0.61	-0.72	-1.96	-2.53	-2.22	-1.98	-1.52	-0.86	0.95	1.77	1.92
PV-SWH Cost	2.22	1.15	0.16	-0.56	-0.83	-0.72	-0.61	-0.38	0.09	1.51	2.18	2.28

5.4.7 Comparing with non-optimised solution

The results between optimised and non-optimised options are compared in this section. In non-optimised calculation, simply add together each power consumption and PV power generation at all times, and then multiply the sum by the electricity tariff or FIT. Therefore, the daily total cost can be obtained through the summation of the cost over all time intervals. In order to obtain a reasonable comparison, the initial input data of the non-optimised calculation are chosen to be the same as the optimised calculation, such as solar radiation, load curve, electricity tariff. The SWH is ignored but the PV system is included in the non-optimised solution, which means all of the solar panel area is utilised for the PV system. Following [131], the power consumption for water heating has been included with EWH. In addition, ESS is not included in the non-optimised calculation and the EV relevant part is fixed.

Table. 5 - 5 shows the annual cost comparison between the optimised and nonoptimised results. It can be seen that the cost of user can be effectively reduced. When PV-T system is adopted, the annual cost will be reduced 100% and end user can make profit around £140 per year.

System type	Optimised Annual Cost (£)	Non-optimised Annual Cost	Cost Reduction		
		(£)			
PV-SWH	197.4	890.4	77%		
PV-T	-140.5	890.4	100%		

Table. 5 - 5 Annual cost comparison between optimised and non-optimised results

5.5 Summary

In this chapter, the residential home cost reduction system has been expanded to include solar energy supply. The hourly hot water temperature under optimal control for different area of solar thermal collector is obtained, and the factors that influence the water temperature are investigated. The sufficient areas of solar thermal collector for different seasons are calculated. It's been found that larger area of SWH are unnecessary for area with strong solar radiation since PV system can be used to achieve cost reductions. Comparing SWH with PV, the results show that SWH is more efficient than PV when transfer the solar energy for water heating. Therefore, solar thermal water heater is still necessary to achieve the economic benefit for the end users but the area should be limited.

Both TOU and fixed electricity tariffs are applied in the case studies, and it has been shown that the user will obtain more benefit under the TOU tariff. In addition, the tradeoff decision between the SWH area and the PV area is made based on the modelling framework. The case study shows that the volume of water storage tank has influence on choosing the area of solar thermal collector.

Moreover, the hybrid PV-T system is compared to PV - SWH system. Results show that the hybrid PV-T system can achieve more cost savings than the combination of PV and SWH systems. The cost which is obtained through the optimised has been compared with the non-optimised model, and the results show that the optimised setting can reduce the cost by at least 77% for a typical residential home.

Chapter 6 Financial Analysis of the Household Energy System

In the previous two chapters, minimisation of residential home energy cost has been explored considering EV, ESS and PV. Through the developed optimisation framework, the energy cost can be minimised by scheduling of charging and discharging of EV and ESS batteries, switch on and off of SWHs, optimal setting of SWH area. However, initial investments of the equipment, such as PV, SWH and ESS, are usually very high. Whether the cost savings calculated from the optimisation route can compensate the investments can be an issue. In this chapter, three appraisal methods are applied to assess and analyse the investment worth of the residential energy system. The basics of appraisal methods are introduced in Section 6.1. Section 6.2 presents the financial model of the residential energy system. Results and analysis of the residential home energy system are discussed in Section 6.3. Conclusions are given in Section 6.4.

6.1 Fundamentals of appraisal method

In this section, fundamentals of several appraisal methods are introduced, including payback period (PB), discounted payback period (DPB) and net present value (NPV).

6.1.1 Payback period (PB) and discounted payback period (DPB)

The initial investments of SWH, PV, and ESS for a smart home are usually very high even though they could bring benefits for the residential users. Also, the operation costs, maintenance costs and replacement costs of the storage battery need to be considered by the end-users to see whether they could save money comparing with using the traditional home energy systems. For this purpose, appraisal methods need to be applied to analyse the investment worth. The PB is one appraisal method that considers the period of time taken for the future net cash inflows to match the initial cash outlay [132]. For example, company A wants to purchase a new machine with a cost of £40,000, which can generate the operating cash flow of 16,000 in each subsequent year. The payback period of this newly purchased machine can be analysed by the cash flow. Table. 6 - 1 gives the annual cash flow and cumulative cash flow for this project.

Year	OPF (£)	Cumulative cash flow (f)
0	-40,000	-40,000
1	16,000	-24,000
2	16,000	-8,000
3	16,000	8,000

Table. 6 - 1 Annual cash flow and cumulative cash flow

There are two approaches of PB, the short cut method and the unequal cash flow method. The short cut method is applied when the amounts of annual operating cash flows expected from a potential capital asset acquisition are equal each year. For the above example, the annual operating cash flows are equal each year, so the short cut calculation can be used to determine the payback period as shown in (6.1).

$$PB = \frac{C_I}{OPF} \tag{6.1}$$

where C_I is the initial investment such as the equipment cost and the installation cost. *OPF* is the annual operating cash flow (*OPF*), which refers to the amount of cash inflows and outflows within the life cycle of an investment project after it is put into operation. The cash inflows refer to the operating cash income which is positive amount, and the cash outflows refer to operating cash expenses and taxes paid which are negative amount. Equation (6.1) is used to calculate the payback period of the earlier example, and the PB result is 2.5 years.

Another approach is called unequal cash flows method, which deals with the amount of operating cash flow that are not expected to be the same amount each year. The method begins with the acquisition cost, and subtract the expected cash flows for each year until the point in time that all of the cash has been recovered. The portion of final recovery year is calculated and the payback period is equal to the number of full years plus the portion of final recovery year. According to the second method, it can be observed form Table. 6 - 1 that the cumulative cash flow for this project reduces to - $\pounds 8,000$ at the end of year 2, and improves to $\pounds 8,000$ at the end of year 3; therefore, the payback period can be calculated by

$$PB = (2 + \left| \frac{-8,000}{16,000} \right|) = 2.5$$

The result is the same as the first method.

There are good reasons of using the PB method for business analysis. First it is simple to understand and calculate. It can help managers to make a quick evaluation on projects. Second, the PB can be used to compare the relative risk of projects with varying periods, which is essentially a popular measure of risk, and can help the analyst to determine how quickly money can be returned from an investment.

Although PB is one of the most popular and simple methods to analyse the returnof-investment, there are problems with PB as a measure of investment worth. According to [133, 134], one of the serious problems is that the time value of money (TVM) is ignored in PB. TVM is the concept that receiving money at the present time is of greater benefit than the same amount in the future because of its potential earning capacity. This principle of TVM explains why money can earn interest, which can be expressed by the following formula.

$$FV = PV \cdot \left(1 + \frac{r}{n}\right)^{n \cdot t} \tag{6.2}$$

where FV is the future value of money; PV is the present value of money; r is the interest rate; n is number of compounding periods per year; t is the number of years. For example, assume the invested cost is the same as in the previous example for 2.5 years at 8% interest, which is £40,000, and the number of compounding periods is 2 per year, then the future value of that money can be calculated as

$$FV = 40,000 \cdot (1 + \frac{8\%}{2})^{2.5*2} = 48,666$$

In this case, the future value of this money, £48,666, is more than two and half years ago; therefore, the net cash inflows cannot match the future value of the initial cash outlay when the payback period is 2.5 years.

Another limitation in PB is that the payback analysis fails to compare the overall profitability of two different projects because the inflows of cash that occur beyond the payback period are not considered in the analysis. For two proposed investments which might have similar payback periods, the cash inflows of one project might steadily decline after the end of its payback period, and the other project's cash inflows might steadily increase after its payback period. Many capital investments may require the investment returns over years that are much longer than the payback period. Therefore, the PB analysis cannot be the only measure of the return-of-investment. In addition, the cash flows that occur with capital investments are full of complexities which are not taken into account in the PB analysis. For example, the PB analysis only considers one large cash outflow followed by steady cash inflows thereafter, but additional cash outflows may be required and inflows may fluctuate in accord with sales and revenues [135]. Due to these limitations and drawbacks, the PB method is usually used as the preliminary evaluation, and other appraisal methods should be considered as the supplemented evaluations, such as DPB and NPV.

To counter the error caused by TVM, the DPB method is usually applied. It can help the analyst to calculate the result to break even in a project by discounting future cash flows and recognising the TVM. It reflects the amount of time to break even in a project not only based on cash flows, but also when they occur and the prevailing rate of return in the market [135]. Equation (6.3) shows the calculation of discounted cash inflow for each period.

$$DCI = \frac{OPF}{(1+dr)^{\chi}} \tag{6.3}$$

where *DCI* is the discounted cash inflow; *OPF* is operating cash flow; *dr* is the discounted rate; χ is the period to which the cash inflow relates. It can be noticed that the discounted rate, *dr*, and the cash inflow related period, χ , are the crucial factors that influence the cash value. The term $\frac{1}{(1+dr)^{\chi}}$ can be considered as the cash inflow value factor.

Back to the previous example shown in Table. 6 - 1. Assuming the discounted rate, dr, is 8%. The cash inflow value factor, the discounted cash inflow, and the cumulative discounted cash inflow can be calculated, and shown in Table. 6 - 2.

Year	OPF (f)	Cash inflow factor ω	Discounted cash flow	Cumulative discounted
			(£)	cash flow (£)
0	-40,000	1	-40,000	-40,000
1	16,000	0.9295	14,872	-25,128
2	16,000	0.8573	13,717	-11,411
3	16,000	0.7938	12,701	1,290

Table. 6 - 2 Annual discounted cash inflow and cumulative discounted cash inflow

According to the unequal cash flows method, the discounted payback period can be calculated as:

$$DPB = (2 + \left| \frac{-11411}{12701} \right|)$$
 years = 2.9 years

It can be seen that the discounted payback period is longer than the traditional payback period, and the result is more reliable since it accounts for TVM. However, it still ignores the cash inflows from project after the payback period; therefore, the method of NPV is applied to analyse the profitability of the investment or project as the supplemented evaluation.

6.1.2 Net present value

NPV is defined as the difference between the present value of cash inflows and outflows over a period of time [132, 136]. This method is usually applied to evaluate the desirability of investment opportunities. Project managers can make decisions whether the investment should be accepted or rejected depending on the results calculated through this method. The NPV index can be expressed as:

$$NPV = \frac{OPF_1}{1+r} + \frac{OPF_2}{(1+r)^2} + \frac{OPF_3}{(1+r)^3} + \dots + \frac{OPF_t}{(1+r)^t} - C_I = \sum_{t=1}^n \frac{OPF_t}{(1+r)^t} - C_I$$
(6.4)

where OPF_t is the operating cash flow during the time period t; C_1 is the total initial cost of investment; n is the project's life and r denotes the required rate of return-ofinvestment, which can also be called the discount rate. As can be seen from the above equation that the NPV of a project is determined by three factors: the sum of the net annual cash flows, the discount rate and the initial outlay. A positive NPV means that if the earnings generated by the project exceeds the initial cost, then it will be a profitable investment. On the other hand, the investment with a negative NPV will result in a net loss, and it should be rejected by the decision maker. Fig. 6 - 1 shows the decision chart following NPV.



Fig. 6 - 1 Decision chart of NPV

Using the same example in this chapter that company A wants to purchase a new machine with a cost of \pounds 40,000, which can generate the operating cash flow of 16,000 in each subsequent year. However, at the end of the third year, the machine will be sold in \pounds 10,000, and the discount rate is 8% for each year. According to the above information, the annual cash flows of company A and the NPV can be calculated as shown in Table. 6 - 3, from which it can be seen that the NPV is positive at the end of the third year; therefore, the investment of this new machine can be accepted by the manager.

Table. 6 - 3 Aannual cash flows and NPV of company

Year	OPF (£)	Discount factor $\frac{1}{(1+r)^{t}}$	Present value of cash flow (£)
1	16,000	0.9295	14,872
2	16,000	0.8573	13,717
3	16,000	0.7938	12,701
Total present value of cash flow ((£)		41,290
Initial investment (£)			-40,000
NPV at the end of third year			+1,290

6.2 Financial model of the household energy system

The optimisation design in Chapter 4 and Chapter 5 aim to minimise daily energy cost of residential home end-users. The cost savings come from the decrease in energy costs, which in turn, increase the income; therefore, they are taken as operating cash income. Equation (6.5) expresses OPF for investigating the payback period of the smart home energy system.

$$OPF = C_s - C_m \tag{6.5}$$

where C_s is the annual cost savings; C_m is the annual maintenance fees of the smart home system. The annual cost savings can be calculated by (6.6), and the relevant data can be obtained from the results in Chapter 5.

$$C_s = C_{non-opt} - C_{opt} \tag{6.6}$$

Here $C_{non-opt}$ is the annual cost following a standard setting without optimisation; C_{opt} is the annual cost obtained by the optimised solution. In addition, the energy cost model built in Chapter 4 includes all the energy consumption costs of the household, such as cost of EV driving and household load demand. The non-optimised annual cost, $C_{non-opt}$, should include both fuel consumption of traditional vehicle and electricity consumption of the household user, which can be expressed as:

$$C_{non-opt} = C_e + C_{driving} \tag{6.7}$$

where C_e is the annual electricity cost without optimisation, $C_{driving}$ is the annual fuel consumption cost of the traditional vehicle.

According to the smart home system built in Chapter 5, the initial investment of this system can be written as:

$$C_I = ic_{pv} + ic_{ess} + ic_{charging} + ic_{control}$$
(6.8)

where ic_{pv} , ic_{ess} are the installation costs of PV and ESS, respectively. $ic_{charging}$ is the installation cost of EV home charging system, and $ic_{control}$ is the installation cost of the smart home control system.

The payback period and the NPV for the smart home can be rewritten as:

$$PB = \frac{ic_{pv} + ic_{ess} + ic_{charging} + ic_{control}}{C_e + C_{driving} - C_{opt} - C_m}$$
(6.9)

$$NPV = \sum_{t=1}^{n} \frac{\left(C_{e} + C_{driving} - C_{opt} - C_{m}\right)_{t}}{\left(1 + r\right)^{t}} - (ic_{pv} + ic_{ess} + ic_{charging} + ic_{control}) \quad (6.10)$$

6.3 Financial analysis of the residential home energy system

In this section, the investment worth of the residential energy system is assessed by the appraisal methods introduced in section 6.2. The relevant input data, such as OPF, initial investment, and annual maintenance cost is calculated and collected. Financial analysis for different scenarios are compared and discussed.

6.3.1 System specifications

Two types of electricity tariff are considered in the financial analysis, and their values have been shown in Fig. 4 - 5, Chapter 4. In this case study, the smart home system considered does not include SWH and the solar PV's rating is selected to be less than 10kW. Following [137], the solar panel area is selected as 16 m^2 for a house. Each Powerwall has the capacity of 6.4kWh and the cost of \$3,000 (approximately £2,400). In the following case studies, the ESS capacity has been expanded through the connection of multiple Powerwall, i.e. 4 Powerwall packs, so the total capacity is 25.6kWh and the cost is around £9,600. Several types of EVs have been selected, which are based on quoted prices of the retailer in UK. In addition, the relevant prices of the battery are estimated by reference [120]. The relevant prices' details have been shown in Table. 6 - 4. To analyse the benefits of the household over a whole year, the monthly solar radiation variations need to be considered, and the average hourly residential load is shown in Fig. 4 - 6.

Brand	TESLA75	TESLA100	BMW I3	SMART	LEAF
Capacity (kWh)	75	100	33	17.6	40
Projected EV Price (£)	64,700	86,200	34,070	21,465	21,990
Evaluation Price of Battery(£)	19,410	25,860	10,221	6,440	6,597
Unit Capacity Cost (£/kWh)	258.8	258.6	309.7	365.8	164.9

Table. 6 - 4 Prices of different EV's battery

6.3.2 Energy cost of traditional household system

A traditional household usually has no self-power supply equipment, such as PV and small wind turbine, and its electricity power is usually provided by external power grid. In addition, the end users of traditional household may also use natural gas for cooking or heating, and the vehicles they select are usually combustion vehicles. The energy consumption can be divided into three parts: electricity consumption, natural gas consumption and petrol/diesel consumption. In this case, it is assumed that the natural gas load is powered by or converted into electric power, such as cooking and heating, therefore only electricity consumption and petrol/diesel consumption for driving are considered.

The end user's daily cost of the electricity consumption can be calculated from equation (6.11) as shown below:

$$C_{electricity} = \sum_{i=1}^{24} P_{load}\left(i\right) \cdot \mu(i)$$
(6.11)

where $P_{load}(i)$ is the hourly electricity consumption during time period i; $\mu(i)$ is the electricity tariff during time period i. The daily costs of electricity consumption are calculated to be £1.99 for the fixed tariff, and £1.87 for the TOU tariff. The annual cost of electricity consumption, C_e , is calculated through the daily cost multiplied by 365, which are £726.35 and £682.55 for fixed and TOU tariff, respectively.

The probabilities of monthly car fuel costs are obtained through the same survey used in Chapter 4, which are shown in Table. 6 - 5. In order to simplify the calculations, the median value for each spending interval is applied; therefore, the results of expected value of the car fuel costs are calculated based on the median value, which are also shown in Table. 6 - 5. The total annual energy cost for a household includes both of the electricity cost and the car fuel cost, see also(6.7). With fixed and TOU tariffs, the annual costs are $\pounds 2,472.35$ and $\pounds 2,428.55$, respectively.

Table. 6 - 5 Monthly car fuel cos	ts
-----------------------------------	----

Monthly car fuel costs	Ionthly car fuel costs Probabilities		Expected value(£)
less than $\pounds 40$	5%	20	1.0
between £41 and £80 $$	26%	60	15.6
between £81 and £160	36%	120	43.2
between £161 and £240	16%	200	32.0
between £241 and £300 $$	11%	270	29.7
between £300 and £500 $$	6%	400	24.0
Total monthly expected cost			145.5
Total annual expected cost, $C_{driving}$			1746

6.3.3 Energy cost of smart home without/with optimisation control

To calculate the energy cost of smart household without optimisation control, equation (4.28)in Chapter 4 has been applied in this case. Both of EV charging costs duet to driving, $C_{EV-driving}$, and the average daily battery degradation costs for EV, $C_{EV-average}$, are sourced from Section 4.5.8. The daily costs of the electricity consumption for different months under the fixed tariff without optimisation have been calculated and shown in Table. 6 - 6. Typical EV models are included in this analysis. It is observed that the cost is the lowest for SMART owners, and highest for TESLA 100kWh owners.

Table. 6 - 6 Daily energy consumption cost of different month under fixed tariff without optimisation (£)

EV Models	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
BMW I3	2.49	2.09	1.61	1.06	0.73	0.79	0.97	1.31	1.60	2.07	2.31	2.64
SMART	2.43	2.03	1.56	1.00	0.66	0.74	0.91	1.26	1.54	2.02	2.25	2.58
LEAF	2.56	2.17	1.69	1.14	0.80	0.87	1.05	1.39	1.67	2.15	2.39	2.71
TESLA75	3.03	2.64	2.16	1.61	1.27	1.34	1.52	1.86	2.15	2.62	2.85	3.18
TESLA100	3.32	2.92	2.45	1.89	1.56	1.63	1.81	2.15	2.43	2.91	3.14	3.47

Since the residential load curve is the averaged profile for all days in a year, the cost per month for different EV models can be obtained through multiplying the daily cost by 30. Fig. 6 - 3 show the monthly and annual cost for different EV models without optimisation under the fixed tariff. It can be seen that no matter which EV is selected, the end user spends lowest in May because the solar radiation is highest during this month.



Fig. 6 - 2 Energy consumption cost for different months under fixed tariff without optimisation



Fig. 6 - 3 Annual energy consumption cost under fixed tariff without optimisation

If the electricity tariff is TOU, we assume the EV is only charged during the night time, so only the night time tariff is applied for charging EV. Same to the case of fixed tariff, the daily costs of the electricity consumption during different months under the TOU tariff without optimisation are also calculated through (4.28), which are shown in Table. 6 - 7. Since the residential load is the averaged value for all days, the cost per month for different EV models is calculated by multiplying 30 to the daily cost. Fig. 6 - 4 and

Fig. 6 - 5 show the monthly and annual costs for different EV models without optimisation under the TOU tariff.

EV Models	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
BMW I3	1.85	1.52	1.08	0.46	0.11	0.21	0.37	0.73	1.04	1.50	1.69	1.97
SMART	1.75	1.42	0.98	0.37	0.02	0.11	0.27	0.63	0.94	1.39	1.59	1.87
LEAF	1.81	1.48	1.03	0.42	0.07	0.16	0.33	0.68	0.99	1.45	1.65	1.93
TESLA75	2.27	1.95	1.50	0.89	0.54	0.63	0.80	1.15	1.46	1.92	2.12	2.39
TESLA100	2.53	2.20	1.76	1.14	0.80	0.89	1.05	1.41	1.72	2.18	2.38	2.65

Table. 6 - 7 Daily energy consumption cost of different month under TOU tariff without optimisation (£)



Fig. 6 - 4 Energy consumption cost for different months under TOU tariff without optimisation



Fig. 6 - 5 Annual energy consumption cost under TOU tariff without optimisation

It is noted that the most economic EV models is still the SMART when the electricity tariff is TOU and the EV is charged during the night time. There are two reasons that can explain why SMART is most economic for EV owners. Firstly, its battery degradation cost is the lowest compared to other EVs as can be seen from Fig. 6 - 6. Secondly, its driving efficiency is the highest compared with other EVs as shown in Table. 4 - 11.



Fig. 6 - 6 Battery degradation cost for different EVs

Table. 6 - 8 shows the charging costs for different types of EV for the same driving distance of 100 miles. It is found that the charging cost for SMART is the lowest. This advantage will be more obvious when the electricity price is high.

Table. 6 - 8 Charging costs for different types of EVs for the same distance driving

Brand	TESLA100	TESLA75	BMW I3	SMART	LEAF
Charging Cost (£)	3.87	3.75	3.55	2.70	3.62

According to the residential home energy cost optimisation in Chapter 4, the overall cost of the end user can be reduced through the optimal scheduling of battery charging/discharging for EV and ESS. The solar radiation data in Chapter 4 is the averaged January data of several years. In order to obtain the annual minimum cost for the end user, other month's solar radiation data need to be considered to recalculate the minimum cost of each month. Table. 6 - 9 and Table. 6 - 10 show the optimised daily costs, over 12 months, under the fixed tariff and the TOU tariff, respectively. Table. 6 - 11 show the optimised annual costs for several EVs. Fig. 6 - 7 and Fig. 6 - 8 show the monthly costs after optimisation under the fixed and the TOU tariffs, respectively

Table. 6 - 9 Daily energy consumption cost of different month under fixed tariff after optimisation (f)

EV Models	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
BMW I3	2.23	1.22	0.20	-0.70	-0.90	-0.76	-0.63	-0.36	0.02	1.61	2.18	2.26
SMART	2.17	1.15	0.15	-0.71	-0.99	-0.83	-0.71	-0.44	-0.04	1.55	2.11	2.21
LEAF	2.21	1.19	0.18	-0.70	-0.99	-0.83	-0.71	-0.44	0.00	1.58	2.16	2.25
TESLA75	2.64	1.62	0.60	-0.28	-0.57	-0.41	-0.29	-0.02	0.43	2.01	2.61	2.67
TESLA100	2.71	1.69	0.67	-0.22	-0.51	-0.34	-0.22	0.04	0.49	2.08	2.66	2.74



Fig. 6 - 7 Energy consumption cost for different months under fixed tariff after optimisation

Table. (5 - 10 Dail [.]	v energy	consumption	cost of different	month under	TOU	tariff after	optimisation	(f)
		O/							\ 4 1/

EV Models	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
BMW I3	1.65	0.63	-0.38	-1.21	-1.49	-1.34	-1.22	-0.95	-0.56	1.03	1.60	1.59
SMART	1.58	0.55	-0.45	-1.31	-1.59	-1.43	-1.31	-1.04	-0.64	0.95	1.51	1.52
LEAF	1.61	0.59	-0.42	-1.30	-1.59	-1.43	-1.31	-1.04	-0.60	0.98	1.56	1.55
TESLA75	2.03	1.02	-0.01	-0.88	-1.17	-1.01	-0.89	-0.62	-0.18	1.41	2.01	1.97
TESLA100	2.10	1.08	0.06	-0.83	-1.12	-0.95	-0.83	-0.57	-0.12	1.47	2.05	2.04



Fig. 6 - 8 Energy consumption cost for different months under TOU tariff after optimisation

Table. 6 - 11 Smart Home Annual energy consumption costs with different EVs after optimisation (£)

Tariff	TESLA100	TESLA75	BMW I3	SMART	LEAF
Fixed tariff	354.8	330.0	192.5	168.6	178.4
TOU tariff	132.5	110.7	-18.1	-49.8	-40.6

Comparing the annual cost of SMART to other EVs under different electricity tariffs, the annual cost of SMART is still the lowest. It can be stated that SMART is currently the most economical EV from energy saving point of view.

6.3.4 Financial analysis of the smart home system without/with optimised control

6.3.4.1 Calculation of the annual cost savings C_s

Two methods of return-of-investment, PB and NPV, have been applied to investigate the economic benefits of the smart home energy system. The methods have been presented in Section 6.1. The annual cost savings C_s in each subsequent year after the initial investment are calculated through (6.6). The data of cash flows for the calculations, such as $C_{non-opt}$ and C_{opt} are sourced from the case studies in subsection 6.3.2 and 6.3.3. Table. 6 - 12 shows the annual cost savings for different EV models under the fixed and TOU tariffs. It can be seen that the annual cost savings are much higher after optimisation, and SMART is still the most economic option for the end user compared to other types of EVs.

Brand	TESLA S100	TESLA S75	BMW I3	SMART	LEAF
Without optimisation (fixed tariff)	1,582	1,686	1,882	1,903	1,855
With optimisation (fixed tariff)	2,118	2,142	2,280	2,303	2,293
Without optimisation (TOU tariff)	1,807	1,900	2,053	2,088	2,068
With optimisation (TOU tariff)	2,296	2,318	2,446	2,478	2,469

Table. 6 - 12 Smart home annual cost savings, C_s , under fixed and TOU tariffs (£)

6.3.4.2 Calculation of maintenance fees, installation cost and *OPF*

For the smart home system, the main annual maintenance fees come from the costs of maintaining PV system. According to [138], one component of PV system needs to be changed over the lifespan is the inverter, which converts the DC output of PV panel into the AC required by local grids, and the average cost of an inverter is about £1,000. The inverter is assumed to be changed once during total PV lifespan. Furthermore, the solar panels need to be cleaned about every six months when they are contaminated by dirt, debris and pollution. This service, which is done by specialist, usually costs more than £50 quoted from [139]. According to [139], most manufactures offer the 25-year standard solar panel warranty, so the total PV lifespan is selected as 25 years in this work. Table. 6 - 13 shows the annual maintenance costs for PV system.

Table. 6 - 13 Annual maintenance costs, C_m , for PV system

PV lifespan	Annual Inverter cost (£)	Annual maintenance cost (£)	Annual total costs (£)
25 years	40	100	140

The annual operating cash flow, OPF, after the first initial investment of the smart home can be calculated through (6.5). The data of C_s and C_m are sourced from Table. 6 - 12 and Table. 6 - 13. Results of OPF for different types of EV are shown in the following table.

Table. 6 - 14 Annual operating cash flow, OPF, (f)

EV	Tesla S100	Tesla S75	BMW I3	SMART	LEAF
With optimisation (fixed tariff)	1,442	1,546	1,742	1,763	1,715
Without optimisation (fixed tariff)	1,667	1,760	1,913	1,948	1,928
With optimisation (TOU tariff)	1,978	2,002	2,140	2,163	2,153
Without optimisation (TOU tariff)	2,156	2,178	2,306	2,338	2,329

The initial investment of smart home system is mainly from the installation costs of the whole smart home system. According to (6.8), the installation costs are the costs of installing PV, ESS, EV home charging system, and smart home control system. Table. 6 - 15 shows the initial investment for setting up a smart home system built in Chapter 5. The data are sourced from [113, 140-142]. The total initial investment of smart home system with 4kW PV system and one pack of Tesla Powerwall, C_1 , will be £10,148.

Table. 6 - 15 Initial investment for a smart home system

Equipment	PV	ESS	EV charging device	Smart home system
Installation cost (f)	1,505/kW	2,300/pack	647	1,181

6.3.4.3 Payback periods and NPV for smart home systems

According to (6.9), the payback period for different types of EVs can be obtained as shown in Table. 6 - 16.

Table. 6 - 16 Payback period of the residential system for different types of EV (years)

EV Models	PB w/o optimisation (fixed tariff)	PB w/o optimisation (TOU tariff)	PB with optimisation (fixed tariff)	PB with optimisation (TOU tariff)
BMW I3	5.80	5.30	4.70	4.40
SMART	5.80	5.20	4.70	4.30
LEAF	5.90	5.30	4.70	4.40
TESLA 75	6.60	5.80	5.10	4.70
TESLA 100	7.00	6.10	5.10	4.70
Average	6.22	5.54	4.86	4.50

According to Table. 6 - 16, it can be concluded that the payback period is longer if the price of EV is higher but its efficiency is lower; however, the payback period can be significantly reduced through optimised DSM. The overall payback period of the smart home system under the optimised control is always shorter compared to the system without optimisation.

The preliminary analysis on return-of-investment has been performed using the payback period method. Next the TVM index, expressed in (6.3), is applied for complementary analysis in DPB. In this case, the discounted rate is selected as 2.4% which is same with the inflation rate in UK [143]. The cash inflow value factor, the discounted cash inflow, and the cumulative discounted cash inflow for different EV can be calculated as shown from Appendix, Table B. 1 ~Table B. 20. Table. 6 - 17 shows the payback period after discounting the cash flow.

EV	w/o optimisation (fixed tariff)	w/o optimisation ((TOU tariff)	with optimisation (fixed tariff)	with optimisation (TOU tariff)
BMW I3	6.35	5.74	5.10	4.71
SMART	6.27	5.63	5.04	4.64
LEAF	6.46	5.69	5.06	4.66
TESLA 75	7.23	6.28	5.47	5.00
TESLA 100	7.80	6.66	5.54	5.06
Average DPB	6.82	6.00	5.24	4.81

Table. 6 - 17 Payback period (DPB) for different types of EV after discounting the cash flow (years)

As can been seen from Table. 6 - 17, the payback period after discounting the cash flow is longer than the case without considering the discounted cash flow. The averaged discounted payback periods are also shown in Table. 6 - 17. The EV that can achieve the lowest DPB to match the initial cash outlay is still the SMART after discounted the cash flow.

Assuming that the time required for the initial investment return of the smart home system is the averaged DPB. If they are not integer number, we will round it up to the nearest integer, e.g. if DPB is 6.35 years, then we select 7 years as the time of return-of-investment. In order to analyse whether the selected EV can achieve profitability on expected year of recovering the investment, the NPV method is applied to further analyse the profitability of the investment. According to [132], a positive NPV on the expected

year of recovering the investment denotes that the earnings generated by the project exceeds the initial costs, which can be accepted by the users. On the other hand, the investment with a negative NPV should be rejected by the users. Table. 6 - 18 shows the results of NPV under different cases.

EV	NPV signal w/o optimisation (fixed tariff)	NPV w/o optimisation (TOU tariff)	NPV with optimisation (fixed tariff)	NPV with optimisation (TOU tariff)
BMW I3	+	+	+	+
SMART	+	+	+	+
LEAF	+	+	+	+
TESLA 75	-	-	-	-
TESLA 100	-	-	-	-

Table. 6 - 18 Results of NPV signal for different cases

It can be seen from Table. 6 - 18, three types of EV, which are BMW i3, SMART, and LEAF, are acceptable for the users either with or without optimal control, if the time required for the investment return of the smart system is selected following the above assumption. For TESLA 75 and TESLA 100, the relevant NPVs are negative either for fixed tariff or TOU tariff. The main reason is because of their battery packs are much higher than other EVs, so the battery degradation costs are much higher. End user has to spend longer time to return the initial investment.

6.3.5 Financial analysis of the residential home system including SWH

The above analyses calculates the payback period of the smart home system, which includes PV, ESS, and EV, either with optimal control or without optimal control. The results show that if users select the SMART EV, then the initial investment can be returned quicker than other types of EVs under both the fixed and the TOU electricity tariffs. In this section, another controllable device, the solar thermal water heater, has been added into the smart home energy system. Two different solar thermal systems are compared, the PV-SWH system and the PV-T system. Only the fixed tariff has been applied. The split areas for PV-SWH is selected from the result in 5.4.4 The same three methods, PB, DPB and NPV, are applied to investigate the return-of-investment.

Table. 6 - 19 shows the average daily cost for different months when the SWH is used (the selected EV is SMART). Comparing Table. 6 – 19 with Table. 6 - 9, it can be seen that the daily energy cost has been successfully reduced with the use of SWH, which is mainly resulted from energy savings of the hot water consumption. In addition, it can be observed that larger volume of water tank will reduce the user's daily cost further. However, if the volume of tank is too large for the end user who has a relatively lower daily hot water demand, then the cost reduction will be decreased. Also, the purchase cost of larger volume tank is higher. In the following annual cost analysis, a tank with the volume of 160L is considered for SWH. This tank size can sufficiently guarantee the daily hot water consumption for a household up to three people [144]. Table. 6 - 20 and Table. 6 - 21 show the minimum costs for different type of EVs with PV-SWH system and PV-T system, respectively.

Volume	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
(L)												
80	1.67	0.70	-0.23	-1.03	-1.24	-1.11	-1.03	-0.82	-0.44	1.10	1.63	1.71
120	1.57	0.65	-0.27	-1.06	-1.29	-1.16	-1.07	-0.85	-0.47	1.07	1.56	1.61
160	1.47	0.60	-0.30	-1.11	-1.34	-1.23	-1.13	-0.89	-0.50	1.00	1.49	1.51
200	1.46	0.59	-0.33	-1.14	-1.38	-1.28	-1.18	-0.94	-0.55	0.95	1.47	1.51
240	1.45	0.53	-0.39	-1.21	-1.42	-1.31	-1.25	-0.99	-0.59	0.91	1.42	0.70

Table. 6 - 19 Daily energy consumption cost (\underline{f}) of different months for different volumes of SWH

Table. 6 - 20 Daily energy consumption cost (\underline{f}) for different type of EVs with 160L of SWH

EV Models	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
SMART	1.47	0.60	-0.30	-1.11	-1.34	-1.23	-1.13	-0.89	-0.50	1.00	1.49	1.51
BMW I3	1.53	0.67	-0.25	-1.10	-1.25	-1.16	-1.05	-0.81	-0.44	1.06	1.56	1.56
LEAF	1.51	0.64	-0.27	-1.10	-1.34	-1.23	-1.13	-0.89	-0.46	1.03	1.54	1.55
TESLA 75	1.93	1.06	0.14	-0.68	-0.92	-0.81	-0.71	-0.47	-0.04	1.45	1.98	1.96
TESLA	1.98	1.01	0.15	-0.67	-0.88	-0.80	-0.69	-0.45	0.02	1.50	2.07	2.05
100												

Table. 6 - 21 Daily energy consumption cost (f_{ℓ}) for different type of EVs with 160L of PV-T

EV Models	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec
SMART	1.17	0.06	-1.18	-2.51	-3.04	-2.73	-2.50	-2.03	-1.45	0.44	1.08	1.15
BMW I3	1.23	0.13	-1.13	-2.50	-2.95	-2.66	-2.42	-1.95	-1.39	0.50	1.15	1.20
LEAF	1.21	0.10	-1.15	-2.50	-3.00	-2.70	-2.45	-2.00	-1.41	0.47	1.13	1.19

TESLA 75	1.63	0.52	-0.74	-2.08	-2.62	-2.31	-2.08	-1.61	-0.99	0.89	1.57	1.60
TESLA 100	1.68	0.47	-0.73	-2.07	-2.58	-2.3	-2.06	-1.59	-0.93	0.94	1.66	1.69



Fig. 6 - 9 Cost reduction of different months with SWH

The annual costs for PV-SWH, PV-T are shown in Table. 6 - 22. Regardless of EV types, the cost has been significantly reduced with the use of solar energy supply. The cost reduction varies from one month to another, which is the difference between Table. 6 - 9 and Table. 6 - 20 . Fig. 6 - 9 shows the cost reductions at different months. It can be seen that the cost reductions are higher during the winter season, and lower during the summer season. This is because of the area of SWH is selected to be sufficient for winter case, which is 30% of total area from subsection 5.4.4, and it is too large for summer time.

In addition, PV is included in non-SWH system, which can also help to reduce the total cost. If the system includes SWH, larger area of SWH means less area of PV is installed. Therefore, higher solar irradiance will result in lower cost reduction. Furthermore, the inlet water temperature during the summer season, which is 15°C, is higher than the winter season (8°C), so less solar irradiance for heating the water is needed. In summary, the benefits of SWH during the summer season are less than the winter season from the economic point of view.

Table. 6 - 22 Annual cost comparison between PV-SWH and PV-T (f)

EV Models	Annual cost with PV-SWH	Annual cost with PV-T	Annual cost without SWH
SMART	-13.78	-350.40	192.5
BMW I3	9.05	-324.85	168.6

LEAF	-5.32	-335.80	178.4
TESLA75	147.96	-186.15	330.0
TESLA100	156.22	-177.02	354.8

With the above results, the optimized daily cost of the smart home can be calculated including SWH, as shown in Table. 6 - 20. It's reported in [145] that the maintenance costs of SWH are very low, and most SWH systems come with up to 10 years warranty and require little maintenance. Thus the annual maintenance costs of SWH are ignored in this case, and the annual operation and maintenance of the smart home system are the same as Section 6.3.4. Therefore, the OPF for different types of EVs can be calculated, and the results are shown in Table. 6 - 23.

Table. 6 - 23 OPF for different types of EVs with PV-SWH

EV Models	OPF with PV-SWH (£)	OPF with PV-T (£)
SMART	2,346.08	2,682.70
BMW I3	2,323.25	2,657.20
LEAF	2,337.62	2,668.10
TESLA75	2,184.34	2,518.50
TESLA100	2,175.65	2,508.90

The initial investment of smart home system is mainly from the installation costs of the whole smart home system. In this case, the SWH has been included, so the cost of installing SWH should be added into the total installation costs. According to [146], the cost of a typical SWH system is around £500. In addition, if SWH system is installed, the area for installing PV panel will be decreased, so the PV system is decreased to 2kW. Therefore, initial investment for setting a smart home system with a 2kW PV system, one pack of Tesla Powerwall and a typical SWH system is applied, the total roof area can be utilised for the solar panel. In this case, it is assumed that the electricity output part of PV-T can be increased to 3kW. According to [147], the PV-T installation cost is 10% higher than the traditional PV system, so the relevant cost will be 1,505*3*110%=£4,966. The overall cost of the smart home system will be £9,094. According to (6.1), the payback periods for PV-SWH and PV-T system can be obtained as shown in Table. 6 - 24.

EV Models	PB of PV-SWH	PB of PV-T	DPB of PV-SWH	DPB for PV-T
BMW I3	3.30	3.39	3.47	3.67
SMART	3.33	3.42	3.43	3.58
LEAF	3.31	3.41	3.44	3.60
TESLA75	3.54	3.61	3.70	3.82
TESLA100	3.56	3.62	3.71	3.84

Table. 6 - 24 Comparison of PB and DPB for PV-SWH and PV-T (years)

As can be seen from the Table. 6 - 24, the payback period of the whole smart home systems are decreased when the PV-SWH or PV-T is included. One reason is that the size of PV system is decreased, which cause the decrease of the initial costs. Another reason is that the solar thermal collector can help to reduce the energy cost, and the installation costs of a PV-SWH system or PV-T system are not very high. Furthermore, results show that the payback periods are shorter if the selected hybrid PV solar thermal system is PV-SWH system. Table. 6 - 24 also shows the results when the discounted rate is included in the calculation of payback-period, and the DPB is shorter if the solar thermal system is included compared to non-thermal system.

According to the results of Table. 6 - 22, the annual cost can be decreased if the solar thermal system is included in the smart home system. Next, the NPV method is applied for further analysis. The lifetime of SWH is selected as 10 years according to [148]. In this study, cash inflows of 9 years are calculated for both PV-SWH and PV-T systems, which are shown in Appendix. B. The index of NPV, which indicates whether the investment should be accepted, is obtained as shown in Table. 6 - 25. In this case, all NPV values are positive, which means the cost savings generated by the smart home system exceeds the initial cost on the expected year with all selected EVs, and the system with the solar thermal system can be accepted. When comparing the cash inflows of 9 years periods between PV-SWH and PV-T systems, as shown by Table. 6 - 26, the profits of the smart home system will be higher for the PV-T option. For this reason, the hybrid PV-T system can be recommended for the end user from long term perspective of the investment.

Table. 6 - 25 NPV signal of the residential system including SWH

EV Models	NPV for PV-SWH	NPV for PV-T
BMW I3	+	+

SMART	+	+
LEAF	+	+
Tesla 75	+	+
Tesla 100	+	+

Table. 6 - 26 9 years cumulative discounted cash flow for PV-T and PV-SWH systems

EV Models	PV-T system (£)	PV-SWH system (£)
BMW I3	12,185	10,966
SMART	12,393	11,150
LEAF	12,273	11,086
Tesla 75	11,080	9,853
Tesla 100	11,000	9,789

6.4 Summary

In this chapter, three appraisal methods, PB, DPB and NPV, have been applied to analyse the investment worth of the residential home energy system. In the case study, the solar radiation levels at different months are considered to calculate the average daily costs in each month, based on which the annual cost savings can be calculated. Three different residential systems have been investigated, which are the traditional household energy system, the smart home energy system without optimisation, and the optimised smart home energy system. The energy costs of these three systems have been calculated. The financial analysis shows that the end user can achieve more economic benefits from smart homes compared to the traditional residential home system. Comparing the nonoptimised smart home system with the optimised system, it can be concluded that the optimisation scheme can help to reduce the payback period. Case study results show that, for a typical smart home setting with EV, the average optimised payback period is 4.7 years which is 1.2 years shorter than the non-optimised system. In addition to PB, the DPB method is applied to avoid the TVM problem; the discounted payback period for optimised and non-optimised smart home systems are compared. Furthermore, the NPV analysis is applied and the results suggest that three types of EVs can be accepted by the end users, which are SMART, BMW, and LEAF.

Financial analysis has also been made to compare the PV-SWH system and the PV-T system. The NPV analysis result indicate that both systems can be accepted for all types of EVs. The average payback period of the smart home system with solar thermal collectors (either PV-SWH or PV-T), will be much short than the home without thermal collectors. In addition, the uncertainty of findings in Chapter 6 are mainly resulted from two aspects. One is the initial investment of the smart home system which is fixed type, such as EV battery pack purchase costs, PV panel costs, energy system costs and maintenance costs. The other one is the factor that influence the results calculated from the mathematical model, which is unfixed type, such as electricity tariff, different initial values and driving probabilities.

Chapter 7 Conclusions

7.1 Conclusions

Traditional power grids face barriers and challenges when synchronising large scale renewable generation due to the intermittent characteristics of these resources. In order to address these issues related to grid connection, ESS can be used to store energy for future needs and thus relieve the adverse impact of renewable generation. A popular energy storage device is battery pack, which is also the core part of an EV. In fact, an EV can be used as the storage energy device that is able to inject the stored electric power back to the grid, which is called V2G. This can be applied as a new type of energy source and utilised together with ESS in order to achieve optimal operation of power systems.

With the development of these new technologies, the traditional grids need to be upgraded into smart grid that can help to manage the variability of renewable resources and intelligently interact with all users connected to the grid. More importantly, end users will attribute to energy management in smart grid systems in the future; therefore, DSM is required to influence the load, and help to promote the utilisation of renewable resources for the end users. In DSM, customers play an important role as they have the choice from a range of products according to their preference. For residential home users, a household energy management system can benefit the customers and encourage them to participate in V2G.

As EVs have become more and more popular for residential users, reducing the charging cost of EVs is crucial to attract more end users to participate DSM schemes or other energy policies. For this reason, optimised charging control of EVs, which aims at cost reduction for users, should be investigated. In addition, with V2G involved, the energy cost of the end user could be further reduced when ESS is utilised together. However, there is an issue in applying V2G, which is economic viability of V2G due to the high discharging cost. This is often related to factors such as battery degradation, expensive battery pack and low FIT. Furthermore, when EV is considered into the cost minimisation model of end users, the customer's driving behaviours are also affect

implementation of DSM programmes, and will certainly influence the cost reductions and the charging and discharging control of EVs for the household energy management.

When solar energy supply is provided to a residential home, PV and SWH systems are two established technologies. The SWH back-up electricity system can be controlled following the switching on-off characteristics.

To achieve DSM optimisation for smart home systems, initial investments on PV, SWH and ESS, cannot be ignored. Whether the cost savings calculated from the optimisation can compensate the investments needs to be examined.

In this thesis, a mathematical model is built for a residential energy system consisting of an EV, an ESS, renewable generation (PV), and other residential loads. The end user's driving behaviours are considered in this model with the probabilities calculated from survey data. The main objective of this model is to minimise the cost of end user by controlling charging/discharging status of EV and ESS. The relevant battery degradation cost due to V2G are also considered in the optimisation, and whether the existing export tariff is profitable for V2G application has been revealed through case studies. Furthermore, this model can be conveniently expanded to include more controllable components. Two hybrid solar thermal systems, PV-SWH and PV-T, are considered and compared. The benefits of solar thermal system for the end user are investigated from the economic point of view. The split of the limited solar panel area between SWH and PV is determined when other DSM factors are optimised together under the same modelling framework. Finally, different appraisal methods are applied to analyse the investment worth of the residential systems. Comparisons of different household systems and the optimal system choices are given, such as EV selection, indications of the installing costs and so on. The input data are assumed to be fixed in the case studies, so the results calculated from the mathematical model would be influenced by different input data, such as electricity tariff, different initial values and driving probabilities. However, the mathematical model built in this study can be easily applied with different input data, and the results can also indicate a helpful guidance for the end user under different situation.

In the case studies, the original input data are sourced from different companies in U.K, such as electricity tariffs, FIT, battery prices of different EVs. Other residential daily load consumption and solar radiation are also selected as the original input data which are

assumed to be fixed on each sampling time. With use of selected input data, results of case studies show that the total operational cost remains at the same minimum value if the initial SOC value is larger than or equal to the lower bound of the terminal SOC from the previous driving. This is because of the existing export tariff in U.K is not large enough to compensate for the degradation cost of battery's discharging, and thus, there is no power return either from ESS to home supply or from EV to grid through V2G. The overall cost measure will increase when the initial SOC is smaller than the lower bound of the terminal SOC, and it will be slightly smaller if charging the same amount of energy to EV from a lower initial SOC. Several different EV models are studied, and the economical choice has been provided. Different impacts of the export tariff are discussed. The results show that the EV will only start to discharge when the export tariff is larger than or equal to $f_{0.25}$ /kWh for the fixed tariff, and $f_{0.15}$ /kWh for the TOU tariff in the case studies. These thresholds could be decreased if the battery degradation cost can be decreased in the future. In comparison to the non-optimised typical operation without the optimal DSM, it is found that the proposed optimal solution can achieve cost savings from 9% to 15% under the selected fixed tariff, and from 18% to 48% under the given TOU tariff.

When SWH is included in this residential energy system, the sufficient areas of solar thermal collector for different seasons are obtained. Comparing SWH with PV, the results also show that SWH is necessary to achieve the best economic benefit for the end user and the trade-off decision for different area of SWH and PV are obtained. The factors that influence the water temperature are also investigated. Moreover, the hybrid PV-T system is compared to the hybrid system of PV and SWH. Results show that PV-T system can achieve more cost savings than a combination of PV and SWH. The cost which is obtained through the optimisation have been compared with the non-optimised settings, and the results show that the optimisation can reduce the cost at least 77%.

Finally, several appraisal methods are applied to assess and analyse the investment worth of the residential energy system under the developed optimisation. Results show that the smart home's end user can achieve more economic benefits compared to the traditional residential home system. Comparing the results of non-optimised residential home system to optimised systems, it can be concluded that the optimised DSM can help to reduce the payback period. In addition, the average payback period after the optimisation is 4.7 years which is 1.2 years shorter than the non-optimised situation. If the discounted rate is introduced to discount the cash flow in order to avoid the problem of TVM, the average discounted payback period are 5.0 years and 6.4 years for optimised and non-optimised solutions, respectively. Furthermore, the results of NPV signal for different scenarios indicate that three types of EV are more likely to be accepted by the end users, which are SMART, BMW, and LEAF. The economic benefits of renewable devices, which are PV-SWH and PV-T, are analysed through the above appraisal methods. The NPV analysis indicates that both of PV-SWH and PV-T can be accepted for all types of EVs, and the average payback period of residential system will be much shorter than the system without the solar thermal system. This is mainly resulted from the energy savings from the hot water consumption. Though the payback period of PV-SWH system is shorter than PV-T system, PV-T system is still recommended if the user wants to achieve more benefits from a long term perspective.

7.2 Future perspectives

The works presented in this thesis proposed a novel DSM model framework for a residential home system, considering EV, energy storage system (ESS), renewable technologies, solar thermal technologies and human behaviours. In the light of the direction that this work took, the following research avenues may be of interest to both academia and industry:

- The main objective of this work is to minimise the energy cost of end user for a single residential household system. In the future research, the household system will be expanded to a residential building size system with distribution network, such as commercial building, hospital and so on. Multiple EVs and end users will be considered where they can be jointly managed through the optimisation scheme. The benefits for both sides of end users and grid operator will be investigated. Larger size of PV system and SWH system will be considered.
- The ESS applied in this study is for a single household, which is a small battery based storage. For larger systems, fuel cells can be used as a back-up power system. It can also be implemented as part of the combined heat and power
(CHP) system, where the thermal energy from the fuel cell exhaustion is recovered and used to heat or cool residential buildings. Therefore, a CHP system will be established by considering renewable generation, fuel cell, for a residential building. The investment worth of the residential building energy system will also be analysed through the appraisal methods.

• The driving behaviours of the end user are described through a practical survey. It can describe a single user's driving behaviours but may not suitable for multiple end users. In a residential building, the end users' vehicles are parked in a building car park. A typical car park traffic flow model will be added to describe the driving behaviours for the residential building.

Appendix

A. Survey Data

The survey was conducted by designed questionnaires and there were 201 respondents participated, each with a full time job, a driving license and aged between 22 to 55 years old. The area Most of them responded the survey through online service, and the time period for this survey was between Oct 2016 and Jan 2017. The averaged probabilities from the 201 questionnaires are summarised in the tables below, in which all the figures are normalised in percentage.

Table A. 1 Purpose of driving and probabilities

Purpose of driving	Probability (%)
1 0	
a. Shopping	20.96
" on others	
b. Dating/Camping/Entertainment (Entertain.)	25.55
0 I 0 ()	
c. Go to work/meeting (Business)	23.95
d. Pick up friends/children	16.97
	10.55
e. Travel for other purposes (Others)	12.57

Table A. 2 Driving distance (normalised in percentage for each row)

Driving distance, miles	< 1	1-3	3-5	5-10	10-20	20-40	40-80	80- 120	120- 160	160- 200	> 200
a. Shopping	28.14	46.71	14.37	6.59	2.99	0.00	1.20	0.00	0.00	0.00	0.00
b. Entertain.	4.19	14.97	21.56	17.96	14.97	14.97	5.99	3.59	1.20	0.00	0.60
c. Business	4.79	19.16	21.56	25.75	13.17	6.59	7.78	0.60	0.00	0.60	0.00
d. Pick up	10.78	25.75	28.14	17.96	9.58	4.79	2.40	0.60	0.00	0.00	0.00
e. Others	4.79	0.60	4.19	2.40	5.39	2.40	11.98	26.35	5.99	7.78	28.14

Table A. 3 Driving time period (normalised in percentage for each row)

Driving time period	7:00-10:00	10:00-14:00	14:00-17:00	17:00-20:00	20:00-23:00	After23:00
a. Shopping	15.09	11.20	15.09	44.79	13.83	0.00
b. Entertain.	11.47	17.93	18.65	28.68	18.61	4.66
c. Business	49.71	15.44	14.31	17.53	2.26	0.75
d. Pick up	37.18	8.61	11.35	32.79	6.65	3.42

e. Others	32.22	25.71	15.95	12.00	7.61	6.51

Driving time duration	< 10 mins	10 -20 mins	20 -30 mins	30 mins-1 hr	1 - 2 hrs	2 -3 hrs	4 hrs
a. Shopping	34.73	43.71	13.77	7.19	0.60	0	0
b. Entertainment	4.19	11.38	23.35	29.34	15.57	7.79	8.38
c. Business	7.78	28.14	26.35	21.56	8.39	3.59	4.19
d. Pick up	9.58	37.13	22.16	20.36	7.77	1.80	1.20
e. Others	2.99	1.20	1.20	2.40	12.57	13.77	65.87

Table A. 4 Driving time duration (normalised in percentage for each row)

Table A. 5 Parking time duration (normalised in percentage for each row)

Parking time duration	< 10 mins	10 -20 mins	20 -30 mins	30mins-1 hr	1 - 2 hrs	2 -3 hrs	4 hrs	6 hrs
a. Shopping	6.59	10.78	15.57	37.13	20.36	7.19	2.38	0
b. Entertainment	4.19	2.99	4.19	4.79	25.75	34.13	13.78	10.18
c. Business	4.79	3.59	4.79	4.19	13.17	11.38	16.17	41.92
d. Pick up	28.95	31.34	20.56	4.19	5.99	5.39	1.78	1.80
e. Others	5.99	4.19	1.20	2.99	4.79	4.79	10.18	65.87

B. Annual cash flow and cumulative cash flow for different cases

Table B. 1 BMW annual cash flow and cumulative cash flow without optimisation if electricity tariff is fixed

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
i cai			(£)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	1,742	0.9766	1,701	-8,447
2	1,742	0.9537	1,661	-6,785
3	1,742	0.9313	1,622	-5,163
4	1,742	0.9095	1,584	-3,579
5	1,742	0.8882	1,547	-2,031
6	1,742	0.8674	1,511	-520
7	1,742	0.8470	1,475	955
8	1,742	0.8272	1,441	2,396
9	1,742	0.8078	1,407	3,803

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
i cai			(J.)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	1,763	0.9766	1,722	-8,426
2	1,763	0.9537	1,681	-6,745
3	1,763	0.9313	1,642	-5,103
4	1,763	0.9095	1,603	-3,500
5	1,763	0.8882	1,566	-1,934
6	1,763	0.8674	1,529	-404
7	1,763	0.8470	1,493	1,089
8	1,763	0.8272	1,458	2,547
9	1,763	0.8078	1,424	3,971

Table B. 2 SMART annual cash flow and cumulative cash flow without optimisation if electricity tariff is fixed

Table B. 3 LEAF annual cash flow and cumulative cash flow without optimisation if electricity tariff is fixed

Year	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
Tour			(£)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	1,715	0.9766	1,675	-8,473
2	1,715	0.9537	1,636	-6,838
3	1,715	0.9313	1,597	-5,240
4	1,715	0.9095	1,560	-3,681
5	1,715	0.8882	1,523	-2,157
6	1,715	0.8674	1,488	-670
7	1,715	0.8470	1,453	783
8	1,715	0.8272	1,419	2,202
9	1,715	0.8078	1,385	3,587

Table B. 4 TESLA 75 annual cash flow and cumulative cash flow without optimisation if electricity tariff is fixed

Year		OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
1 cur				(£)	cash flow (£)
	0	-10,148	1	-10,148	-10,148
	1	1,546	0.9766	1,510	-8,638
	2	1,546	0.9537	1,474	-7,164
	-				

3	1,546	0.9313	1,440	-5,724
4	1,546	0.9095	1,406	-4,318
5	1,546	0.8882	1,373	-2,945
6	1,546	0.8674	1,341	-1,604
7	1,546	0.8470	1,309	-294
8	1,546	0.8272	1,279	985
9	1,546	0.8078	1,249	2,233

Table B. 5 TESL	A 100 annual cash	flow and curr	ulative cash	flow without	optimisation	if electricity tarif
is fixed						

Year	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
			(£)	cash flow (f)
0	-10,148	1	-10,148	-10,148
1	1,442	0.9766	1,408	-8,740
2	1,442	0.9537	1,375	-7,365
3	1,442	0.9313	1,343	-6,022
4	1,442	0.9095	1,311	-4,710
5	1,442	0.8882	1,281	-3,429
6	1,442	0.8674	1,251	-2,178
7	1,442	0.8470	1,221	-957
8	1,442	0.8272	1,193	236
9	1,442	0.8078	1,165	1,401

Table B. 6 BMW annual cash flow and cumulative cash flow without optimisation if electricity tariff is TOU

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
i cai			(£)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	1,913	0.9766	1,868	-8,280
2	1,913	0.9537	1,824	-6,455
3	1,913	0.9313	1,782	-4,674
4	1,913	0.9095	1,740	-2,934
5	1,913	0.8882	1,699	-1,235
6	1,913	0.8674	1,659	425
7	1,913	0.8470	1,620	2,045
8	1,913	0.8272	1,582	3,627
9	1,913	0.8078	1,545	5,173

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
i cai			(£)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	1,948	0.9766	1,902	-8,246
2	1,948	0.9537	1,858	-6,388
3	1,948	0.9313	1,814	-4,574
4	1,948	0.9095	1,772	-2,802
5	1,948	0.8882	1,730	-1,072
6	1,948	0.8674	1,690	618
7	1,948	0.8470	1,650	2,268
8	1,948	0.8272	1,611	3,879
9	1,948	0.8078	1,574	5,453

Table B. 7 SMART annual cash flow and cumulative cash flow without optimisation if electricity tariff is TOU

Table B. 8 LEAF annual cash flow and cumulative cash flow without optimisation if electricity tariff is TOU

Year	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
1 cur			(£)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	1,928	0.9766	1,883	-8,265
2	1,928	0.9537	1,839	-6,426
3	1,928	0.9313	1,796	-4,631
4	1,928	0.9095	1,754	-2,877
5	1,928	0.8882	1,712	-1,165
6	1,928	0.8674	1,672	507
7	1,928	0.8470	1,633	2,140
8	1,928	0.8272	1,595	3,735
9	1,928	0.8078	1,557	5,293

Table B. 9 TESLA 75 annual cash flow and cumulative cash flow without optimisation if electricity tariff is TOU

Year	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
1 cur			(£)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	1,760	0.9766	1,719	-8,429
2	1,760	0.9537	1,679	-6,751
-				

3	1,760	0.9313	1,639	-5,112
4	1,760	0.9095	1,601	-3,511
5	1,760	0.8882	1,563	-1,948
6	1,760	0.8674	1,527	-421
7	1,760	0.8470	1,491	1,070
8	1,760	0.8272	1,456	2,526
9	1,760	0.8078	1,422	3,947

Table B.	10 TE	ESLA 1	100 annual	cash flow	^v and	cumulative	cash	flow	without	optimisati	on if elec	tricity
tariff is 7	ГOU											

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
i cai			(£)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	1,667	0.9766	1,628	-8,520
2	1,667	0.9537	1,590	-6,930
3	1,667	0.9313	1,552	-5,378
4	1,667	0.9095	1,516	-3,862
5	1,667	0.8882	1,481	-2,381
6	1,667	0.8674	1,446	-935
7	1,667	0.8470	1,412	477
8	1,667	0.8272	1,379	1,856
9	1,667	0.8078	1,347	3,203

Table B. 11 BMW annual cash flow and cumulative cash flow after optimisation if electricity tariff is fixed

	ODE (A			
Year BMW	$OPF(\underline{f})$	Cash inflow factor	Discounted cash flow	Cumulative discounted
			(£)	cash flow (f)
0	-10,148	1	-10,148	-10,148
1	2,140	0.9766	2,090	-8,058
2	2,140	0.9537	2,041	-6,017
3	2,140	0.9313	1,993	-4,024
4	2,140	0.9095	1,946	-2,078
5	2,140	0.8882	1,901	-177
6	2,140	0.8674	1,856	1,679
7	2,140	0.8470	1,813	3,492
8	2,140	0.8272	1,770	5,262
9	2,140	0.8078	1,729	6,991

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
i cui			(<u>)</u>	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	2,163	0.9766	2,112	-8,036
2	2,163	0.9537	2,063	-5,973
3	2,163	0.9313	2,014	-3,958
4	2,163	0.9095	1,967	-1,991
5	2,163	0.8882	1,921	-70
6	2,163	0.8674	1,876	1,806
7	2,163	0.8470	1,832	3,638
8	2,163	0.8272	1,789	5,428
9	2,163	0.8078	1,747	7,175

Table B. 12 SMART annual cash flow and cumulative cash flow after optimisation if electricity tariff is fixed

Table B. 13 LEAF annual cash flow and cumulative cash flow after optimisation if electricity tariff is fixed

	ODE (A			
Year	$OPF(\underline{f})$	Cash inflow factor	Discounted cash flow	Cumulative discounted
			(£)	cash flow (f)
0	-10,148	1	-10,148	-10,148
1	2,153	0.9766	2,103	-8,045
2	2,153	0.9537	2,053	-5,992
3	2,153	0.9313	2,005	-3,987
4	2,153	0.9095	1,958	-2,029
5	2,153	0.8882	1,912	-117
6	2,153	0.8674	1,868	1,751
7	2,153	0.8470	1,824	3,575
8	2,153	0.8272	1,781	5,356
9	2,153	0.8078	1,739	7,095

Table B. 14 TESLA 75 annual cash flow and cumulative cash flow after optimisation if electricity tariff is fixed

Year	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
1 cur			(£)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	2,002	0.9766	1,955	-8,193
2	2,002	0.9537	1,909	-6,284
3	2,002	0.9313	1,864	-4,419

4	2,002	0.9095	1,821	-2,598
5	2,002	0.8882	1,778	-820
6	2,002	0.8674	1,737	916
7	2,002	0.8470	1,696	2,612
8	2,002	0.8272	1,656	4,268
9	2,002	0.8078	1,617	5,885
· · · · · · · · · · · · · · · · · · ·				

Table B. 15 TESLA 100 annual cash flow and cumulative cash flow after optimisation if electricity tariff is fixed

Veor	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
Tear			(£)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	1,978	0.9766	1,932	-8,216
2	1,978	0.9537	1,886	-6,330
3	1,978	0.9313	1,842	-4,488
4	1,978	0.9095	1,799	-2,689
5	1,978	0.8882	1,757	-932
6	1,978	0.8674	1,716	784
7	1,978	0.8470	1,675	2,459
8	1,978	0.8272	1,636	4,095
9	1,978	0.8078	1,598	5,693

Year	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
1 cur			(J.)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	2,306	0.9766	2,252	-7,896
2	2,306	0.9537	2,199	-5,697
3	2,306	0.9313	2,148	-3,549
4	2,306	0.9095	2,097	-1,452
5	2,306	0.8882	2,048	596
6	2,306	0.8674	2,000	2,597
7	2,306	0.8470	1,953	4,550
8	2,306	0.8272	1,908	6,457
9	2,306	0.8078	1,863	8,320

Table B. 16 BMW annual cash flow and cumulative cash flow after optimisation if electricity tariff is TOU

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
i cai			(£)	$\cosh flow (f)$
0	-10,148	1	-10,148	-10,148
1	2,338	0.9766	2,283	-7,865
2	2,338	0.9537	2,230	-5,635
3	2,338	0.9313	2,177	-3,458
4	2,338	0.9095	2,126	-1,331
5	2,338	0.8882	2,077	745
6	2,338	0.8674	2,028	2,773
7	2,338	0.8470	1,980	4,754
8	2,338	0.8272	1,934	6,688
9	2,338	0.8078	1,889	8,576

Table B. 17 SMART annual cash flow and cumulative cash flow after optimisation if electricity tariff is TOU

Table B. 18 LEAF annual cash flow and cumulative cash flow after optimisation if electricity tariff is TOU

Year	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
I Cul			(<u>)</u>	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	2,329	0.9766	2,275	-7,873
2	2,329	0.9537	2,221	-5,652
3	2,329	0.9313	2,169	-3,483
4	2,329	0.9095	2,118	-1,365
5	2,329	0.8882	2,069	704
6	2,329	0.8674	2,020	2,724
7	2,329	0.8470	1,973	4,696
8	2,329	0.8272	1,927	6,623
9	2,329	0.8078	1,881	8,504

Table B. 19 TESLA 75 annual cash flow and cumulative cash flow after optimisation if electricity tariff is TOU

Year	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
1001			(£)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	2,178	0.9766	2,127	-8,021
2	2,178	0.9537	2,077	-5,944
-				

3	2,178	0.9313	2,028	-3,915
4	2,178	0.9095	1,981	-1,935
5	2,178	0.8882	1,935	0
6	2,178	0.8674	1,889	1,889
7	2,178	0.8470	1,845	3,734
8	2,178	0.8272	1,802	5,536
9	2,178	0.8078	1,759	7,295

Table B. 20 TESLA	100 annual ca	sh flow and	cumulative	cash flow	after op	timisation i	felectricity	tariff is
TOU								

Year	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
			(£)	cash flow (£)
0	-10,148	1	-10,148	-10,148
1	2,156	0.9766	2,106	-8,042
2	2,156	0.9537	2,056	-5,986
3	2,156	0.9313	2,008	-3,978
4	2,156	0.9095	1,961	-2,018
5	2,156	0.8882	1,915	-103
6	2,156	0.8674	1,870	1,768
7	2,156	0.8470	1,826	3,594
8	2,156	0.8272	1,783	5,377
9	2,156	0.8078	1,742	7,119

Table B. 21 BMW annual cash flow and cumulative cash flow after optimisation for PV-SWH system

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
i cai			(£)	cash flow (f)
0	-7,638	1	-7638	-7,638
1	2,323	0.9766	2,269	-5,369
2	2,323	0.9537	2,215	-3,154
3	2,323	0.9313	2,163	-991
4	2,323	0.9095	2,113	1,122
5	2,323	0.8882	2,063	3,186
6	2,323	0.8674	2,015	5,201
7	2,323	0.8470	1,968	7,168
8	2,323	0.8272	1,922	9,090
9	2,323	0.8078	1,877	10,966

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
i cai			(£)	cash flow (£)
0	-7,638	1	-7638	-7,638
1	2,346	0.9766	2,291	-5,347
2	2,346	0.9537	2,237	-3,110
3	2,346	0.9313	2,185	-925
4	2,346	0.9095	2,134	1,209
5	2,346	0.8882	2,084	3,293
6	2,346	0.8674	2,035	5,328
7	2,346	0.8470	1,987	7,315
8	2,346	0.8272	1,941	9,255
9	2,346	0.8078	1,895	11,150

Table B. 22 SMART annual cash flow and cumulative cash flow after optimisation for PV-SWH system

Table B. 23 LEAF annual cash flow and cumulative cash flow after	optimisation	for PV-SWH system
--	--------------	-------------------

	ODE (A)	Cash inflow factor	Discounted each flow	Cumulating discounted
Year	$OPF(\underline{z})$	Cash mnow factor	Discounted cash now	Cumulative discounted
			(£)	$\cosh flow (f)$
0	-7,638	1	-7638	-7,638
1	2,338	0.9766	2,283	-5,355
2	2,338	0.9537	2,230	-3,125
3	2,338	0.9313	2,177	-948
4	2,338	0.9095	2,126	1,179
5	2,338	0.8882	2,077	3,255
6	2,338	0.8674	2,028	5,283
7	2,338	0.8470	1,980	7,264
8	2,338	0.8272	1,934	9,198
9	2,338	0.8078	1,889	11,086

Table B. 24	TESLA 75 annua	l cash flow	and cumu	lative cash	flow after	optimisation	for PV-
SWH system	1						

Year	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
			(£)	cash flow (£)
0	-7,638	1	-7638	-7,638
1	2,184	0.9766	2,133	-5,505
2	2,184	0.9537	2,083	-3,422
3	2,184	0.9313	2,034	-1,388
4	2,184	0.9095	1,986	598
4	2,184	0.9095	1,986	598

5	2,184	0.8882	1,940	2,538
6	2,184	0.8674	1,894	4,432
7	2,184	0.8470	1,850	6,282
8	2,184	0.8272	1,807	8,089
9	2,184	0.8078	1,764	9,853

Table B. 25	TESLA	100 annual	cash flow	^y and	cumulative	cash	flow a	fter	optimisatio	n for	PV-	SWH
system												

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
i cai			(£)	cash flow (£)
0	-7,638	1	-7638	-7,638
1	2,176	0.9766	2,125	-5,513
2	2,176	0.9537	2,075	-3,438
3	2,176	0.9313	2,027	-1,411
4	2,176	0.9095	1,979	568
5	2,176	0.8882	1,933	2,501
6	2,176	0.8674	1,887	4,388
7	2,176	0.8470	1,843	6,231
8	2,176	0.8272	1,800	8,031
9	2,176	0.8078	1,758	9,789

Table B. 26 BMW annual cash flow and cumulative cash flow after optimisation for PV-T system

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
Tear			(£)	cash flow (\underline{f})
0	-9,094	1	-9,094	-9,094
1	2,657	0.9766	2,595	-6,499
2	2,657	0.9537	2,534	-3,965
3	2,657	0.9313	2,474	-1,491
4	2,657	0.9095	2,417	926
5	2,657	0.8882	2,360	3,286
6	2,657	0.8674	2,305	5,590
7	2,657	0.8470	2,250	7,841
8	2,657	0.8272	2,198	10,039
9	2,657	0.8078	2,146	12,185

Table B. 27 SMART annual cash flow and cumulative cash flow after optimisation for PV-T system

Year	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
Year			(£)	cash flow (f)

0	-9,094	1	-9,094	-9,094
1	2,683	0.9766	2,620	-6,474
2	2,683	0.9537	2,559	-3,915
3	2,683	0.9313	2,499	-1,416
4	2,683	0.9095	2,440	1,024
5	2,683	0.8882	2,383	3,407
6	2,683	0.8674	2,327	5,734
7	2,683	0.8470	2,273	8,007
8	2,683	0.8272	2,219	10,226
9	2,683	0.8078	2,167	12,393
· · ·				

-

Table B. 28 LEAF annual cash flow and cumulative cash flow after optimisation for PV-T system

Vear	OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
i cai			(£)	cash flow (£)
0	-9,094	1	-9,094	-9,094
1	2,668	0.9766	2,606	-6,488
2	2,668	0.9537	2,544	-3,944
3	2,668	0.9313	2,485	-1,459
4	2,668	0.9095	2,427	967
5	2,668	0.8882	2,370	3,337
6	2,668	0.8674	2,314	5,651
7	2,668	0.8470	2,260	7,911
8	2,668	0.8272	2,207	10,118
9	2,668	0.8078	2,155	12,273

Year		OPF (£)	Cash inflow factor	Discounted cash flow	Cumulative discounted
1 cur				(£)	cash flow (f)
	0	-9,094	1	-9,094	-9,094
		2.510	0.0766	2 460	6.624

Table B. 29 TESLA 75 annual cash flow and cumulative cash flow after optimisation for PV-T system

i cai				(£)	cash flow (£)
	0	-9,094	1	-9,094	-9,094
	1	2,519	0.9766	2,460	-6,634
	2	2,519	0.9537	2,402	-4,232
	3	2,519	0.9313	2,346	-1,886
	4	2,519	0.9095	2,291	405
	5	2,519	0.8882	2,237	2,643
	6	2,519	0.8674	2,185	4,828
	7	2,519	0.8470	2,134	6,961
	8	2,519	0.8272	2,084	9,045

9	2,519	0.8078	2035	11080

	OPF(f)	Cash inflow factor	Discounted cash flow	Cumulative discounted
Year			(£)	cash flow (£)
0	-9,094	1	-9,094	-9,094
1	2,509	0.9766	2,450	-6,644
2	2,509	0.9537	2,393	-4,251
3	2,509	0.9313	2,337	-1,914
4	2,509	0.9095	2,282	368
5	2,509	0.8882	2,228	2,596
6	2,509	0.8674	2,176	4,772
7	2,509	0.8470	2,125	6,898
8	2,509	0.8272	2,075	8,973
9	2,509	0.8078	2,027	11,000

Table B. 30 TESLA 100 annual cash flow	and cumulative cash flow after optimisation	for PV-T system
	1	2

References

- G. Kamiya, J. Axsen, and C. Crawford, "Modeling the GHG emissions intensity of plug-in electric vehicles using short-term and long-term perspectives," *Transport and Environment*, vol. 69, pp. 209-223, 2019.
- [2] O. Erdinc, N. G. Paterakis, T. D. P. Mendes, A. G. Bakirtzis, and J. P. S. Catalão, "Smart household operation considering bi-directional EV and ESS utilization by real-time pricing-based DR," *IEEE Trans Smart Grid*, vol. 6, pp. 1281-1291, 2015.
- [3] H. Farzin, M. Fotuhi-Firuzabad, and M. Moeini-Aghtaie, "A practical scheme to involve degradation cost of lithium-ion batteries in vehicle-to-grid applications," *IEEE Trans Sustain Energy*, vol. 7, pp. 1730-1738, 2016.
- [4] Q. Zhong, S. Buckley, A. Vassallo, and Y. Sun, "Energy cost minimization through optimization of EV, home and workplace battery storage," *Sci China Tech Sci*, vol. 61, pp. 1-13, 2018.
- [5] Y. Sun, H. Yue, J. Zhang, and C. Booth, "Minimisation of residential energy cost considering energy storage system and EV with driving usage probabilities," *IEEE Transactions on Sustainable Energy* vol. 10, pp. 1752-1763, 2019.
- [6] R. Sharifia, S. H. Fathia, and V. Vahidinasabb, "A review on demand-side tools in electricity market," *Renew Sust Energ Rev,* vol. 72, pp. 565-572, Jan. 2017.
- [7] A. Foley, B. Tyther, P. Canlnan, and B. Gallachóir, "Impacts of electric vehicle charging under electricity marktet operations," *Applied Energy*, vol. 101, pp. 93-102, January 2013.
- [8] K. Chaudhari, A. Ukil, K. N. Kumar, and U. Manandhar, "Hybrid optimisation for economic deployment of ESS in PV-integrated EV charging stations," *IEEE Transactions on Industrial Informatics*, vol. 14, pp. 106-116, 2018.
- [9] J. Tang, B. Ye, Q. Lu, D. Wang, and J. Li, "Economic analysis of photovoltaic electricity supply for an electric vehicle fleet in shenzhen, china," *International Journal of Sustainable Transportation*, vol. 8, pp. 202-224, February 2014.

- [10] B. Ye, J. Jiang, L. Miao, P. Yang, J. Li, and B. Shen, "Feasibility study of a solar powered electric vehicle charging station model," *Energies*, vol. 8, pp. 13265-13283, November 2015.
- [11] C. S. aegerl and L. Tao, "The microgrids concepts," in *Microgrids: Architectures and Control*, N. Hatziargyriou, Ed., ed United Kindom: Wiley, 2013.
- [12] W. Strielkowski, *Social impacts of smart grids*: 2020 Elsevier Inc, 2020.
- [13] T. Logenthiran, D. Srinivasan, and T. Z. Shun, "Demand side management in smart grid using heuristic optimization," *IEEE Transactions on Smart Grid*, vol. 3, pp. 1244-1252, September 2012.
- [14] S. Rahman and Rinaldy, "An efficient load model for analyzing demand side management impacts," *IEEE Transactions on Power Systems*, vol. 8, pp. 1219-1226, August 1993.
- [15] A. Zidan and H. A. Gabbar, "Design and control of V2G," in *Smart energy grid* engineering, ed: Elsevier Inc, 2017.
- [16] M. v. d. Kam and W. v. Sark, "Smart charging of electric vehicles with photovoltaic power and vehicle-to-grid technology in a microgrid; a case study," *Applied Energy*, vol. 152, pp. 20-30, 2015.
- [17] G. R. Parsons, M. K. Hidrue, W. Kempton, and M. P. Gardner, "Willingness to pay for vehicle-to-grid (V2G) electric vehicles and their contract terms," *Energy Economics*, vol. 42, pp. 313-324, 2014.
- [18] D. B. Richardson, "Encouraging vehicle-to-grid (V2G) participation through premium tariff rates," *Journal of Power Sources*, vol. 243, pp. 219-224, Jun. 2013.
- [19] J. D. K. Bishop, C. J. Axon, D. Bonilla, M. Tran, D. Banister, and M. D. McCulloch, "Evaluating the impact of V2G services on the degradation of batteries in PHEV and EV," *Applied Energy*, vol. 111, pp. 206-218, May 2013.
- [20] X. Hu, C. M. Martinez, and Y. Yang, "Charging, power management, and battery degradation mitigation in plug-in hybrid electric vehicles: A unified costoptimal approach," *Mechanical Systems and Signal Processing*, vol. 87, pp. 4-16, 2017.

- [21] R. Sharifia, S. H. Fathia, and V. Vahidinasabb, "A review on demand-side tools in electricity market," *Renewable and Sustainable Energy Reviews*, vol. 72, pp. 565-572, January 2017.
- [22] L. Stonecypher. (2011, 08 Nov). Advantages and disadvantages of coal for power plants. Available: <u>http://www.brighthubengineering.com/power-plants/115683-advantages-and-disadvantages-of-coal-for-power-plants/</u>
- [23] C. Huhne, C. Jones, A. Foster, and F. Ewing, "UK renewable energy roadmap," Department of energy & climate change, UK, 2011.
- [24] R. J. Campbell, "China and the united states—a comparison of green energy programs and policies," Congressional Research Service, 2014.
- [25] O. Edenhofer, R. Pichs-Madruga, and Y. Sokona, "Special report on renewable energy sources and climate change mitigation," Intergovernmental Panel on Climate Change, 2011.
- [26] P. Berrill, A. Arvesen, Y. Scholz, H. C. Gils, and E. G. Hertwich,
 "Environmental impacts of high penetration renewable energy scenarios for Europe," *Environmental Research Letters*, vol. 11, pp. 1-10, 2016.
- [27] N. Hatziargyriou, Microgrids: architectures and control, First Edition ed.: John Wiley Ltd, 2014.
- [28] S. F. Bush, Smart grid: communication-enabled intelligence for the electric power grid: John Wiley Ltd, 2014.
- [29] "European smart grids technology platform," European Commission, 2006.
- [30] EIA. (2019, 4 Jan). *Electricity explained: use of electricity*. Available: https://www.eia.gov/energyexplained/electricity/use-of-electricity.php
- [31] (2017, 28 Mar). Energy consumption and use by households. Available: http://ec.europa.eu/eurostat/web/products-eurostat-news/-/DDN-20170328-1
- [32] (2020, 16 Jan). UK electricity demand by sector. Available: https://knowledge.energyinst.org/search/record?id=58961

- [33] J.-P. Zimmermann, M. Evans, J. Griggs, N. King, L. Harding, P. Roberts, *et al.*,
 "Household electricity survey: a study of domestic electrical product usage,"
 Intertek Testing & Certification Ltd, UK, 2012.
- [34] A. Garg, J. Maheshwari, D. Mahapatra, and S. Kumar, "Economic and environmental implications of demand-side management options," *Energy Policy*, vol. 39, pp. 3076-3085, 2011.
- [35] I. Hernando-Gil, I.-S. Ilie, and S. Z. Djokic, "Reliability performance of smart grids with demand-side management and distributed generation/storage technologies," presented at the 2012 3rd IEEE PES Innovative Smart Grid Technologies Europe (ISGT Europe), Berlin, 2012.
- [36] A. Barbato and A. Capone, "Optimization models and methods for demand-side management of residential users: a survey," *Energies*, pp. 5787-5824, 2014.
- [37] K. Syngellakis, S. Taylor, M. Draeck, F. Crick, B. McNelis, X. Lemaire, *et al.*,"Sustainable energy regulation and policymaking for africa," United Nations Industrial Development Organization.
- [38] C. W. Gellings and K. E. Parmenter, *Efficient use and conservation of energy* vol. 2. USA: EOLSS Publishers Co Ltd, 2009.
- [39] P. Palensky and D. Dietrich, "Demand side management: demand response, intelligent energy systems, and smart loads," *IEEE Transactions on Industrial Informatics*, vol. 7, pp. 381-388, 2011.
- [40] J. R. Stedinger, J. P. M. Dijkman, and M. T. Villars, Water resources systems planning and management: an introduction to methods, models and applications: United Nations Educational, Scientific and Cultural Organization, 2005.
- [41] GoranStrbac, "Demand side management: benefits and challenges," *Energy Policy*, vol. 36, pp. 4419-4426, 2008.
- [42] N. O'Connell, P. Pinson, H. Madsen, and M. O'Malley, "Benefits and challenges of electrical demand response: a critical review," *Renewable and Sustainable Energy Reviews*, 2014.

- [43] R. Sharifi, S. H. Fathi, and V. Vahidinasab, "A review on demand-side tools in electricity market," *Renewable and Sustainable Energy Reviews*, vol. 72, pp. 565-572, 2017.
- [44] N. V. S. Raju, Optimization methods for engineers: PHI Learning Private Limited 2014.
- [45] S. P. Bradley, A. C. Hax, and T. L. Magnanti, *Applied mathematical programming*: Addison Wesley, 1977.
- [46] B. Kolman and R. E. Beck, *Elementary linear programming with applications*: Academic Press, 1980.
- [47] G. L. Nemhauser and L. A. Wolsey, "Integer programming," in *Handbooks in Operations Research and Management Science*. vol. 1, ed: Elsevier B.V., 1989, pp. 447-527.
- [48] J. H. Holland, Adaptation in natural and artificial systems. USA: University of Michigan Press, 1975.
- [49] G. Lindfield and J. Penny, Introduction to nature-inspired optimization: Elsevier, 2017.
- [50] M.-C. Frunza, *Solving modern crime in financial markets*: Elsevier, 2016.
- [51] Z. Michalewicz and C. Z. Janikow, "Genetic algorithms for numerical optimization," *Statistics and Computing*, vol. 1, pp. 75-91, 1991.
- [52] X.-s. Yang, Nature inspired optimization algorithms. USA: Elsevier, 2014.
- [53] J. Straßburga, C. Gonz´alez-Martelb, and V. Alexandrovc, "Parallel genetic algorithms for stock market trading rules," presented at the International Conference on Computational Science, ICCS 2012, 2012.
- [54] R. Rojas, Neural networks: a systematic introduction: Springer, 1996.
- [55] D. B. Fogel, "The advantages of evolutionary computation," Proceeding of biocomputing and emergent computation, pp. 1-11, 1997.
- [56] F. Un-Noor, S. Padmanaban, L. Mihet-Popa, M. N. Mollah, and E. Hossain, "A comprehensive study of key electric vehicle (EV) components, technologies, challenges, impacts, and future direction of development," *Energies*, 2017.

- [57] M. Bellis. (2019, 23 Mar). A history of electric vehicles. Available: https://www.thoughtco.com/history-of-electric-vehicles-1991603
- [58] D. Carley. (2014, 01 Aug). The beginners guide to electric vehicles (EV). Available: http://pluginbc.ca/wp/wp-content/uploads/2014/07/EV-Beginners-Guide_Final_Sept2_2014.pdf
- [59] J. Larminie and J. Lowry, *Electric vehicle technology explained*. UK: John Wiley Ltd, 2012.
- [60] H. Gabbar, *Smart energy grid engineering*: Academic Press, 2016.
- [61] S. Debbarma and R. Shrivastwa, "Grid frequency support from V2G aggregators and HVDC links in presences of nonsynchronous units," *IEEE Systems Journal*, vol. 13, pp. 1757-1766, 2019.
- [62] S. ShojaabadI, S. Abapour, M. Abapour, and A. Nahavandi, "Optimal planning of plug-in hybrid electric vehicle charging station in distribution network considering demand response programs and uncertainties," *IET Generation, Transmission & Distribution,* vol. 10, pp. 3330-3340, 2016.
- [63] P. Richardson, D. Flynn, and A. Keane, "Optimal charging of electric vehicles in low-voltage distribution systems," *IEEE Transactions on Power Systems*, vol. 27, pp. 268-279, 2012.
- [64] N. Chen, C. W. Tan, and T. Q. S. Quek, "Electric vehicle charging in smart grid: optimality and valley-filling algorithms," *IEEE Journal of Selected Topics in Signal Processing*, vol. 8, pp. 1073-1083, 2014.
- [65] Z. Ma, D. S. Callaway, and I. A. Hiskens, "Decentralized charging control of large populations of plug-in electric vehicles," *IEEE Transactions on Control Systems Technology*, vol. 21, pp. 67-78, 2013.
- [66] C.-T. Li, C. Ahn, H. Peng, and J. Sun, "Synergistic control of plug-in vehicle charging and wind power scheduling," *IEEE Transactions on Power Systems*, vol. 28, pp. 1113-1121, 2013.
- [67] Maigha and M. L. Crow, "Cost-constrained dynamic optimal electric vehicle charging," *IEEE Transactions on Sustainable Energy*, vol. 8, pp. 716-724, 2017.

- [68] L. Zhang and Y. Li, "Optimal management for parking-lot electric vehicle charging by two-stage approximate dynamic programming," *IEEE Transantions* on Smart Grid, vol. 8, pp. 1722-1730, 2017.
- [69] L. Yao, W. H. Lim, and T. S. Tsai, "A real-time charging scheme for demand response in electric vehicle parking station," *IEEE Transantions on Smart Grid*, vol. 8, pp. 52-62, 2017.
- [70] J. A. Domínguez-Navarro, R. Dufo-López, J. M. Yusta-Loyo, J. S. Artal-Sevil, and J. L. Bernal-Agustín, "Design of an electric vehicle fast-charging station with integration of renewable energy and storage systems," *Electrical Power and Energy Systems*, vol. 105, pp. 46-58, 2019.
- [71] S. M. B. Sadati, J. Moshtagh, M. Shafie-khah, and J. P. S. Catalão, "Smart distribution system operational scheduling considering electricvehicle parking lot and demand response programs," *Electric Power Systems Research*, vol. 160, pp. 404-418, 2018.
- [72] M. H. K. Tushar, A. W. Zeineddine, and C. Assi, "Demand-side management by regulating charging and discharging of the ev, ess, and utilizing renewable energy," *IEEE Transactions on Industrial Informatics*, vol. 14, pp. 117-126, 2018.
- [73] Q. Yan, B. Zhang, and M. Kezunovic, "Optimized operational cost reduction for an ev charging station integrated with battery energy storage and pv generation " *IEEE Transactions on Smart Grid*, vol. 10, pp. 2096-2106, 2019.
- [74] T. He, J. Zhu, J. Zhang, and L. Zheng, "An optimal charging/discharging strategy for smart electrical car parks," *Chinese Journal of Electrical Engineering*, vol. 4, pp. 28-35, 2018.
- [75] M. Sedighizadeh, A. Mohammadpour, and S. M. M. Alavi, "A daytime optimal stochastic energy management for ev commercial parking lots by using approximate dynamic programming and hybrid big bang big crunch algorithm," *Sustainable Cities and Society*, vol. 45, pp. 486-498, 2019.
- [76] W. Tushar, C. Yuen, S. Huang, D. B. Smith, and H. V. Poor, "Cost minimization of charging stations with photovoltaics: an approach with EV classification," *IEEE Transactions on Intelligent Transportations Systems*, vol. 17, pp. 156-169, 2016.

- [77] Y. Cao, S. Tang, C. Li, P. Zhang, Y. Tan, Z. Zhang, et al., "An optimized EV charging model considering TOU price and SOC curve," *IEEE Transantions on Smart Grid*, vol. 3, pp. 388-393, 2012.
- [78] H. Liu, Z. Hu, Y. Song, and J. Lin, "Decentralized vehicle-to-grid control for primary frequency regulation considering charging demands," *IEEE Transactions* on Power Systems, vol. 28, pp. 3480-3489, 2013.
- [79] T. Masuta and A. Yokoyama, "Supplementary load frequency control by use of a number of both electric vehicles and heat pump water heaters," *IEEE Transantions on Smart Grid*, vol. 3, pp. 1253-1262, 2012.
- [80] L. Jian, Y. Zheng, X. Xiao, and C. C. Chan, "Optimal scheduling for vehicle-togrid operation with stochastic connection of plug-in electric vehicles to smart grid," *Applied Energy*, vol. 146, pp. 150-161, 2015.
- [81] L. Drude, L. C. P. Junior, and R. Rüther, "Photovoltaics (PV) and electric vehicle-to-grid (V2G) strategies for peak demand reduction in urban regions in Brazil in a smart grid environment," *Renewable and Sustainable Energy Reviews*, vol. 68, pp. 443-451, 2014.
- [82] A. Rabiee, M. Sadeghi, J. Aghaeic, and A. Heidari, "Optimal operation of microgrids through simultaneous scheduling of electrical vehicles and responsive loads considering wind and PV units uncertainties," *Renewable and Sustainable Energy Reviews*, vol. 57, pp. 721-739, 2016.
- [83] M. A. Ortega-Vazquez, "Optimal scheduling of electric vehicle charging and vehicle-to-grid services at household level including battery degradation and price uncertainty," *IET Generation, Transmission & Distribution,* vol. 8, pp. 1007-1016, 2014.
- [84] O. Erdinc, N. G. Paterakis, T. D. P. Mendes, A. G. Bakirtzis, and J. P. S. Catalão, "Smart household operation considering bi-directional ev and ess utilization by real-time pricing-based dr," *IEEE Transantions on Smart Grid*, vol. 6, pp. 1281-1291, 2015.
- [85] H. Farzin, M. Fotuhi-Firuzabad, and M. Moeini-Aghtaie, "A practical scheme to involve degradation cost of lithium-ion batteries in vehicle-to-grid applications," *IEEE Transactions on Sustainable Energy*, vol. 7, pp. 1730-1738, 2016.

- [86] AEO. (2020, 21 Jan). Annual energy report. Available: https://www.eia.gov/
- [87] B. Viswanathan, *Energy sources: fundamentals of chemical conversion processes and applications*. USA: Elsevier, 2016.
- [88] H. M. Abd-ur-Rehman and F. A. Al-Sulaiman, "Optimum selection of solar water heating (SWH) systems based on their comparative techno-economic feasibility study for the domestic sector of Saudi Arabia," *Renewable and Sustainable Energy Reviews*, vol. 62, pp. 336-349, 2016.
- [89] T. Giglio and R. Lamberts, "Savings related to solar water heating system: a case study of low-income families in brazil," *Energy and Buildings*, vol. 130, pp. 434-442, 2016.
- [90] E. C. Joubert, S. Hess, and J. L. V. Niekerk, "Large-scale solar water heating in south africa: status, barriers and recommendations," *Renewable Energy*, vol. 97, pp. 809-822, 2016.
- [91] M. H. Rashid, *Electric renewable energy systems*: Elsevier, 2016.
- [92] T. Letcher, *Future energy: improved, sustainable and clean options for our planet*: Elsevier, 2014.
- [93] S. A. Kalogirou, Solar energy engineering: processes and systems: Elsevier, 2014.
- [94] H. Benli, "Potential application of solar water heaters for hot water production in Turkey," *Renewable and Sustainable Energy Reviews*, vol. 54, pp. 99-109, 2016.
- [95] R. Sellami, N. K. Merzouk, M. Amirat, R. Chekrouni, N. Ouhib, and A. Hadji,
 "Market potential and development prospects of the solar water heater field in algeria," *Renewable and Sustainable Energy Reviews*, vol. 65, pp. 617-625, 2016.
- [96] C. Curry, J. A. Cherni, and M. Mapako, "The potential and reality of the solar water heater programme in south african townships: lessons from the city of tshwane," vol. 106, pp. 75-84, 2017.
- [97] A. Mostafaeipour, M. Zarezade, H. Goudarzi, M. Rezaei-Shouroki, and M. Qolipour, "Investigating the factors on using the solar water heaters for dry arid regions: a case study," *Renewable and Sustainable Energy Reviews*, vol. 78, pp. 157-166, 2017.

- [98] B. Batidzirai, E. H. Lysen, S. v. Egmond, and W. G. J. H. M. v. Sark, "Potential for solar water heating in Zimbabwe," *Renewable and Sustainable Energy Reviews*, vol. 13, pp. 568-574, 2009.
- [99] V. M. T. Bessa and R. T. A. Prado, "Reduction of carbon dioxide emissions by solar water heating systems and passive technologies in social housing," *Energy Policy*, vol. 83, pp. 138-150, 2015.
- Y. Yamaguchi, K. Akai, J. Shen, N. Fujimura, Y. shimoda, and T. Saijo,
 "Prediction of photovoltaic and solar water heater diffusion and evaluation of promotion policies on the basis of consumers' choices," *Applied Energy*, vol. 102, pp. 1148-1159, 2012.
- [101] F. Urban, S. Geall, and Y. Wang, "Solar PV and solar water heaters in china: different pathways to low carbon energy," *Renewable and Sustainable Energy Reviews*, vol. 64, pp. 531-542, 2016.
- [102] H. Wei, J. Liu, and B. Yang, "Cost-benefit comparison between domestic solar water heater (DSHW) and building integrated photovoltaic (BIPV) systems for households in urban China," *Applied Energy*, vol. 126, pp. 47-55, 2014.
- [103] O. L. Jing, M. J. K. Bashir, and J.-J. Kao, "Solar radiation based benefit and cost evaluation for solar water heater expansion in malaysia," *Renewable and Sustainable Energy Reviews*, vol. 48, pp. 328-335, 2015.
- [104] W. M. Lin, K. C. Chang, and K. M. Chung, "Payback period for residential solar water heaters in Taiwan," *Renewable and Sustainable Energy Reviews*, vol. 41, pp. 901-906, 2014.
- [105] O. Ibrahim, F. Fardoun, R. Younes, and H. Louahlia-Gualous, "Optimal management proposal for hybrid water heating system," *Energy and Buildings*, vol. 75, pp. 342-357, 2014.
- [106] V. Kapsalis and L. Hadellis, "Optimal operation scheduling of electric water heaters under dynamic pricing," *Sustainable Cities and Society*, vol. 31, pp. 109-121, 2017.

- [107] P. Kepplinger, G. Huber, and J. Petrasch, "Field testing of demand side management via autonomous optimal control of a domestic hot water heate," *Energy and Buildings*, vol. 127, pp. 730-735, 2016.
- [108] "Measurement of domestic hot water consumption in dwellings," Energy saving trust, UK2008.
- [109] (2017, 17 Jan). Photovoltaic geographical information system. Available: <u>http://re.jrc.ec.europa.eu/pvgis/apps4/pvest.php</u>
- [110] T. Ericson, "Direct load control of residential water heaters," *Energy Policy*, vol. 37, pp. 3502-3512, 2009.
- [111] A. S. Vieira, R. A. Stewart, R. Lamberts, and C. D. Beal, "Residential solar water heaters in brisbane, australia: key performance parameters and indicators," *Renewable Energy*, vol. 116, pp. 120-132, 2018.
- [112] C. Yan, S. Wang, Z. Ma, and W. Shi, "A simplified method for optimal design of solar water heating systems based on life-cycle energy analysis," *Renewable Energy*, vol. 74, pp. 271-278, 2015.
- [113] Tesla. (2018, 11 Jun). Powerwall. Available: https://www.tesla.com/sites/default/files/pdfs/powerwall/Powerwall%202_A
 <u>C_Datasheet_en_northamerica.pdf</u>
- [114] A. Hoke, A. Brissette, K. Smith, A. Pratt, and D. Maksimovic, "Accounting for lithium-ion battery degradation in electric vehicle charging optimization," *IEEE Journal of Emerging and Selected Topics in Power Electronics*, vol. 2, pp. 691-700, 2014.
- [115] A. Hoke, A. Brissett, K. Smith, A. Pratt, and D. Maksimovic, "Electric vehicle charge optimization including effects of lithium-ion battery degradation," presented at the IEEE Vehicle Power and Propulsion Conference Chicago, USA, 2011.
- [116] Y. Zhang, C. Zhang, and X. Zhang, "State-of-charge estimation of the lithiumion battery system with time-varying parameter for hybrid electric vehicles," *IET Control Theory & Applications*, vol. 8, pp. 160-167, February 2014.

- [117] F. Martela, S. Kelouwanib, Y. Dubéb, and K. Agbossou, "Optimal economybased battery degradation management dynamics for fuel-cell plug-in hybrid electric vehicles," *Journal of Power Sources*, vol. 274, pp. 367-381, 2015.
- [118] ofgem. (2018, 1 Jan). Feed-in-tariff (FIT) rates. Available: https://www.ofgem.gov.uk/environmental-programmes/fit/fit-tariff-rates
- [119] A. Chan, J. G. Moreno, and M. Hughes, "Further analysis of data from the household electricity study: electricity price signals and demand response," UK2014.
- [120] A. smith. (2014, 8 Dec). New nissan leaf battery to cost £,4,920 Available: https://www.autocar.co.uk/car-news/industry/new-nissan-leaf-battery-cost-4920
- [121] L. Igualada, C. Corchero, M. Cruz-Zambrano, and F.-J. Heredia, "Optimal energy management for a residential microgrid including a vehicle-to-grid system," *IEEE Transantions on Smart Grid*, vol. 5, pp. 2163-2172, 2014.
- [122] M. Ozgoren, M. H. Aksoy, C. Bakir, and S. Dogan, "Experimental performance investigation of photovoltaic/thermal (PV-T) system," presented at the EPJ Web of Conferences, 2013.
- [123] M. Alobaid, B. Hughes, D. O, J. Calautit, and A. Heyes, "Improving thermal and electrical efficiency in photovoltaic thermal systems for sustainable cooling system integration," *Journal of Sustainable development of energy, water and environment* systems, vol. 6, pp. 305-322, 2018.
- [124] D. C. Agbidi, O. O. Bamisile, and S. Abbasoglu, "Performance analysis and comparison of photovoltaic, solar water heating and photovoltaic thermal systems," presented at the 2016 HONET-ICT, 2016.
- [125] S. A. Kalogirou, Solar energy engineering: processes and systems. UK: Elsevier, 2014.
- [126] A. Sayigh, Renewable energy in the service of mankind vol II. UK: Springer, 2014.
- [127] J. G. Symons, "Calculation of the transmittance-absorptance product for flatplate collectors with convection suppression devices," *Solar Energy*, vol. 33, pp. 637-640, 1984.

- [128] S. Furbo, "Hot water tanks for solar heating systems," Technical University of Denmark, Denmark2004.
- [129] (2015, 01 Feb). Solar energy calculator sizing guide. Available: https://www.pvfitcalculator.energysavingtrust.org.uk/Documents/150224_Sola rEnergy_Calculator_Sizing_Guide_v1.pdf
- [130] J. Hulme, A. Beaumont, and C. Summers., "Mean household temperatures," Department of Energy and Climate Change, UK, 2013.
- [131] J.-P. Zimmermann, M. Evans, J. Griggs, N. King, L. Harding, P. Roberts, *et al.*,
 "Housedhold Electricity Survey: A study of domestic electrical product usage," 2012.
- [132] R. Pike, Corporate finance and investment: decisions and strategies. UK: Pearson Education UK, 2006.
- [133] D. Tanner. (2018, 07 Aug). Payback period & accounting rate of return. Available: http://www.unf.edu/~dtanner/dtch/dt_ch18.htm
- [134] I. Jan. (2018, 11 Apr). Discounted payback period. Available: https://accountingexplained.com/managerial/capital-budgeting/discountedpayback-period
- [135] J. B. Maverick. (2019, 18 Feb). What are some of the limitations and drawbacks of using a payback period for analysis? Available: https://www.investopedia.com/ask/answers/062915/what-are-somelimitations-and-drawbacks-using-payback-period-analysis.asp
- [136] W. Kenton. (2019, 25 Jun). Net present value NPV. Available: https://www.investopedia.com/terms/n/npv.asp
- [137] J.-P. Zimmermann, M. Evans, J. Griggs, N. King, L. Harding, and P. Roberts, "Housedhold electricity survey: a study of domestic electrical product usage," Intertek Ltd, UK, 2012.
- [138] J. Alcock. (2018, 23 Mar). The cost of a solar PV system. Available: https://www.thegreenage.co.uk/tech/the-cost-of-a-solar-pv-system/

- [139] (2018, 14 Feb). Solar panel warranties. Available: https://www.renewableenergyhub.co.uk/solar-panels/solar-panel-warrantyinsurance-maintenance.html
- [140] (2014, 01 Aug). What is the installation cost for solar panels? Available: https://www.greenmatch.co.uk/blog/2014/08/what-is-the-installation-costfor-solar-panels
- [141] (2018, 02 Sep). How much does it cost to install a home automation system? Available: https://www.homeadvisor.com/cost/electrical/install-or-repair-a-homeautomation-system/
- [142] (2019, 01 Jun). How much do electric vehicle charging stations cost to install at home? Available: https://www.homeadvisor.com/cost/garages/install-an-electricvehicle-charging-station/
- [143] (2019, 16 Jun). United Kingdom inflation rate. Available: https://tradingeconomics.com/united-kingdom/inflation-cpi
- [144] (2018, 6 Jul). Sizing a new water heater. Available: https://www.energy.gov/energysaver/water-heating/sizing-new-water-heater
- [145] (2018, 01 Jan). Solar water heating. Available: <u>http://www.energysavingtrust.org.uk/renewable-energy/heat/solar-water-heating</u>
- [146] (2018, 1 Jan). Solar water heater 2018 product list. Available: https://www.made-inchina.com/products-search/hot-china-products/Solar Water Heater.html
- [147] (2014, Aug 20). Solar PVT- hybrid solar thermal/PV panels. Available: https://www.thegreenage.co.uk/solar-pvt-hybrid-panels/
- [148] (2018, 23 Apr). Solar water heating cost. Available: https://www.solarguide.co.uk/solar-water-heating-cost